Gunuthwpugnponipnil

Jwjjulwl Stumpmd

Juwjjuwluwl <wupwpbpuwwinpjul Lwunnily Stunipjnil

Uhwswith Gnjtph Lwupupbpuljul Cwupddwl StumpniG

U

Onptpn ‘Lwqupyu

Juyy ‘Luqupjud



100 Swpjw <wjwwwpGGmpmniGp Shunnpjuli Uk Udwpuytg:
QGhunipjul Uty {uyyuywl <tnuihnfunipnip Ujujuo E:

2007p.

Utiggh” <wjjuulG Qhunnmpjul dbpwolnbnp

ISBN 978-1-4675-6080-1
Qujuiwl dbpwolniln {puwmwpulsnipnil
http://www.armeniantheory.com




Gunuthwpugnponipnil

Jwjjuwwl Stunmpnil

Juwjjuluwl <upwpbpwwinpjul Lwunnily Stunipjnil

Uhwswih Gnjtph Lwupwpbpuljuwl Cwupdiwl StunpniG

( Uquwun Cwpdnd )

U

[nptipn - ‘Lwqupyu
Jwjly ‘Luqupyud

Lyhpynud | Utip Cnighp UquuwgpdwG 20 UdjuyhG

QtYwmbdptp - 2012p.
Uphywa



© - Quwjyuyul {wpwpbpwyulnipjul {wwunnty Stunipyni - ©

Armenian Theory Of Special Relativity

( One Dimensional Free Movement)

Robert  Nazaryan
Haik Nazaryan

Abstract

By using the principle of relativity (first postulate), together with new defined nature of the universal speed (our
second postulate) and homogeneity of time-space (our third postulate), we derive the most general transformation
equation of relativity in one dimensional space. According to our new second postulate, the universal (not limited)
speed C in Armenian Theory of Special Relativity is not the actual speed of light but it is the speed of time which is the
same in all inertial systems. Our third postulate: the homogeneity of time-space is necessary to furnish linear
transformation equations. We also state that there is no need to postulate the isotropy of space. Our article-book is
the accumulation of all efforts from physicists to fix the Lorentz transformation equations and build correct and more
general transformation equations of relativity which obey the rules of logic and fundamental group laws, without
internal philosophical and physical inconsistencies.

100 Years Of Inquisition In Physics Is Now Over.
Armenian Revolution In Science Has Began!
2007
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‘Lwhuwpwl

Gpl nqnip fupuin guGynpniG nGhp dhnunnpbing pls np dbiha,
www S dhnunpbp dhq, wyy dhnugnulp Jupnugbp dupbdunnhljuhi:
Utilip Gpw funulwlGhpl Glp dfuuG:

«Uhwgwth Gnjtiph <wpwpbpuyub Swpddwl Stunipynil - Uquun Cwpdnud» hnnpuop hwlnhuwlnd £ dbp hhdGupunp
«Qujuiul Stumpjnii» wptuwwmnipjuwl dhw) dty tipwpwdhln: Uju tGpwpwdhlp wnwGdbGuglibing hhiGulwh
wfuwwmnnipjnilhg L yepwfuipwqptnyg npytiv wnwGdhG hGpGnipnyyG hnpjuo, dhbp Gyppnid tip wyl dtp Cniphh
wquuuwgpiwl 20 wdjuyhb:

Uju hnnjwond, nputu Gnp hinwihnfuwlw6 dnntignid, dklp Ghipyujwglnid tip dhwswth Shghuyub mwupwonmpjub
dto hwpwptpwlwl pwupdiwb dLuwhnfumpjwl hwjwuwpnuiGtph wpnwodw( {wjjuyul nwppbipuyp: {Lwjjuwlud
hwpwptpuyuwlmpjwl hwnniy mbunipjul Jupnigdwl hwdwp dtlp nhuwdupyly Glp dhw)G wikGuplnhwlngm
npwiwpwliwlul dtnwonnnipjuip L dwpbdwmhljuwl hwuljugnnmpyniGlibpny, wnwlg vwhiwGuwthwliw:

Uju hnnjwonid dklp thnpdb) tlp hwiwfuiply L ninnnpnbp ponp wyl ghnGuwiuGlbph 9wbptpp b juywagni) G
wnryntGpGhpp, npnGp tnwn hwpynip mwph, nwpptp SwGwwywnphGbpny, thnpéby GG pnputhty vhq qupunwnpjuo Yhnd
ghunwlwl wfuwphwhwjwgpp:[11,{2], [3],[4], [6]

Uh Juplnp hwGquiwGp Lo’ {uyjuyu Stunipjul wpwhbunny pwpdytine hwiwnp wihpwdbyu £ np dkGp thnyhG
pnpwthtilip dtip ghnwygnipyniln futinnn quuuwwwhtyp b nGkGwlp pupnjuyjuiwihl htnbywy tptp hwnynipymGGtpp:
Utlip wjwpunwynp GGp (hGbp Upp, wwpuwynp GGp (habp UqlGhy U ytpowuybu wihpuwdbyu b np dklp (hGhlp uaytno:

Uju hnnpJwomd dtlip wjlpwl hwlquuiwlnptb tlp pwpwunpt {wjjuywl hwpwptpwlwlnipjwl hwunntl mbunipjuwl
(inp qunuthwplbpp L dwlpwdiwul wpnwot) pninp pwlGwdlbpn, np wjl wytih Qwn quuwghpp t pwl pb ghnwyw
hnpjwo: Utilip guGlwugh blp wnwybjugnijlu nympuglt puwGwdltinh wpnwonuip, npytiugh pGptipgnnp hp
npwnpnipjnilp wytih 2w pltinh hhiGwlw6 qunuthwpltph L Gnp dGnnbgnudGhph Yypw:

Ujumntin nnip Yhwlnhwbp qupiwlwhpw) Gnp qunuthwpGtiph bW hwnjuwwbu wyGwhuh sGwpfuwphhy pwGwdlbph, np
Upluwphp nin sh wmbubp: GpuwGh” dbp wsptipnhG np nnip wnwehGG tp pdpnpfulbine wju YEGwpwn nyup: Oquuugnpdtp dtp
nn9 tplwlwympjniGp, npytugh wuwwltpuglbp pt h°Gs Gnp qunuthwnplph b gntghy pwGwdlbtph nmp Yhwlnhwbp, tpp
UtiGp hpwwwpwytlp dtp «Gnwswth Gnjtpp {wjjuyul Lwpwpbpuywinipjul <wuwnny Stunipynily» hnpjwon:

Utp hnpnnpG £ pGptipgnnGphG, npwbugh nmp sypyGep Guiunpy ShqhynulGbph ufuwip b shnpdbp hwwshy Junnighy
wphtunmwwl pwlwdlbp tnwswth mwpwontpjul hwdwp, oquugnpotiny dhwywth mwpwonipjwl hwiwp dbp wpnmwowd
pwlwdlbtipp: Spwdwpwlnipjul optilipp wynubu sh wfuwwmnid: Nupquuybu wipnnenipjudp jnipugptp wju hnpyuop L
uwuwubp dtp hwenpn hpwwwpwyndGephG: bul wihwdiptp pptpgnnGtph hwdwp (hwytwo 2)-nud, hwikGw) nhwu,
utilp wpwiwnnt Gap puwjwlwl pwwn L wpdtpwynp pwlwdltp dbp hwenpy' «wjjujul <wpwpbpuywinipjwt
UtipwGhYwjh Stunipjnil» hnnpjwdhg:

wjjuwywl dhwithnfunipjul hwywuwnpniGhph k9 Gnp Ghpintogwo qnpowlhglbinh hwiwp «S L «g»
wnwnwiwdltph pGunpnipynilp yunwhwlwinipjul wpynibp sk, wy wyl yuiuwinwoywd pwyp b Opnghtinb {ugulub
wmbumpjwl vty S gnpowlhgp pGnipwgnnid £ dudwGuwy-nwpwonipjub GipphG ninnnpnywonipymbn (Sp/n), huy ¢
qnpowlhgp nu GnijGuytiu dwdwlwyh b nwpwompjul pypuswinipnilp pGnipwqpnn vkY wy] dkonipymGa £ (metric):

dbpnbjw) S b g qnpowlhgltipny plnipwgpynn nmwpwonipjnilp dklp wiguind tlp <wjjulwl Swpwonipjnil:

Uju hnnpjwop niyugpybinig htun, dklp hnyu niGhGp, np <wjwunwbh whunipjwl hnquGwynpnipjwb pGnphhy
hGwpwynp YhGh Lwjwunwlnd hpuunwpuybp «Kwjjuuwl StunipniG» wpfuwmnipynilp wipnnonipjwdp, h thwnu dtp
UpnpphGph 8tinh U UpnpphGtph {wyptiGhp {wjwuwnwh: Yw YihGh dbp wikGwwgptighy wwwnwubuwlp {wjng
ginwuwywnpyniGGtph wwwyhpwwniGtiphG, opwqpuynpnnlbphl, hpwgnponnGnhG b wiwmwpptp UpfuwphhG:

Gupnn k Gwl hwpg wpwowlwy pb hGyn®t GGp dkGp dbp Gnp uvnwgwd hwpwpbpuwinpjul hwnny nbunipjub
dLwthnfunmpjw hwjwuwpndGbpp Yngma - «wyuyul uuithnunipjwl {wjwuwpnudGtpy: NMwunwufuwp pwwn wyupg k:
Uyu ghnnwul wptuwwmmpymGp qpyty £ <wybptt, juumwpdb) £ <w) ghnbGuywbh Yynndhg 1968 puywbhg ujuwd, npp
wnwppbp pnpihemuiGhpny wb) E dnn 40 wiwph L nhn pwpniGuyynd B Uyu hbnwgnunipyniGp gnon <wjujul duph
wnquuppl £ L npp pndGuynpyty £ UpnpphGeph Uppuqut <wjpiGhpnd’ <wjwunwlng: <Gunlwpwn dklp 1phy
pwpnjulwl hpwymGp niGhlp wju Gnp wpnwdywd dlwhniunipjwl hwywuwpnuiGhpp Ynskne’ hwpwpbpuywinggjw G
hwunnty mbunpyjwl <wjjulyu Quuihniumpjul {wjwuwpndGhp, huy wbunpyniGp’ Lwjjuyuwl {wpwpbpuuinpjut
{wunmy StunipjniG:

Ubkggt’ UpnpphGbph {wyptGhp {wjwuwmwlp
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1 - Uhw;swih Gnjtiph Lwpwptpwlul Cwupdiwb Lwpugpniin

Qwuwlub dtpwlhiuwyhg hwymbh t np dhwswth Gnjtiph hwpwpbpuw JupdiwG Gwihibjwb ninhn L hwljunwpa
dLwthnfumpjul hwjwuwpnidGhpp nGhlG htnlywy wmbupp.

Mnhn dLlwthnfumpyniGGhp {wjunupd dbwthnfunipymGGtp

=t . t=t 1-u
X =x-ut X=X -Vt =x"+w

(1-U)-ny mpywo Gwihtjub dLuwthnfumpjwl hwjwuwnpnuiGtiphg htmlnd £ np dwdwGuyp mGh pugupdwy plnygp L
Juujwo st ng hGhpghw hwiwwpgbph hpwp Gumdwdp niGiguo hwpwpbpuwl wpugnipyniGhg b ny b mwpwowywb
wnwigpwpytinhg: Ujuhlpl dwiwlwlyp b mwpwonipynilp hpwphg wiwiu pnyph Shghuywb tplnyypGtin Ga:

Puwjg Lnptlgh hwpwpbpwywlnpjuwl mbunipynilp pwlntg dwdwlwyh pnyph dwupl dtp nGhgwo wju jupopuguod
wuwwuntpugnuilbpp L wywgnighg, np dwiwlwlp L mwpwonipynilp ngy pt hpwphg wiywfu, mwpptp pnyph $hghuywd
tplnypGtip &6, wy ngpubp Jwnuuwywo 6 hpwp htn L hwighuwlnd GG dEY $hghjwub tplnyph mwpptp Ynndbpn:
tnlwpwp dwdwGuwyn sniGh pugupdwy pnyp L dwiwlwuwunwpwonipjul dlwhnfumpjul hwjwuwpniGhph dbe
dwiwlwlyp yuwugwo wtwp k (hGh Gl mwpwowyul wnwigpwpyhg, hGyutiu Gwl wyl yuhugwo wtwp E 1hGh tpynt
hGtpghw hwdwwpqbtiph hwpwpbtpwwl wpwgnipyniGhg:

Uju hnnpJwomd dkbp YthnpdtGp dh pwbh pwj wnwe wlglt) LnpkGgh hwpwpbpuwywinipjuwl mtunipyniGhg L
Jupuwotlp hwpwpbpwwinpjul hwnnty nbungpjul <wjjuul dlwhnunpjul hwjwuwpnudGipp’ wikGwa)qphun
hwjwuwnpmuibtpp, thwswth phghyujul mwpwonipjwl hwiwp, nEjujwupybnyg dhw)l mpuiwpwinipjwl optlpGtipny:

Jujjulywl hwpwpbpwwlnmpjuwl hwnmy mtunipjul dlwhnfumpjul witGwsgphn hwjwuwpnuiGhpp wpunwotng
hwiwp dtlp oquybtynt tlp hwpwptpwlwl wupddwb vkp htnbywy Gptip hhdGunpnyypGtphg.

1. Plmpjul Gplnyplbpn L phqhljugh opblplbpn popnp hGhpghuy hudwwpgbpmd ipwn hwdwpdbp Ga,
wyuhlpl wyn bplnyplbpn L opblplhpn Ghwpmugnymd &G dhllng 0 dwpbdwmpljulwl pniGhghwlbpnny:

2. Lnynp hGhpghuy hudwlwpgbpnid, wiywpd njbph hwdwp, dwdwbuln pupdynd E
dhlling G inhbqbpulul huumuninn 6 wpwgnipywdp, npp L Glp [ wawlblp C unwunny.:

3. Pmnp plhpghuy hwdwlwpgbpmd dwdwlwln L vnupuompnp hwidwubn 56 (hunnml mbunipynG):

Jujjulywl hwpwptpwwimpjul ntumpjub (1 - 2)-ny mpJwo hhdGunpnypltpp pwwn 66 mwppipymd wjwlnuywl
LoptGgjul hwpwpbpwwlnipjul wbkunipjub hhiGunpnypltphg: {wjjulul {wpwptpuulnpjul Stumpjul wnwohl
hhdGunnpniypp hwdwpjw hwdpGyGnd £ LoptiGgh hwpwpbpulwinpjul mbunipjul wnwohG hhdGunpniyph htinn, puyg dtp
tinypnpn hhdGunpniypp pnnpnypG Gnp dEYGwpwlmpiniG & wnwhu pb hGs hghuljub hiwuwn niGh mhhqhpuyuG €
wnpwqnpniln:

b mwpptpnipynil Loptigh hwpwpbpuwlwlnipjuwl mbumpjwd, npp (nyup mwpwodwl tplnygpn b nyup Qupddwb
wnwqnipjniip pwpdpwgpty £ Yninph wunhdwGh[2],[4], dklp hwjnwpwpnd GGp, np wyn mhtqbpuwl hwumwwnntG
wpuwgnipjniGp ng vh Juuy gniGh inyuh mwpwodwl wpuwgnipjul htim, wj wjl qupquutiv dudwlwyh pupddwl
wpwqmpintGG £ Shtqtippnud b npp niGh GniyG wpdbpp pninp hGipghw) hwdwlwpgbpnud: buy djnwe dwpdhGGipp yupnn &G
2wndyby wyn mhbgpwwl wpuwgmipinilhg hGywybu nuinun GnyGwybu L wpwg, juujwo dwiwlwjunwpuwontpjwl
tpypwswthwlywl yunnigwophg: Rwgh npulhg dklp wjn mhhqbpuyul hwunwwnni wpwgnipynilp Ynynid GGp Gul Onpp
L Ut wpuwphGpp hpwp htin juwnn tqpuighG wpugnipyniG: bul dwdwlGuwiumwpuwowjhG showywjnh hwiwubnnipjuG
qunuwthwnp dtlp plnniGy GGp npwbtiu tppnpn hhiGwnpniyp hwpwptpwwinpjwl hwwnnty mbunipjwl junnigiwl hwdwn,
nph wlhpwdb)mnipyniGp Yytpwliw hwpwpbpwlywlinpjwl pnphwlngp mbtunipjul untnotwl dwiwlwly:

CGnqond 1-1 - Unp (1 - R)-nyf wpywo hhdGunpnipGiph 0k shw nwpwonipjwl hwdwnignnppiuonpul
wlhpwdbymmpym b dwupl npll wipmd[1),[3]: Ublp welwfuly blp wil, npnyhbnl hGbpghwy hwdwlwnpgbapp,
wilbGwplnhwlngn nhupmid, uwpng 66 mGhGuy GepphlG qbmuuquulh nipgnipiniG L npp Jupng b punn Quplop phbp
Qununwply hwpwpbpulpul pupddwl dlauinfunipjul hwjuwumwpndGaph dhe: Uy thunnnh wnljuympniGp juiyjwgngGu
gnigununid b bnwswh vnwpuonipjul dhg.
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Pwgh (1-£)-ny npjwod tptp hhdGunpnyypltiphg, hwinG yuwpgnipjwl, dkGp pGnnilnid Glp Gul np pninp hGipghwy
hwdwluwnqbtipp wtwp £ pudupwptl uyqpuyub yhdwlh htnbyw) yuydwGh:

Gpp t=t =t"=.=0
Uww poinp hGbpghwy hwdwiwpgbph ulqplwbmbpp hwdplhlnos BG ppuwp hbm mwpwonipywld 0 Ghunnid:

1-Q

Ujdd oquybtyny (1 - £)-nd mpywd tiptp hhiGunpnyypGtiphg b (1 - G-)-nd mpdwo uyqpGuyub Jhdwlyh yuyiwbhg
wpunwdtilp <ujjuyul hwpwpbpwuwlinpjul hwnny mbtunipjul wikGuplnhwlnp dlwthnunipjwl hwjwuwpnidGhpp:

Spw hwiwp EGpwnpllp np niGhGp bpyne yudwyuywi K L K hGipghwy hwdwlwpgtp, npntn K hltpghwg
hwdwyupgp K hGpghw) hwdwywnpgh ngpujuG X wnwlgph mnnnipjudp pwupdynd £V hwunmwnnt G wpugnipjudp, hul
K hGtpghwy hwdwyuwpgp K' hltpghw; hwdwlwpgh Gundwidp pupdymd £V hwunwnnG wpugnipjudp:  Opuntn,
witGwplnhwin nhypnud, hwiwdw)G (pnqonid 1-1)-h, mwpwompnilp hwiwmnnnpnjwod sk L htmlwpwp V'
hwjwnwnpéd hwpwpbpwiwl wpugnipjuwl pugwpdwl dhonipynip Jupnn £ hwdwuwp sthGhp V. mnhn hwpwpbpuwG
wpwqgnpjwl pwgupdwy dkonipjubp: Uyuhlpl witklGwplnhwinp nhypnd dhpw E htimbgwy winnudp.

M=+ M 1-%

Ujuwhuny tpynt judwjwlub K' L K hGtpghw hwiwlwpgtinh wnwGgpwpytinh dholk ninhn L hwwnupéa
dLwthnfumpyul hwjuwuwpnuiGhpp, wikGupnhwlnp ghiypnd YnGhGwl htnlgw) juojuonpniGp.

Mnhn dLuwthnfumpyniGGtp {wjununpd dbwthnfunipymGGtp
t' = t'(t,x,V) N t = t(t',x,v) 1-6
X' = X(t,x,V) X = X(t',x,v")

LGnqomid 1-2 - Eph dllip oqunjllp (1 - R)-h bppnpy hpdGwnpngphg, hwidwduyG npp hwupwpbpulwlnipul hunnny
whumpyul vy ponp hlGbpghwy hwdwlupgbpnnf dwdwluwlp L vnumuonipinGp hwdwobn G0, wupw hGupuninp E
wwuignigly, np (1 - 6)-ny mpjuwo hwpupbmulpud pwupddw 6 wdbGuplphwlnp nighy L hwlwnupd dLunhnfumpul
hwjwuwpmdGhpp, pun dwdwlwyh b nwpwompywl, nlbG Qowhl qwjujwompyma [2],[4],[6]:

‘Lwhupwl dhwywth gnjtiph dudwlwuunwpwowih dluwthnfumpjuwl hwjwuwpniGiph wpnwodw( wiglbn
GpYujwugbtlp hGipghw hwiwywnpgbiph npuyuiul mbuwlylbpp: Gpyyuthwih dudwGwiunwpuonipjul dke qnynipjnil
niGtG hGpghw) hwdwuwpgbph tpym funidp® wehy hGtpghuy hwdwlwpgbp U dwhuihy hGepghwy hwiwywpgbip: Uehy
Juu dwfuihly hGipghw hwiwwuwpqbpp dudwGwunwpuowul hwppnipjwl dhe wumwnbtiny tpptip hpwp htn sh6
hwipGyGh: <tnlwpwp ngpup npulwytiu mwppbp hGipghw hwdwywpgbp GG: dbpnhhpjuwg weihy b dwfuihy hGipghwy
hwdwwnqgbtiph nn9 wnwldGwhwnmynipjniGltipp (wywagneyGu h hwym Yqub towswth phghjululb nmwpwonipjub Jud
pwnwywth dudwlwuwnwpuwonipjul dkg: Uhw tplswth dwdwlwjuunwpwonpjub vt hGipghw) hwdwywnpgbiph
wnwlgpGtph nnnyuonipjub pnnp hGuwpwynp mwpptipulyGtpp L npuuyu G mwuppbpnipniGGbpp:

1. Uwwquitm werhly L wlgnupuwdbm dwjuihly hGbpghwy hwdwlwnpgbpn nipgwqoywo b6 mnnpl

t

Uyugunibim

{t—-—-t
X— =X

Ugihly

Jufughy

Uligjuuitin
G-owghp 1 t

(Q-0wqhp 1)-h kg, we Ynnih wigyupuitn dwuthy hGipghwy hwiwywpgp wunting 180°-ny, wjG YhwipiyGh dwpu
ynnuh wywqudtn woihy hGtpghw) hwiwywpgh htim: <twmlwpwp npwlp npuwwbu Gnyl GG:
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2. Uwwquibin dwiuyhly L whgpupwdtm wephly hGhpghwy hwdwlwpgbpp mpguwqoywd b6 umnpl

Unjuguuiitin

{t—--t
X— +X

Jufughl

Ughly

{t——+t
X o— =X

Whgyw it

t

Qowghp 2
(Q-0wqhp 2)-h wy Ynnuh whgjupwitn weihy hGpghw; hwiwywpgp uwmntyng 18°-ny, wjl fhwdipiyGh dwu Ynnih

wywquitin dwhuhy hGipghw hwiwywpgh htm: {<Gmblwpwp gpulp npuyuwybu GnyG GG:
Ujuyhuny, dwdiwlfwluwnmuwpuwonpjub dte, dklp YniGhGwlp npwjuwwbu hpuphg wwpptp b ppwphg wiwfu tpyne
hGtpghwy hwiwywpgbp' wwywqudtum wehy hGtpghw hwiwjwpg L wywquitn dwjuihy hGipghwy hwdwlyuwpg, L npnGp

ypdwwn dhbp YuGJubtlp' wehy L dwluihy hGhpghwy hwiwywngbp, hGswbu Gpywe GG unnpl.
Quifujhly hGlipghwy hwdwlwpg

Uoihy hGtipghwy hwiwlwng

t
Uyuguatitiun Unyuguuibin

Ug hly L Quifughy
X X 0

t— +t
X —e -X

hGswbu tplnd b (Gowghp 3)-hg, we Ynnih dwfuihy hGipghw) hwiwljuwpgp hwinhuwlnd £ dwfu ynndh
wothy hGpghw; hwdwjwnpgh mwpwowlwb hwjtjwjhlG winpunupdnidp:

Qowghp 3

‘Llwwnh mGkGwny dhwywth mwpwonipjul vk npuwljuwwbtu hpuphg wwppbp tpynt hGipghw hwdwwpgbph
qnjnipjwl thwuwp, whhpwdtpwm E np dtilp uvwhdwltlp npuljwi b puguwuwlwl duwthnfunipyniGGtpp:

Uwhdwlnd 1-1
& Dpwlwl dLhunhnfunipiniGGbn

Uyl dhunpnfumpniGGhpp, npnlp wephly hGbpghuy hwdwlpupgn pnglnd &G weihly hGbpghuy hunfwlupg und dwpuhly
NGhpghuy hudwilwpgn ponlnid 66 dwifurhly hGepghuy hwdwipupg, dhlp JulGyubblp gpulpul dLhunpnfunipniGGbp:

1-9

¢  LPwgwuwlul dhunpnfunipniGGbn

1-E

Uyl dlhunpnfumpimGGhpp, npnlp wgphly hGhpghuwy hudwlpupgn nupdinnf 66 dwfuihly hGEpghuy hwdwlwpg Jud dwfuihly
NhGbpghuy hwdwlwpgn nupdGonof 56 wgphly hGbpghuwy hudwlwpg, dalp quljuGblp puguunulul dlhunpnfunpniGGbp:

Clanqond 1-3 - Upwswnpi Qnjbph hwpwpbpuiwl pwpddwl dhunpnfunpul hujuuwpndGiph wpmwodwl
plpwgpmd, dblp dfipn oquuugnpnobynt blp wwwqudtin werhl hibpnghwy hwdwlwnpgbnp, bpk sh wuynid wy pwl: bul htnn
dhwyl, dbp unwgwo dhunhnfumpyul hwjuuwpnidGeph dbe, dtlp Joquuuqnpotilp hwybjwhl wingmunupdnidn (1.8)!
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1.1 - Uhwswth Gnjtiph dwudwGuwljuunwpwowjhl Quuithnfunipjul <wujuwuwnpniGbpp

Luwlh np dklp pnnilnmd Glp np dwdwlwyp L mwpwonipjniGp hpuphg wiywh hghulwb tplnypbtp s6G6, wy
nnulp pwunuuwywo GG hpwp htim b hwnhuwnd &6 nputu WEY pGnyph mwpptp Ynnuitpp, wyw hwdwéw)
(nGngomy 1-2)-h, Shwswih njtph (1 - G)-nd mpfuwo hwpwpbpuuwi pupdiwl witGuplinhwinp mnhn L hwjunupd
dLwthnfunipjul hwjwuwpnuiGipp whwup b (hGEG qowjhG L httmbwpwp npulp yniGhGub htnlyw) mbupp.

Mnhn dLlwthnfumpyniGGtp {wjununpd dbwthnfunipymGGtp
' = Br(Wt+ B2(v)X L t=B1(V)t' + (V)X
X' = y1(VX+ 72 (Wt X = (V)X +y5(V)t!

(1.1- 1)-n4 wpJwo dlwthnfudwl hwjwuwpnidGbph Wk pninp wijuwgq b fuwgny gnpowyhgltpp yupugwo stG ny
duniwGwlhg b ng £ mwpwonpjniGhg: Un gnpowlhglipp jufujué 66 dhwjl hwiwyuwunwupwli V jud vV
hwpwptpuyuwl wpwgmpyniGltphg L htilGg dtp GuumwlG & npnpt) wyn wlihwym qnpowlhgGhpp, hGsybtu Gul npnpt) ninhn
L hwjunupd hwpwptpwwl wpwgnipyniGGtph dhol tnud Juwp: Lwgh npuihg Gotlp Gul, np (1.1- 1)-n npJwod
dLwthnfunipjwl hwjwuwpmiGhph g B1(v), BL(V), y1(v) L y1(V) gqnpowlyhgGhpp swihnquywlnipnil smGkG, B2(v) L
B5(V') qnpowlhgGtipp GG wpwgqnipywl hwjunupd suhnquijuwnipymG, huy y2(v) L y5(V') qnpowyhgGtpp niGLG
wnpwaqnipjul swthnnuywlnipjni:

CGanqomd 1-4 - PhGwlhwi | blpwnply np, hudwdw)l pupddwl hwupwpbpulwinpul bhdGugpngph, (1. 1- 1)-ny
wpywo dhwswh Gnybph hwpupbpulud pwupddwl niphn dLhannfunipjul hwywawpnidGaph popnn
qnpowfhg-pnilighwbbpn L huljwnupd dluaginfunipyul hwjunnupmdGanph popnp hwdwgunmuofuwl gnpowlihg
D bhghwlbpn whnp b pGEG Gnyl pnlhghwbbpn - dhwyl dh nbypnid gpulp qwfujwo whnp F jhGEG Vg
hwpwpbpulwl wpwgnipiniGhg, hul dne pglypmd gpulp wfujwd winp FipGhG V' hwlpunupd hupupbpaulwl
wpuignipinilhg: Puwyg wyu plulpul bGpwngpnipinilp, npp pfumd b hblg pniG hwpupbpuluGnippu G hndGunpngphg, dGip
hwlqudwlnpbl Juupwgnghlp (1.3) pudinud:

(1.1- 1)-nJ wmpqwd qowghG hwywuwpniiGlph hwdwluwpgtph npnhsGpp GoulwytGp div) L d'(v)
wnwnwlywbitpny, npnlp juiuqwd G hwiwywnwunwiwpwp V L Vo L hwjwunupd hwpupbpuywi
wnwaqnipjnilltiphg L npnlGg wpmwhwjmmpniGGtpp YhGea.

d(v) = B1(v)y1(v) - B2(V)ya(v) # O
d'(v') = LV )ri(v) - Bo(V)ra(v') # 0

(1.1- 1)-ny mpjwo minhy dbwnhnfunipjuG hwjuwuwpnuiGtph hwdwluwpgn (notyny pun (t,X) wpwGgpwpytinh, dklp

JunwGuwlp htnlyw) dLuwthnfumpjul hwyuwuwpndGhpp.

_yi(v) o Bav)
= dw LT dw X

— ﬂl(v) I VZ(V) !
X~ Tdw) dw) ¢

(1.1- 3)-p hwdtdwwtiny (1.1- 1)-ny npdwd hwjuwnunpd dLuwthnfumpjwl hwjwuwpniGtph htn, dtlp Jupnn blp
fuwquynp gnpowyhglGtipp wpmwhwjnt] wiiwq gnpowyhgGtpny htmbywy Yhpy.

Ly = Y1(W) Ly - Piv)
ﬂl(v)_W V1(V)—W
L
Il ﬂZ(V) gl _'}/z(V)
ﬁ2(v) - d(V) }/Z(V) - d(V)
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Liwlwybu (1.1- 1)-nd mpjuwé hwjunupd duunhnfunipjul hwjuuwpmdGbiph hwiwlwupgp otny puwn (¢, x)
wnwlgpwpytph, ttilp JunmwGwlp htnlyw] dbwthnfumpjul hwjwuwpnidGhpp.
v T B
de)  d)

B T,
d'(v') d'(v)
(1.1- 5)-p hwitdwwbiny (1.1- 1)-nd mpjwo ninpn dLwthnfunipjuwl hwjwuwpniiGhph htnm, dkGp Jupnn Gap wiuwq
qnpowlhgltpp wpnmwhwjnt] fpuquynp gnpowlhgGtinpny htnmbyw) Yapy.

_7AY) A%
ﬂl(v) - d/(v,) '}/1(V) d/(v,)
L 1.1-6
_BY) )
ﬂZ(V) - d/(v,) '}/Z(V) d/(v,)

bpwp htnn hwdtdwwntiny (1.1-4)-ny L (1.1- 6)-nd npJwo gnpowyhgGtph wpunwhwjnmpyniGGtpp dtap Junwlwlp
htinlyw) wnGympniGGtpp, npnGp ninnuhnptG pfumd GG qowjhG dLwthnfunipjuwl hwwnympyniGGtnhg.

& dv) & d'(V) npmppsph hudwp dklGp GumwGulp htnlyuy pulwl welsnpmiln
dwvd'(v) =1 1.1-7

® p1 L y1 qupowlhglbph dhole inbnh niGh htanljwy wnlsnipniln
BiW)BLY) = yi(V)ra(v) 1.1-8

buy (1.1- 4)-n Jud (1.1- 6)-ny mpywd hwjwuwpndGepp hwdwwpgbph Gpypnpng hwjwuwpnudGhpp pudwlbng
hpwp Ypw dtlp Juunwlwlp dh wpmwhwjmnipynil, npp b dkGp Y wlwlytlp <1 mwnwbywbny, hGyubu gnyyg £ mpjuo
unnple.
b _ B) _, 119
ra(v)  y(v) 7t
(1.1-9)-hg httmlmd t np <1 gqnpowlhgn dh nhypnid whwp t ywhudwo (hGh V ninhn hwpwpbpwiwl wpwgnipyniGhg
huy Wjniu niypntd wy Juiujwd whwp k thGh V' hwjwnupd hwpupbipuul wpugnipymGhg, hGswbu gnyg & wnpjuo
unnple.

pov) _ B) _, )
72(V) ) b 7o) 2, (V) 1.1-10
61 hwiwdw)G (1.1- 9)-nd mpywd wnlympyub, <1(v) L <1(V') qnpowlhg-pniGyghwltpp hppwp hwjwuwnp Ga.
<1(V) = {1(V/) 1.1-11

(1.1-11)-nd mipjwd $nilyghnGwy hwjuwuwpnidp niGh (nodw6 tpynt hGupuwynpnipyniG.

w)  Unwohl hGwpuwynp nionidp
Mi=NM L &n qnyg dniGyghw k 1.1-12

(1.1-12)-ny mpywo wwjdwbh nhypnid puduwpuwpynd £ (1. 1- 11)-nd npdud $niGyghnGuwg hwjwuwpnudp, pwjyg wjl
hwiwuntd & witiGwpGnhwlng dLuwthnfumpjwl hwjwuwpniGtp gunGbn (1 - 9%)-nd npdwo dbp ywhwlohG: {tnlwpwp
(1.1-11)-nd mipdwd $nilyghnbGuwy hwjuuwpdwl wju wnwohlG hGuwpwynp nonwip dklp dkipdnud tlp:

n)  Epipnpn AGwpuninp midnidp
AES! 1.1-13
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UjuhGpl wikGuplnhwlmp dLwthnfunipjul hwjwuwpnuilbp qubtnt (1 - 9%)-ny mpjwo dtp ywhwon puywpupynid
E: Qbwmlwpwp (1.1- 11)-nd wpduwd $niGyghnGuy hwjwuwpniip niGh htnlywy Shwy hGuwpwynp nionuip.

21(V) = Q1(V') = &, = hwuwnunn G 1.1-14

Npuntn <1 hwunwwnmb dtonipyniGp niGh Gyl wpdbpp pninp hGipghw hwdwywpgbpnud: Uyuwhuny (11 - 9)-ny
nnpjwo wnlympynilp, hwiwdw)l (1.1- 14)-h, dtlp Jupnn tlp qpb) himlywy Yhpy.
Bav) _ PHV) _
r2(v)  ya(v)
Luwbhnp (1.1~ 15)-nd wmpjwd wnlsmpjwl dte ¥, qnpowlhgltipp nGLl wpugnipjwl swihnquywuinipnil L

%, = hwununnm b 1.1-15

nuuwjuwl dnnwnpyiwb nhypnd, hwdwdw)l (1 - U)-ny mpywd nmwpwonipjul Gwhibjwl dbwthnfunipyniGGtph npup
nGLG puguwuwyw6 Gwb, huy B2 gnpowyhgGtipp mGhG wpwgmpjuwl hwjuwnupd suhnquyuinipyniG, htnlwpwp <1
hwunwunnm b dtonipyniGp dtlp Juwpnn Glp wpnmwhwjnty mhtqbpuwjuwi € wpwqnpjnilng htmbywy Yhpw.

1= —gc—l2 = hwununnm i 1.1-16

Npuntn g-G6 dudiwlwuwunwpwonipjul tphpuswthwlub junnigquopp pinipuqgnpnn dh Gnp hwumwwnniG dhonipjniG £
L npp, hwdwdwyG (1. 1- 15)-ny npwo wnlsnipjuln, niGh GnyyG wpdtipp pninp hGipghw; hwdwywpgbpnid L uyqpnilGpnpta
Junpnn E 1hGh L ngpuyul b ppguuwul dkompniG:

(1.1-16)-n4 mpywo <1 qnpowygh wpdtipp mtnunpbinyg (1. 1- 15)-ny mpjwo wnGynipjub ko, dklp S2
qnpowyhg-pniGyghwbtpp Yupnn Gp wpnwhwjnby) y, gqnpowyphg-pniGyghwbtpny htnljwy Yhpy.

Ba(v) = - C—]'272(V)
1.1-17

Bo(v) = -9 75(v)

UjGnithtanle B, qnpowljhgGph wpnwhwjnmpmbtpp (1.1- 17)-hg wbnunpting (1. 1- 2)-h ke dhp npnphsGtph
hwiwp Junwlwlp htnlyw] wpmwhwjnnpniGGtpp.
d) = 71(WPIW) + g5 2] # 0
1.1-18
d(v) = AV)IBLV) + 95 [r5(v))* # 0

Liwlwwbtu P2 qnpowlhgltiph wpmwhwjmnipyniGGtpp (1. 1- 17)-hg mbnunpbny (1.1- 1)-h dbe, dhlp dhwswth
Q-njtiph hwpwptpuyuwl pupddwb ninhn L hwjwnupé duwthnfunipyniGGiph hwdwp Junwbwlp htnbywp hwjwuwpnidGepp.

Minhn dLwthnfunipyniGGtip Jwlwnupé duwthnfunipyniGGtp
v = Pt- g-Gyavix ) t= BV~ g 5750 X 1.1-19
X' = y1(V)X+ 72Vt X = 71(V)X +yo(V)t

CGnqomd 1-5 - (1.1- 18)-ny wnpijuwio dhunpnfumpput d(v) L d' (V') npnppstipp, hwdwduyd (1. 1- 7)-A,
vhwdwdwbwl whnp F hG6G uwd gl L qwd B pugquuwlul dbompimGGap: Al jud puguuulul npnpfys
mbbgny dhwhnfunipiniGGbpp dhwswh unupwompyul ko, hwdwdwyl (1 - Q)-ny L (1 - &) -ny inpuwo wwhdwnidGhph,
Uhklp gulp GnijGwbu Juwljw(Glp hudwyuwowafuwGupwn auaulpud dhunpnfunpniGGGpy Quwd qpuguuwlul
dlhunhnfumpymGGtpy: Uyu Gpgm, npuluwbu hpuphg uuuppbp, dhuhnfunipiniG6Gpd Ly niG6G qnynipjul ppungniGp,
npnhlinl gpulghg wdbl Jahp Gwmugpmd b dh npnpwh phqhljwlul Gplngp:

Qpwluwl dLbwhnfunipynGGhp Puguwuwlul dbwhnfunipjniGGtp

dv) >0 W d(v) <0 1.1-20
dv)>0 dv)<0

10 - 86
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1.2 - hGtpghw Lwdiwupgbph UyqpGuytntph Cwupdiwb {tnwgnundp

‘Lwfu GtGp, np wnwlg pGnhwlpnipjub nhd dtnulsbintg, thwywth nwpwonipjul dte K hGtpghw) hwiwlwnpgh
Guwndwdp K hGhpghwy hwdwyupgh ywpddwl V wpwugnipyniGp (mnhn wpugnipyniGp) SkGp Jupnn kp pGunpb wjGubu
nn wjG dhpn mnnyud (hGh X wnwlgph npuijub ninnnipjudp b hbmbwpwp wjl YihGh npuyul dtompyniG:

1.2-1
Ujdd oquytyny (1.1- 19)-ny mpywo dhwswth Gnjtph hwpwpbpuwwb pwpddwl ninhn W hwuwnupd dluthnfunipjwuG
hwwuwpnuiGtphg, gniguptiptiGp $hqhyulwb snintignud b hwpytlGp K' L K hitpghw; hwiwljwpgbph uyqpGultntph
hpwp Gyuundwdp niGbgwo pupdiwl wpwgmpiniGGtpp, npnip wtwp L hwdipGyGt6 htlg Gnyyl hGhipghw) hwdwlwpgbph
hwiwywnmwuhiwl hwpwptpuwl wpwgqnpnilltph htn:

1. K jpbbpghuy hwdwlupgh Ghunndwdp K' Nabpghuy hudwlpupgh ulqplulnh pwupdbwl
hbumwgmnnidp

K' hGtpghwy hwdwyuwpgh O’ ulqplGultnh wpdiwb pGnpnipjub ghwpntd, wyn ulgqpGulnh nwpudwlwl
wnwlgpwpytipp K' b K hGkpghwy hwdwlwpglpnud hwiwywnwuuwGwpwp YneaiGul hbnlgu) wpdbpGhpp.

{XO 1.2-2
X = vt

(1.2-2)-n] wpywd O’ ulqplwltinh mwpwowlwl wnwlgpwpytph wpdtpGhpp whnunptiny (1. 1- 19)-m] wpdud
nwpwowjwl wnwlgpwpyh ninhn dlwhnfumpjwl hwjuwuwpdwl dhy, dhlp junmwlwlp y,(Vv) qnpowlhg-bniliyghwjh
wnpunwhwjnnpjnilp.

v2(V) = —y1(V)v 1.2-3

Ujdi k (1.2- 2)-n] mpywd O’ ulqplultinh mwpwowywl wnwlgpwpytph wpdtpGipp mnunptny (1. 1- 19)-ny
unpjuo dwiwlwyh b mupuwompjul wnwlgpwpytph hwjunwnd dbwhnfunpjul hwjwuwpmibtph vk L wyn
hwjwuwpnuiGlpp pwdwlting hpwp Yypw, dbbp junwlulp V ninhn hwpwpbpouul wpugnipjwl wpnwhwjnnipyniGp.

ve X 72(V) 1.2-4

U p)

2. K Jbbpghuwy hwdwlupgh Ghunndwdp K plhpghwy hwdwlwpgh ulqplullnh pwupddwl
hbumwgmnnidp

K hGtpghw hwdwywpgh O uyqpGulytwh pupddiwl pGupnipjul nhwypnid, wyn ujqpultnp mwpuwowywb
wnwlgpwpytipp K b K’ hGkpghwy hudwlwpghpnud hwiwywnwuuwGwpwp YneaiGul hbnlyu) wpdtpGhpp.

~0
X 1.2-5
X/ — V/t/

(1.2-5)-nd mpJwo O ulyqplGulytimh mwpwowwl wnwlgpwpytpnh wpdtpltipp mbtnunpting (1. 1- 19)-ny mpjwod
nwpwdwul wnwlgpwpyh hwjunupd dLuhnfunipjwl hujuuwpdwé gk, thip Junwbwbp y,(v')
qnpowlhg-pnillyghwjh wpmwhwjmnipjnilp.
75(V') = =72 (Vv 1.2-6
Ujdd 1 (1.2-5)-nf mpywo O ulgqplGuytinph mwpwowlul wnwlgpwpytpnh wpdtpltpp mtnunptinyg (1.1- 19)-ny
upjuwd dutwlwlh L mwpwonipjul wnwlgpwpytinh ninhn dlwthnfunipjuwl hwjwuwpnuiGtiph dke L wyn hwjwuwpniGhpp
pwdwlbtim] hpwp Ypw, sE6p JunmwGwlp V' hwjunupé hwpupbipuwl wpugnpjul wpnwhwjunpjniGp.
v- X o 1) 127

t V)

11-86
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UjGnthtnl (1.2~ 7)-h ke mbnunptiny (1.2- 3)-ny npnpgud y,(v) gnpowlygh wpmwhwjmnipynilp, dkGp funwiwGp
V' hwjwnupdé hwpwptpujwl wpwgnipnilp wpnwhwjunywd V nnhn hwpwpbpujwl wpugmpjudp.

;o _71(\/) -
Vv = _ﬁl(v)v 1.2-8

(1.2- 8)-hg utilip Yunmwbwlp Gul htmljyuwy welmnipyniln.
Y1(VV = —1(v)V 1.2-9
LiwGwutu (1.2- 4)-h dke wtnunpling (1.2- 6)-my npnpqwd y,(v') qnpowlgh wpumwhwjmmpynilp, dklp

Yuunwlwlp V ninhn hwpwptpujwl wpuwgnipniip wpnwhwjnywd Vo hwiwnupd hwpuptpuul wpugnipjundp.

_ W), 1.2-10
Bi(V)
(1.2-10)-hg dtlp Yunmwbwlp Gul htmbjuy wnlmipyniln.
iV = —Bi(V )V 1.2-11

(1.2-3)-ny L (1.2- 6)-n npnpquid ¥ ,(V)-h L y5(v')-h wpmnwhwjmmpymGitpp whnunpting (1. 1-17)-n] mpduo B2
qnpowlhgGtph wpmwhwjmmpiniGlbph ke, dhlp Junwlwlp htnlyw wnGsnipjmGGatpp.

Ba(v) = C—Vﬂl(V)
1.2-12

o) = 974

LiwGwuybu (1.2-3)-ny b (1.2- 6)-ny npnpyud y,(V)-h b y5(v)-h wpnwhwjnnipymGitpp mtnunptnyg (1. 1- 18)-ny
unpjwd npn2hyGeph wpmwhwjnnipyniGGtph dte, dklp Yunwlwlp htnlyw) welynmpinGatpn.

dw) = 2w B2v) + %730 | # 0
1.2-13

2
d(v) = 50O Bv) + g5 7av) ] # 0
UjGmhbtwnl (1.2- 13)-h vt9 Yhpwnbnyg (1.2-9)-h L (1.2- 11)-h wpnwhwjmmpjmGGtpp, dklp npnphsGhph hwiwp
Yquunwlwlp Gwl htnlyw] hwiwywth wnGynmpniGatpp.

!
dv) = 7P (1-¢%% ) + 0
1.2-14
!
d(vV) = AV (1- g% ) # 0
bul (1.2-3)-n] L (1.2- 6)-m] npnpqwd ¥,(v)-h L yL(v')-h wpnwhwjnnipymGabpp whnungptny Gub (1. 1- 19)-m]

unnpjwo hwpwptpuul pupddwb ninhy L hwuwnupd dlwthnfumpyniGGtnh dhe dkilp JumwGuwlp htimlyw)
hwjwuwpnuiGhpp.

Minhn dLwthnfunipynGGlp Lwlyunupé dbwthnfunipyniGGbp

t = fr)t+ gra(v) t= B + griv) X 1.2-15
X = 71 X = 73(V)(X - V)

bGywtu Gl (1.2- 15)-h it Yhpwntiny (1.2-9)-h L (1.2- 11)-h wpnwhwjnnpymGGtpp, dklp hwpupbpulwb
ownpddwl ninhn W hwjwnwupé duwthnfunipyniGGiph hwdiwp Junwlwlp Gl hbnbyw; hwuwuwpnudGhpp.

Minhn dLwhnfumpniGGtp Jwlwnupé dlwthnfunipyniGGtp

t' = Bi(v) (t - gZ—QX) t= ﬁ’l(v/)(t/ - géX’) 1.2-16

X' = y1(V)(X - Wt) X =yi(vV)(X - Vv't)

12 - 86
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1.3 - Qwpwpbpuyuinpjub {pdGunpnyph Oqumugnpdonidip
Jwpuwptpuwywl Cwupdiwl uuihnfunipjul <wjwuwpniltph Ut

Glpunptilp npfwd b6 kpynt wywqudtn werthy K L K' hikpghwy hwiwlwpgtp, npnp hpwp Giundwdp quGynud
t6 hwpwptpwlywl pwupdiwb Wt L pujwpupyntd £ Gl (1.2- 1)-ng mpjwo wyuwydwp: Wydd (1. 2- 15)-nd mpJuo
hwpwptpwlwl pwupddwl ninhn L hwjunupd dbwhnfunipjul hwjwuwnpnudGhph vt Yhpwnebklp (1 - £)-ng mpjuo

hwpwptpwywl jwpddwl wowehl hhiGunpnypp' hwpwpbpuywlnpjuwl ulqpmbpp:

1. K plbpghwy hwdwilwpghyg, judwpwlwi ¢ wwhpl, hapybGp K plbpghuy hudwlpupgh Gumdwdp
hwliqunp Jhdwlnif qunbing L o GphwpmpiniG niGhgnnh dnngh bplhwpnipiniGp:

Utiq hwdwp httmmwppppnipynil Gipyujwglnng wnwlGgpwpytiph mwpptpnipyniGlbpn YniGhGub htnlyw) wpdtpGhpn.
tob-t1=0
Xo—X1 = | 1 3'1
X5 =X =lo
(1.2-15)-ny npJwo mwpwonipjwl mnhn dhwthnfunipjul hwjwuwpiwl Jee mbtnunptny (t1,X1) b (t2,X2)
wnwgpwpytpp, dhlp mwpuowlui X; U X; wnwlgpwpytph hwiwnp JunwGwip htnlyuw) wpnwhwjnnipjnGGbp.
X1 = y1(V)(X1 — vt
1 71(V) (X1 — V1) 132
Xz = y1(V)(X2 — Vi2)
UjGnihtnl oqutiny (1.3- 2)-hg L (1.3—- 1)-ny wpywd wnwlgpwpytph wwpptipmpjul wpdtpGhphg, hwyytlp K’
hGtpghwy hwiwlwpgnid wGywpd qunlynn énnh tpuwpnipyniGp, npp hwjwuwp wtwnp b hGh lo-h.
X’z - Xé,_ =lp = y1(V)[(X2 — X1) = V(t2 = t1)] = y1(V)l 1.3-3
K hGtpghw hwdwwnpgh wbkuwGyjniGhg wjn dnnh tpiupnipjui L K' hGtpghw hwiwlywnpgnid hwlquunp Jhdwynid
quynn GniyG dnnh tpupnipjul hwpwptipnipyniGp dhow whwp b hGh npuiub deonpyniG L hwdwdw)G (1.3- 3)-h, wyl
YihGh.

| 1
- = >0 1.3-4
lo yi(v)

2. K plpghwy hwdwlupghg, judwpwliwi ' wwbpl, hupyilp K plGhpghwy hadwlpupgh Gunnfudp
hwliqunh Yhdwlnd qunbing L GnijGuybu o Eplwpmpiml niGlgngh dngh bplpupnipiniGn.:

Utiq hwdwp httmwppppnipyniG Gipuwjwglnn wnwlgpwpytinh nmwpptipnipyniGGtpp YniGhlGwl hbnlyw) wpdtpltpp.
t,—t, =0
Xy —xp =1 1.3-5
Xo—X1 = |o
(1.2- 15)-n wpdwd wmwpwonipjul hwjwnupé dluhnfunipjul hwjwuwpdwl §ee wmbnunpbny (th,X;) b (th,X5)
wnwlgpwpytinp, dtlp mwpwowywl X; L X2 wnwlgpwpytph hwiwp funwGwlp htnbyw] wpmnwhwjmnipnGGhpn.

X1 = ! V/ X/ _v/t/
1= 71(V) (X 1) 136
X2 = y1(V)(X; — V')
UjGmhbtwnl oquytiny (1.3-6)-hg L (1.3- 5)-nd mpjwo wnwlgpwpytinh mwpptipmpjwl wpdtplbphg, hwpytlp K
hGtpghwy hwdwljupgnid wGywpd qunGynn énnph tpjuwpnipnilp, npp hwjuwuwp wwnp t hGh lo-h.
Xz = X1 = lo = 74V Y[ —X1) — V'(t — t1)] = 74 (V) 1.3-7
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K' hGtpghwy hwdwywpgh whuwGlyniGhg wyn énnh tplupnipyuwi b K hkpghw; hwdwlwpgnid hwqunh Jh§wynuod
quynn GnyyG dnnh tpyupnipjuwl hwpwpbkpnpynilp dhpw whwp b (hGh ngpulwl deompyniG L hwiwdw)G (1.3—- 7)-h, wyG

YthGh.

Qwiwdwjl (1 - 2)-ny wpywd wpwehG hhdGunpniyph' hwpwpbkpuywnipjut uyqpniGph, K L K' hltpghwg
hwiwlyuwnpgbtph mbuwbyynilGhg nhunwpyuwo L hwiwywunwufuwlwpwp (1.3-4)-ny L (1. 3- 8)-ny wmpywd, Qwpdynn L
wlwnd dhlbniyl dnnh pyupnipymGatph hwpwpbpnipyniGGtpp, whwp E 1hGkG Gny6 niGlyghw, dhwyl dh nhiwpnid w)l
Jwiuqwd whwnp E hGh V mnhn hwpwpbpuwl wpugmpyniGhg, huy o giygpnd® V' hwunupd hwpupbpuut
wnpwaqnipjniihg, wjuhlpl whwnp b wntnh niGtlw htnbyw) wnGynipyniln.

(V) = ya(v)
Pwjg pwih np, wikGwplGnhwinp phypmd, hwiwéwyl (1 - )-h, V| # v, htwlbwpuwp.
7a(v') # ya(v)

CGnqomd 1-6 - Lwdh np jwdwjwiwl hupwpbpwlwl wpugmpjudp pupdng gulluguwd bpln wuwquilkn
worhly hGbpghuwy hwdwilpwpgh mbuwGlniGhg pwpdyng dnngh L hwlquinh ke qunlynn Gniyl dnnh bpliupmpim GGEph
hwpupbpmipiniGn sh Juwpng (hak puguuwlul dkompyn G, hbmbwpwnp (1.3-4)-p L (1.3- 8)-a, pliswbu Gl (1.3-9)-h
wpnilplbphg hlinbnd [ ap 'y | qoapowlpg-pnilhghwl dhpn whnp b ipGh gpulwl deonipinil;

yl(V) >0
‘}/1(V,) >0

3. K' plbpghuy hudwlwpgnid, mwpwonpyul dpblngG X Juypnns mbgh F niGeGng df junf hupnGh L
wwppbmupwnp §plGyng wuumwhwp, nph gwppbpmpul mbopmpniGn Yo o <upyblp wyn wwuwhwph
wwppbpmpul mbngmpymiip K pGhpghuy hwdwilwopgh mbuwllniGhg:

Utiq hwdwp httmmwppppmipynil GipYujwglnng wnwlgpwpytiph mwpptpnipyniGlbpn YniGhGub htnlyw) wpdtpGhpn.
t,—t)=1t>0
X5 —X; =0
th-t1=t
(1.2- 15)-n wpJwd dwiwlwlh hwjwnupé dlwthnumpjwl hwjwuwpdw6 §he whnunpbiny (t,X;) b (th,X5)
wnwlgpwpytpp, vhlp dwdwluyh t; L t; wonwlgpwpytph hwiwp Junwlulp htimlyw] wpnmwhwjunipymGGbpn.
!
= Bt + 055,
!
te = BLV)t + 05 Y5%
UjGnthtnl oquytiny (1.3- 13)-hg L (1.3- 12)-nd wipgwd wnpwlgpwpytnh mwpptipnipjuwl wpdtpltphg, hwyytlp wyn
(wy hwjnGh yuwuwhwph wuwppbpmpjwl nlnnnipyniGp K hGapghw) hwiwluwpgh mtuwGlyniGhg.
!
t2 =t = t= Bi(V)(t— 1) + 9r(V) 57 0 —X1) = B1(V)to
K hGtpghw hwdwlwpgh wtuwGyniGhg wyn juy hwyjmGh wwnmwhwph quwppbpnipjwl nblnnnipjuG b K' hGtpghuy
hwdwunpgni hwlqunp Jhdwynid qubynn Gnij6 yuumwhwph wqupptipnipjwl mlnnnipjwl hwpwpbpmpnilp, hwdwdw)G
(1.3—-14)-h, YyhGh.
£ = Bilv)
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4. K pbbpghuy hwdwlupgmd, mmupuompyul dhlilingd X Jugpnid mbgh F oGhGnnd Guifunpn juy haponGh
L wuppbpupwp pGyng qunmwhwpn, nph wuppbpnpyuG mbognipiniGp Yo F: <upyblp wyn wuomwhwph
wwppbpnipyul mbngnipniGp K' Nhbbpghuy hwdwlwpgh nbuwGlniGhg:

Utiq hwdwp httmwppppnipyniG Gipuwjwglnn wnwlgpwpytinh mwpptipnipyniGGtpp YniGhlGwl hbmlyw) wpdtpltpp.
-t =1ty > 0
X2 — X1 = 0
t,—ty =1t
(1.2-15)-ny mpywo dwiwbGwlh mnhn dlwthnfumpjwl hwjwuwpdw dte mtnunptny (t1,X1) b (t2,X2)
wnwlgpwpytipp, dklp dwiwGwyh t) L t) wnwlgpwpdtiph hwiwn YunwGwlp htnlyw] wpnwhwjnmmpjniGatpp.
ty = pr(VtL + 971(V)C—V2X1

ty = Btz + 971(V)C—V2X2

UjGnhbtnl oquytiny (1.3-17)-hg L (1. 3- 16)-ny mpjwo wnwlgpwpybph mwpptipmpjul wpdtpltiphg, hwpytilp wjn
1wy hwjnGh wuwnwhwph wywppbpnpjwl wmlnqmpymGp K hGipghw hwiwywpgtph wbuwGlyynGhg.
to -ty =t = fa(v)(t2 - t1) = fr(W)to
K' hGtpghwy hwdwywpgh whuwyniGhg wyn qwy hwjmGh wunwhwph yupptpnpjul nlongmpyui b K hGepghug
hwdwupgni hwlqunp yhdwynid qubynn Gnijl6 yuwmwhwph wqupptipnipjwl wlnnnipjwl hwpwpbpnipnilp, hwdwdw)G
(1.3-18)-h, YihGh.

L-pw

Loy Gty hwdwdéw)l (1 - 2)-m] wpdwd wnwehl hhdGunpnyph' hwpwpkpuiunpyw uyqpniGph, K L K’
hGtpghw; hwiwywpgbph wmtuwGyyniGhg nhuwpuwo b hwiwywunwufuwwpwp (1.3- 15)-ng L (1.3- 19)-ny nipdwo,
dhllntyG hwymbGh yuwwmwhwph wupptipnipniGGtph hwpwpbpnipyniGGhpp, yhwnp E 1hGEG GniyG $mGlyghwb, thwyl th

ntiwypny wjl ufujuwd whwnp k hGh vV mnhn hwpupbpuul wpugnipymGhg, huy gnie ghypmd® V' hwljunupd
hwpwptpuwl wpwgnpyniGhg, wjuhlpl ytwmp £ mbtnh niGtlGw htnlyw wnGsnipjniGp.

Bi(v) = Ba(v)
Pwjg pwbh np wibkGuwplnhwlnp ghypnd, hwiwdw)G (1 - 9)-h, V| # |v|, htwlwpwnp.
Ba(v') # Pa(v)

CGnqomd 1-7 - B1 qupowlhhg-pnilhghwh Grwlh dwupl wnw)df dbGp nspls hunwl sofunklp: Um hupgh
Yhpotwlwl wumwufuwln Jelp Jumwbulp hbuwquynid: ‘M hundwp dhGp Juwpnn GGp hunnnunnty dhuglG htnnlyuwgp.

Bi(v) 20
B1(v) 20

UjGnithtnl (1.1- 8)-nd wpdwd wnbmnipjul dt9 Yhpwoting (1.3-9)-h L (1.3- 20)-h wpryniGpGhipp, dtlp Junwlwlp
htinlyw) wnGsnipymGp, npp hwiwdw)G (1.3- 11)-h dhpw whwp E 1hGh npujwl JtonipyniG.

[B1V)BLV) = y1(W)y1(v) > O]

Canqomy 1-8 - (1.3- 23)-ny wipyjwo wnlsmpnilp, hwdkluyl phwu, dbq hnpmd Fop bpk K' L K plbpghuy

hwdwhwpgbph mbuwllnGhg hbnwqnunynid F upllng 6 phqhlwlul bplngpp, www 1 qupowlhg-pnibdyghuh Grwln
Gplm plbpghwy hwdwlwpgbpmd by whmp F jhGh Gnylp' Qwd gl L wd b puguowluG:
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Ujdu oquytiny hwjwnuwpd wpwgnipjwb (1.2- 8)-ny mpjwo pwlwdlhg b (1.3- 23)-ny mpywd wnlsnipnilGhg, dkGp
Jupnn kGp gniyg wmwy np V' hwjuwnupd wpugmpjul hwjunupéd wpugmpyniGp qu GniyG vV ninhn wpugnipjmiGa k,
wiywh wyG pwbhg dtlp qnpo nilGhbp npuiub pt puguuwub dlwthnfumpynilGGbph htwu:
V) =v 1.3-24

(1.2-10)-h dt9 Yhpwntiny (1.3-9)-h L (1.3- 20)-h wprymbpltpp, JGGp ninpn hwpwpbpwlwl wpwgnipjwl hwdiwn
JuunuwGwlp htnlyw) wnGympniGp.

71(V,) /
= v 1.3-25
pa(v')
(1.3-25)-hg dtlp Junwlwlp Gul htnlyw) wnGsnipyniGp.
Y1V = —B1 (Vv 1.3-26

(1.2-6)-h U (1.2~ 12)-h dbk9 Yhpwnkiny (1.3- 9)-h wpnymbpp, dkGp Yhuningytlp np B2 Ly, uwquynp b wiluwg
qnpowlhgltpp whwp L hGkG Gnyl6 $nbGyghw, dhwjl dh ghiypmd w6 juugwd wbwp b (hGh V ninhn hwpwpbpuyw6
wnwqnipjniGhg, huy §nw ghypnd® V' hwjunupd hwpwppuw6 wpugnipyniGhg, wjuhGpl wtnh niGh htnlywip.

72(V) = —y1(V)V' = y2(V')

, 1.3-27
Pov) = ara(v) G = Pav)
UjGnithtnl (1.2- 13)-ny mpywd npn2hyGhph dbe Yhpwntiny (1.3-9)-h L (1.3- 20)-h wpryniGpltpp dblp Junwlwlp
htimlyw) wnGynmpmGGtpp.
2
dw) = 11 f) + g | # 0
1.3-28

d(v) = 72 fuv) + gra(v) Y5 | # 0

(1.3- 28)-hg httmmlinmid £ np npnhs-dniGyghwltph hwiwp GniyyGubu nbnh nilGh hmlgwp $nilyghnGuwy wnGsnipyniGp.

d'v) =dv) 1.3-29

<tmlwpwp (1.1-7)-nY mpjwo wnGynipjnilp Yqpyh htinlyw) Yhpw.

buy (1.2- 14)-n mpdwo npnphsGhph dte GnyyGutiu Yhpwntinyg (1.3-9)-h L (1.3- 20)-h wprynilGpltipp, hGyutiu Gul
(1.3-29)-p, dtiGp dLwthnfunmpjwC npnphgGiph hwdiwnp Junwlwp Gul htnbyw] wnlsnipymGGatpp.

dv) = 1R (1- 6% ) # 0

1.3-31
AN / / _ M
dv) = 72 (1-0%% ) + 0
(1.1- 4)-ny mpJwd hwjwuwpnuiGtph hwiwwpgbph wpwohG hwjwuwpnudGhph WG9 Yhpwnting (1.3-9)-h L
(1.3- 20)-h wpyynmGpGtipp, hGswbu Gubl (1.3-28)-ny L (1.3- 31)-ny wpdwd hwjwuwpniiGtph hwiwjwpgbph wowehG
hwjwuwnpmuibtpp, dklp Junwlwlp htnlyw) wnGsnpyniGGtpp.
( ﬂl(V,) _ 71(V) _ 1 _ 1
d(v) V2 _gW.
P +anmY  pw)(1-gY%%)
< 1.3-32
i _ Biv) B1(v) 1
71 = - -
d(v 2 !
W nw[pwronmS ] nm(i-e%)

\
buy (1.1- 6)-n mpJwo hwjwuwpnidGbph hwiwupgph wnwehl hwjwuwpmiGhph vk GniyGubu Yhpwnbing
(1.3-9)-h, (1.3-20)-h L (1.3- 29)-h wpryniGpGtpp, hGswbu Gl (1.3-28)-ny L (1.3 - 31)-ny wmpywd hwjwuwpmdibtph

hwdwlwnqbtiph tpYypnpn hwjwuwpnuiGtipp, dklp junmwGulp htmbyw) wnlynipniGGbpp.
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Ba(v) = }/1(\11/) = 1 2 1 !
WY pwyr )G puv)(1-9YS)
b 1.3-33
Bi(v) Bav) 1
71(V) = T = T = 7
WY [ B g ] e (1-0¥)

\
<hotiny (1.3-23)-p, dtbp (1.3-32)-hg Yud (1.3- 33)-hg Jupnn tlp vnwbw htnbyw hwiwswth wnbsnpyniGp.

7171V = fr(V)Ba(v) = ) ZD) ~=—2L >0 1.3-34
PV +onv)E BV o) 1-glr

Luwh np, hwiwdwyb (1.3-11)-h, y,(vV) L y,(v) qnpowlhglGlipp dhyw npulwl SkonipyniG GG, hEmbwpwp
(1.3-32)-h L (1.3- 33)-h wnwehl hwjwuwpmiltphg htimlmd £ np B1(v') L Ba(v) gnpowyhglGbph Gpwlp Yuiugwo
thwyG d(v) L d(v') npnphsGtph GpuGhg: <hptyny Gul (1.1- 20)-p, dkGp wuywquiitin werhy hGtpghw) hwiwywpqbtiph
hwdwp nguuijui L puguuwlul dlwthnfumpniGGtpp Yupnn Gip vwhiw Gl Gub hbnlgwy Yhpy.

Qpwluwl dLbwhnfunipyniGGhp Pwuguwuwlwl dLwhnfunipjniGGtp
Bi(v) >0 W Bi(v) <0 1.3-35
Bi(v) >0 (V') <0

Oquiytiny (1.3-11)-pg L (1.3- 35)-ny wmpywd ngpujwb b pugwuwul duwhnfumpynGGtph nhypmyd f1
$niGyghw-qnpowygh Gpwbhtphg, hGswbu Gwl oquytiny (1.2- 8)-ny wmpjwd hwjwnupd hwpwptkpuwl wpwgnipjub
pwlwdlhg, dtlp Jupnn tGp YnnuiGnpnyyty Guwl wyn wpuwgqnipjul GpwGh hwpgnid Llu hbnlgwy Yhpy.

Qpwluwl dLbwhnfunipyniGGhp Pwuguwuwlul dbwhnfunipjniGGtp

1.3-36
T 1) RV L RV

B1(v) B(v)

CGnqomd 1-9 - (1.3- 36)-fig htunknd F np gpuulwl dluuhnfumpimGGEph phupnid hulwnupd wpwenipinip
nuplmd F hwlpughp wmugnipini G, hul puguuwlpul dlhahnfunipjuul nhupnid, bph wnuhuh dhunhnfunipiniGGhpn
hbwpuwinp 660 wwuwquidtan werhly hGbpghuy hunfwluwpglph dhol, wupw hwlpungunpd wpwqnipyniGp fniGhEGw nighn

wpwqnipjwl niggmipnilp: “Apw hadwp V' hwpupbpulul wpwqnipiniin dalp dhpn quljulblp hulpunupd
wugnipinil L sblp oquuugnpoh hwlughn wmuqnipniG wpunwhw jmnmipinilp, bph sh wanid Sa wyy puG: Qyuaghuny JbGp
Uy qulGuplyblp puguuwlul dlauhnfunipimiGGhph qnimipjul ppunfniGpp:

Upnh bhghyuwynid dkbp thpwn oqumugnponid tilip npujul dLwthnfumpniGGtpp L ngpulghg uvnwgywo wpnnilGpGhnpp,
pwgwnnipjuip npnp nhwpbph tipp wihpuwdb)mnipniG £ qqugynid Yhpwnet] puguuwlul duwthnfunipyniGGtipp, hGyuytu
onhlwl mwpwowyuwb hwjtijwyhG wlinpunupdiwl ntiwypnid:

Ujdd Juwnwnblp Gnp GoulwynuiGhp: Lwh np, hwiwdw)l (1.2-3)-h, (1.2-12)-h b (1.3-27)-h, pninp y,(V),
Yo(V), B2(v) L B5(V) qnpowyhgGtipp uwiugwo t6 shwyG ¥, (V) L y,(V) qnpowyhgGtiphg, hswbtu Gul hwiwdw)h
(1.3-9)-h L (1.3-20)-h ¥} L B) PmGyghwGpp GnyG y, b f1 pmlGlyghwlbpl b6, www hwlnb wwpgnpjud L
qtinwghmnwlw hwdniyph, dtlp htnlyw) qnpowyhg-pnilGlghwltiph dt9 puwg YpnnGtlp unmnphG gnighsGtpp.

B )= pC ) 1337
yi( )= )

UjGmhbtunl, (1.3-9)-ny L (1.3- 20)-n] unnwgwd dtp wpnyymbplitpp Yhpwntinyg (1.2 - 15)-h dhky, hGswbu Gl
oquiytiny (1.3- 37)-ny mipqwo dtp Gnp GpuGuynuiGtphg, dtip hwpwptipuwywl Qwupddwb ninhn L hwjunupd
dLwthnfumpyniGGtph hwdwp junwlwlp htnlyw hwjwuwpmdbGaph hwiwlwpgp.
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Mnhn dLwthnfumpyniGGtp {wjununpd dbwthnfunipymGGtp
I _ \' INt! / L
t = pWt+ (V) Zx . t= Bt +gy(v )%x 1.3-38
X' = y(V)(X=vt) X = y(V)(X = V')

Liwlwytbuy, (1.3-9)-ny L (1.3- 20)-nY unwgwd dkp wpnynilpltpp Yhpwnkiny (1.2 - 16)-h vk, hGywhtu Gul
GnyyGutiu oquytiny (1.3- 37)-ny nipJwo vbkp Gnp GQuluwynuiGhphg, dkGp hwpwpbpuyw6 pwpddw( mnhn L hwunupd
dLwthnfumpniGGtph hwdwp Junwbwlp Guwb htmlyw hwjwuwnpnudGph hwdwywngp.

Mnhn dLlwthnfumpyniGGtp {wjununpd dbwthnfunipymGGtp
= ~g¥% = BV (t - g-%x 1.3-39
t ﬁ(V)(t 9 X) . t ﬁ(v)(t gczx>
X' = y(V)(X=vt) X =y(V)(X = V't)

Canqomd 1-10 - Upklp np dllp nhin whnp F npnplilip swhnquipuGnpim G smblgng B Ly qnpowlhglbpn, hlsutiu
Gl whnp F nprpblp V' LV hwpwpbpulpul wpwqnipniGGLEpp dhol bpwo wnGsnipinilp:

1.4 - QwunwwnniG UpwgnipniGatph Snudwpdwl L wliwl PwlGuwdlbpn

Glpwnplilp npywd b6, hpwp Guniuwdp hwpuptpulwi wpddw gk qubyny, tpip K, K L K’
wuywquitin werhy hGtpghw hwiwlwpgbkpp, npntn K’ hakpghwy hwiwlywpgp K hGkpghw) hwdwwpgh GRuundudp
updynid £V hwunwnnt@ wpugmipjudp, huy K" haipghwy hwiwupgp K hGpghwy hwiwwpgh Gundwdp
wpdynid B U hwunmwwnniG wpugnipjuwdp b K hGapghw hwdwwpgh Guundwdp pwupdymd B W hwunmwwnnt G
wnpwagnipjudp: Pwgh ngpuhg, wowlg pnhwlpmpjwl nhd dtnulsting, dtlp Jupnn GGp pGnniGs np pnnp V, U L W
hwpwptpwlwl wpwgnipniGGtpp pwjupupmd G6 Gub (1.2- 1)-n npdwd ywjdwihG:

Canqomy 1-11 - Gwiwpulpul wpwempyudp Jwpdyng thnpd Guwlpwl dwulhlh wpwenipmiln (wju pudtng K"
JlEpghuy hudwlupgh huwumunnm G wpwqmpynilp) K L K plEpghuy hudwlwpgbph Ghunndundp, unjnpupupn
Owlwlhymd F hwdwyumwufuwGupup U LU mwnw@wGlpny: Pwjg delp qbpunuubghlp npulg ginfuwpbl
oquuugnpoty hwdwwuwumwofuwGuwpwp U L W uunbpp, huly Gngl6 ununbph fuwquilyyuo mmunbpn Jepuwquhbing win
wpwgnipjniGGaph hwdwyunmuofuw§ hwlpuqupd wpuqmpimiGG5ph Grwlwldwl hwdwnp:

Ujdd nhnwpytiGp K” hGtpghwy hwiwlywnpgh uyqpGultinh pupdmip: Uya K' hkpghwy hwdwupgh Gundwdp
GnyyGubu updymd £ U hwuonwnm G wpugmpjudp b K hGipghw) hwdwupgh Guundwdp’ W hwunwnmG
wpwqmpyudp: Ujlnthtnl qpubgtlp K" hGtpghw hwiwlwnpgh uyqplGuytinh pwpdnudp dwdwlwyh Gpynt mwppbp
wwhtiph hwiwn: UyqplGuytinh pwupddwl dutwGwjuunwpuowjhl wnuGgpwpytinh mwpptipnipjnmGGatpp, wju Gpynt
wnwpptip wuwhtph (umwhwpbbph) hwdwp, K L K hGtpghw) hwdwyuwnpgbipnd YniGtGwl htmbyw) wpdtipGtpp.

K' hGtpghw hwiwlywpgnud K hGtpghw) hwiwluwpgnid
ty—t) =t . th—ty =t 1.4-1
Xp—X; =X =ut' X2 — X1 =X=Wwt

CwnniGuytiGp dtip hwpyndGtpp, oquybtiny (1.4 - 1)-nd wmpgwd GpuGuyniiGtphg L (1. 3— 38)-ny mpjwo
hwpwptpuyuwl pwupddwb ninhn L hwwnupé duwthnfunipjuwl hwjwuwpnuiGtinhg:

& Oqunjklip mnhny dlwhnfumpjul hujuuwpnidGiphg
Qntlp (1.3- 38)-ny wipJwd ninhn dhwthnfunipjul hwjwuwpmdGipp wyn Gpynt mwppbp wunwhwpliph hwdwp.

tz = Ptz + Gy (V) 5% ty = BVt + (V)5

Xp = y(V)(Xz2 — Vt2) X; = y(V)(X1 — Vt1)
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Oquytiny (1.4- 2)-ny mpjwo tpynt yuwwmwhwplbph wowlgpwpytiph ninhn dbwthnunipjuwl hwjwuwnpnuiGtphg,
hwpytlip npwlg dhol dwdwlwlh mlnnnpjniln b htipwynpnipynilp htnlywy Yepy.

t -ty = BV)(t2 —t1) + QV(V)C—VZ(Xz -X1)

Xp = X; = y(V)[(X2 = X1) = V(t2 — t1)]

1.4-3

UjGmhbtwnl (1.4- 3)-h dbg mtnunptiny (1.4- 1)-ny mpjwo tpynt wwwmwhwpGtph dhol tnwo dwdwlwyh nlnnmpyub
L htinwynpnipjwl wpdtpltpp, vtlp funwlwlp.

- W
t = [B+gr) L o
W’ = 7))t

1.4-4

bpwp Yypw pwdwGtiny (1.4- 4)-h tpypnpn b wewehl hwjwuwnpniiGtipp dklp Junwlwlp hwunmwnniG
wpwgnipjntGGtph hwGiwG puwGwdalp.

__rw-v) 1.4-5
) + 9r) |

&  Oqunjblip hwlwnunpd dluuhnfunipjul hujuwuwnpmdGEphg
Qntlp (1.3- 38)-ny nipJwd hwjwnunpd dLuwhnfumpjwl hwjwuwnpniGhpp wyn GnyG Gpynt wwunwhwpGiph hwdwp.
! !
tz = BVt + (V) 7% L= fV+ (V) gz %
X2 = y(V)(Xz — V') X1 =y(V)(Xg - V')

Oquiytiny (1.4- 6)-ny mipJwo wyn tpynt ywwmwhwnpltph wewigpwpytiph hwjwnund dLuwihnfumpjwd
hwjwuwpnuiGlphg, hw)ytiGp npwlg thol dwiwlwlh mlnnnipynilp L hinwynpnipynilp htimlyw) Yupy.

to—tn = BOV)( ~ 1) + 97 (V) Y5 0~ )
X2 = X1 = y(V)[(Xz = x1) = V'(tz — t)]

UjGnthtiwnl (1.4- 7)-h vk mbnunptyny (1.4- 1)-n4 mpdwo tpynt wwwmwhwplph dhol inwo dwdwlwyh mbnnnipjub
L htinwynpnipjuG wpdbpGlipp, dhp Junwlwip.

1.4-7

_ / / ﬂ /
t= B+ )L e
Wt = (V)= V)t

1.4-8

bpwn ypw pwdwGbtinyg (1.4- 8)-h tipypnpn L wpwohG hwjwuwpniiGtpp dkGp JunmwGwlp hwumwwnniG
wpwqnpntlGGph gnuiwpiwl puGwdalp.

y(v)Hu-v) 1.4-9

w = !
B + gr(v) Y

Gphti tilp hwpwptpwiwl wpugnipymGatph hwliwb b gnudwpdwG gnponnnipymGGatipp Gpugptlp hmbywy Yhpy.

{”:WGV 1.4-10
wW=uévVv

Uwuw (1.4-5)-n] L (1.4-9)-ny mpjwd hwunmwunt( wpwgnipyniGGiph hwGiwl b gniiwpdwl pwlwdlbpp gpbny
dhwuhG L oquwgnpotiny (1.4- 10)-ny nmpjwd GpuqpnuiGtipn, dklp Juunwlwbp.

Cwey. TOW-Y)
I YRR

1.4-11
IRV R N

BV + gr(v) L
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1.5 - Guwiwjwyuwl UpwgnipjniGatph Gnudwpiwi b <wuldiwl PwubGuwdlbpp

Ujdd b kGpwnptiGp np thnpdGuwlwb dwulhyp shwywth mwpuwonipjul dke pupdymd £ judwjujul wpugnipjudp L
wyn thnpdGwlul JwuGhlh wyGpuppwyhl wpuwgmpniGGtpp K' u K hGtpghw) hwdwyuwnpgbipnid dkp GniyGutiu
YGwluytlp hwiwyuwumwuuwlwpwp U b W nwntpny L npuGg deonpyniGhtpp YnpnpytG htimlyw) Yupy.

ax’
at’
oy,

=Uu

QhpptiptiGghny (1.3 - 38)-ny mpjwd hwljunupd dbunhnfunipjwl hujuwuwpnidGhpp pun t' dwiwlwyh b wylntn
wmbnunnbny (%(,,)-h wpdtipp (1.5- 1)-hg, dtlp YuunwGwuip.

!
M= o)+ gy
&y (v)w-v)

(1.5- 2)-h tpypnpny hwywuwpnudp puwdwlbng wowohl hwyjwuwpiwl Yypw dtlp Junwlwlp wyn thnpdGulwd
dwulhyh wylpwppwjhG wpwgnipjnilp K pGipghw hwdwjwupgh Giuwmdwdp, wpnwhwjnjws VL U
wnpwqmpnilGpny, npl £y htiGg hwnhuwlnd E Gpynt U L V. wpugnipymGGiph gnudwpdw G pwGualy.

R (D ICEa'D)
dt N N / ! V’U
BNV +ar(v )?

‘Liwlwwbu nhpptintiGgtny (1. 3— 38)-ny mpwo ninpn dlwhnjunipjuwl hwjwuwpnuiGhpp pun t dwiwGwyh L

wjGwnmbin mbtnunptiny (%)-b wpdtipp (1.5- 1)-hg, dtlp YunwGwuip.

dE = by + o) Y

!
L~y w-v)

(1.5- 4)-h tpypnpny hwywuwpnudp puwdwiting wnwohl hwyjwuwpdwl Yypw dklp Juunwlwbp GniyG thnpdGulwd
dwuGhyh wyGpwppwjhG wpuwgqnipynip K hkpghw hwdwlwpgh Gundwdp, wpnwhwjnguwd V b W
wnpwqmpnilGpny, npl by htiGg hwnhuwlnd £ tpyme W L V. wpwugmpyniGGiph hwGdwl pwGualp.

&, rW=V)
o’ B) + ar(n)

(1.5-3)-ny L (1.5-5)-ny mpJwo tpynt wpwgmpyniGGiph hwGiwb L gmiwpdwl puwGwdlbpp gptny shwupl L
oquuugnnpdtiny (1.4 - 10)-ny mpJwo GQugpnuibpp, dtlp JumwGuip.

Cwey. TOW-Y)
I YRR

r(VHu-vH

W=Uu@vV= .
BIV) + gr(v) LY

CGnqomd 1-12 - Uklip mbulinif klp np (1.5- 6)-ny npywd jwdwjwlwl wpuqmpmi 666pp hwGdwd L gnidwpiw
pwlwdlbpn aygppun [hmyny hwdpllyGnod GG (1. 4— 11)-ny ipywo hwumuwmnt 6 wpuwqmipyni GG6ph hwldwl L gmbwpdw
pwlwdlbph hlin: <Gnmlwpwn wmuqnipymGGhph hwldwl L gmdwpdwd pubwdlbpn qufugwo sa66 wyl pulhg pb wn
wnugnipiniGGbpp hwwnunnni G GG ph gpuulp niG6G qudwjulwl wlGpuppuhl plngp: UjGwbu np win pubwdlbpn afipn
b6 L hlbpghuwy hwdwlupgbnph ppup Ghumdwdp niGhguo hupupbpulul wpuqnipiniGGhEph hudwp, L pwpdyng
thnpd Gl SwuGhih qudwjulul wpuqnipini GGLEph hudup:
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(1.5- 6)-h dt9 wnwohl hwjwuwpmip Notiny pun W wpwgnipjwl L Gpypnpy hwjwuwpmdp nuotng pun U
wpwqmpjul, dtlp wylpwppwjhl wpugmpyniGGtiph gniiwpdwl b hwGdwl hwiwp Junwluip Guwb htnbyw) pwGuwdbbpp.

B+ v
rw(1-0%)

W=udV-=

1.5-7
BMOW+y(V)V'

rv)(1-g¥l)

Ujdu dhwuhG qptiGp (1.5-2)-h L (1.5- 4)-h dhwjG wrwehlG hwywuwpniiGhpp.

u=wevs=

!
&= )+ ) LY
1.5-8
a _ ww
9~ )+ gy (1)
UjGnithtnl (1.5- 8)-h wnwohl hwjwuwniwb vt Yhpwntinyg (1.3- 26)-p L tpypnpy hwywuwpdwl dk9 Yhpwnbing
(1.2-9)-p, dtlp Yunwlwlp Guwl htimlyw] pwGwdltpp.
dt _ vu
& - pn(i-)
1.5-9
at’ _ _gVw
&~ poy(1-g¥)
bpwp htnn puqiuywunytiny (1.5- 8)-ny mpywo hwjwuwpniiGhph hwiwywpgh wnwehb L Gpypnpn
hwjwuwnpniGtipp, dklp Jumwlwlp htnlyw) wnGympnilp.

[B)+ gL | ) + gy | = 1 1.5-10

‘Liwlwwbu hpwp htn puqiwwyuwnybny (1.5- 9)-nd mpjwd hwjwuwpmdliph hwdwlwpgh wowohG L kpypnpn
hwjwuwnpmiGtpp, dklp Junwlwlp Gwl htnbyw) wnlymnipjnln.

ﬁ(v)ﬁ(v/)(l—g%)(l—g‘ﬁ—g") —1 1.5-11
dtphhptynyg (1.3-23)-p, vklp (1.5- 11)-hg unwGwlp htinlyw] wnGsnipjniGp.

BWBKY) = y(Wy(v) = L >0 1.5-12
(-sH)(o)
bpwp htnn hwdtdwwntiny (1.3- 34)-ny L (1.5- 12)-ny mpywd wnlsnpjniGGtpp dthp Junwlwlp htnljwy qintghy
wnlynpynilp, npp hpwp £ juwnud Gpyne mwpptp hGipghw) hwdwlwpgtiph Giundwdp judwjuuwl wpugnipjudp
wndynn thnpdGuwlwl dwuGhyph U L W ninhn wpugnipyniGGpp b GnyyG hGipghw) hwdwlupgbph hpwp Gumdudp
niGigwd V L V' ninhn L hwunupé hwpupbpuul wpugnipymGGpn:

CGnqomy 1-13 - Eph dhlip plinmGhlp np hopd Gwlwl swebhip K plEpghuy hudwlwpgh Ghumiwdp qubijnud b
wipwpd Yhawlmy, wyuplpld U = 0, www plGuwlwlupup wyd K pGhpghuwy hwdwlpupgh Ghunndwdp pupdynid B W = Vv
hwumunnm G wpwgmpyudp L hlinbwpwnp (1.5- 12)-ny ipwo pwbwdlp nuntnid F (1. 3- 34)-ny ipjwo pubwdlp, hul
(1.5- 13)-ny wmpywo puwlwdlp nuelnid b GoylGnipiniG:
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1.6 - Qwonpnulwl YuuihnfumpniGGtph Yhpwonip

LwGh np, hwiwdw)l (nGngomyd 1-2)-h, hwpwpbpwwinpjwl hwnny whunipjwl Jhe hpwp Gumiwdp
hwpwptpuyuwl pupddwl dt9 qunlynn hGhpghw hwiwwpgbph wnwlgpwpytph dbwhnfunipjul hwjwuwpmiGhpp pun
dudwlwlyh b mwpwonipjul niGEG qowjhl YuhujuonpniG, htmblwpwp npulp whwp L pujuwpunptl qowjha
dLwthnfunipjwb pninp hhdGuywG optlpGhphG: <wdiwdw)l qowjhl dLwthnfunipjuwl wikGwhhiGwlw onklph -
hwpwptpuyuwl pupddwl hwonpyuwl qowjhG dLwhnfumpniGGtpp wnwewglnid LG vh Gnp GlwlGwwumhy qowjhG
dLwthnfump)niG:

Npytiugh dhGp wuywugnigtiGp np (1. 3- 38)-ny wpywd hwpwpbpwwb pupddiwl dlwhnfunipjwG hwjwuwpnidGepp stG
hwuwuntd qowjhG dLwthnfunipyniGGtiph wikGwhhiGwlwb ontiliphG, wuww npu hwdwp uwnwptip tpynt hwenpyulw b
dLwthnfunpyniGGtp L wwhwoklip np unwgywo wpnniGupup dbwhnfunipyniln GnyyGutu (hGh GnyyGunmhy qowghG
dLwthnfunipyniG, wyuhGpG npytiugh wjl niGtGw Gniy6 mbupp: Uju dwlGwwwuwphny dtlp Yupnnubiwlp npnpt dGuguo
wlhwjn gqnpowlhglbph wpmwhwjnmpyniGlbpp jud wyn gnpowlhgbtph thol gnymipyniG niGkgnn wnGsnipyniGGtpp:

Q4w hwiwp GGpunptGp np npgwd 66 tpp K, K' L K" wyuquidtn weihl hGkpghw) hudwlwpgbpp, npntny,
hwiwdw)G (pngdnud 1-11)-h, K’ hGhipghw) hwdwljwpgp K hGtpghw) hwdwywpgh Giumdwdp pwpdgmd £V
hwunwnniG wpugnipjudp, huly K" hkpghwy hwdwupgp K hpghwy hwdwlwpgh Gundwdp pupdynud & U
hwunwunt@ wpwgnipjudp L K hGipghw) hwdwlupgh Gyundwdp pupdymd E W hwumwwnntG wpuwgnipjudp: bGswtiu
(Gwl pninp V, U L W hwpwpbpuluwl wpugnipyniGGbpp npujub dkonipyniGGtp taG:

Ujdd oquytny (1. 3- 38)-ny mipjwo hwpwptpuuwl pwpddwb dLwihnfunipjuwl hwjwuwnpniiGtphg, gptip yapnhh jug
tiptip hGtpghw hwiwlwpgbph ninhn L hwwnupé dbwhnfunipjuwl hwywuwpniGipp dhijulg Guumdwd htnbyw) Yepy.

®  DLunpnfumpyul hujuuwpnidtpp K L K plhpghuy huswljupgbph thol

Minhn dLlwthnfumpyniGGtp {wjunupd dbwthnfunipymGGtp
v = B+ gr(v) t= OOt + gr(v) Yox 1.6-1
b
X' = y(V)(X- W) X = y(v)(X = V't)

&  DLunpnfumpyul hujuowpnidtGipp K' L K plkpghuy hwdwlwpgbph dhel

Minhn dLlwthnfumpniGGtp Lwlyunupé dbwthnfunipyniGGbp
v = B + gr ()X ) t = B+ gr(u) L' 1.6-2
X” — }/(U)(X/ _ Ut,) X, _ j/(U,)(X” _ U,t”)

&  DLunpnfumpyul hujuuwpnidtbpp K L K plhpghwy hudwlwpglph dhel:

Minhn dLlwthnfumpyniGGtp {wjununpd dbwthnfunipymGatp
v = Bt + gy (w)x t= Bt + gy (w) Wox' 1.6-3
b
X” — ’}/(W)(X— \Nt) X = j/(W,)(X” _ W,t”)

Opuntn K, K' L K’ hGtpghw) hwdwlwpgph V, U L W hwjunupd hwpupkpuiul wpugmpniGibph
wpumwhwjmnipniGatpp, hwdwdw)G (1.2-8)-h L (1.3- 37)-h Gnp GQuwGwymdGtph, YhGLG.

vV = _rv v L u wiCX u L w = _rw) w 1.6-4

BV) B) Bw)
buly (1.3- 32)-n wpqwd pwhwdbbpp Yhpuntny K, K' & K" hGhipghw hwdwyupgbph ninhn b hwwngupd
hwpwptpwwl wpwgnipyniGGtph hwdwn, hGswbu Gub GnyGutu yephhptny (1.3- 37)-h Gnp GuGwyndGhpp, dkip
JuunwGwlp htnljw] pwlwalbpp.
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N Y(V) (V) N r(w)
ﬁ(V) - d(V) ﬁ(u ) - d(U) ﬁ(W) - d(W)
W) " B " Bw) R
A \ Y _ 'y —

Ujdu oquuytiny tiptip hGtpghw hwiwywpgtiph (1.6- 1)-ny, (1.6-2)-ny L (1.6- 3)-ny mpjwo ninhn L hwjwngupd
dLwthnfumpjwl hwjwuwpnuiGlphg, juunwptlip dwdwlwyh b mwpwonipjub tpynt hwonpnuwwl dlwthnfunipyniGGtpp
pnnp hGuwpuynp ybig mwpptipuyGtpp: Wyn pnnp hwonpnuijub dLwithnfunipyniGGtpp juunwptinig htinn dklp fumwGulp
V, U L W mnhn wpugnipjmGGp L nppulg hwunupé v/, U L w wnpwqmpnilGibp wupniGuyng qnpowyhgGtiph thol
tnwo pninp wnlynipymGGtpp:

1. Oquyklp (1.6— 1)-ny wmpyo dwdwlwgh L nmwpuwompjul mghy dlahnfumpyul hujuowpnidGbphg

Qpw hwdwp (1.6- 3)-ny wpywo hwjunupd dhwihnfunipjul hwjwuwpndGiphg t-h L X-h wpnmwhwjnnpymGGhpp
wbnunptinyg (1.6- 1)-nd nupJwd dwdiwlwyh b mwpwonipjuwl mnhn dlwthnfunipjwl hwjwuwpndGhpp gk, dklp
JuunwGwip.

= [ BOBW) - gryr ) W Tt + gy B + 7% [«

1.6-6
_ ww/
X = )y (1= g W)X — )y wHW + B VL'
(1.6- 6)-nJ mpjwo dLhwthnfumpyniGGiph wpmnwhwjmnpmGitpp hwitiwnbny (1.6 - 2)-ny mpjwo t' dwdwlwyh L
X' muwpuwompjul hwjunupé dlwhnfunipjul hwjwuwpnuiGiph htn U hpwp hwywuwptgng t'-h W X"-h
qnpowlhgGtpp, dtlp YumwGwlp htimlyw) wnlympniGGtpp.
dwiwlwyh dLwthnfunipjnilhg Swpwonipjul dlunhnjunipynilhg
! /
B = BUIBW) - gy (r(w) L . 7W) = ywyw)(1-g%-) 1.67
YU = yW)H[BWW' + 7 (V)V] yUHU = y(W[yW)HW + BW)V]
2. Oqujilp (1.6- 1)-ny npfind dwdwGuwlh b umupuompyul hwlugupd dlahnfumpyul hwjuowpnidGbphg
Anw hwdwn (1.6 2)-m] mpywd hwiwnupd dlwhnfunipjul hwjwuwpnuiGiphg t'-h L X'-h wpmwhwjnnpymGibpp
wbnunptiinyg (1.6- 1)-nd npJwo dwiwlwyh L mwpwonipjul hwjwnupd dhwhnunipyul hwjwuwpnudGhph gk, dhip
JuunwGwip.
t= [ BB~ oy vy @) L U+ g Ly w)ipe U + (v v K
1.6-8
"
x = 7y @) (1= gL )X = )y + BU VI
(1.6- 8)-ny mpJwo dlwhnfunipniGGtph wpmwhwjmnpniGipp hwitdwnbtng (1.6- 3)-nd wmpjwo t dwdwlwyh L
X nwpwonpjul hwjunupd dlwhnfunipjul hwjwuwpnuiGph htin b hpup hwjuuwptgGiny t-h b X"-h
qnpowlhgGtpp, dtlp YunmwGwlp htimlyw) wnlympniGGtpp.
dwiwlwlyh dLwthnfunipjnilhg Swpwonipjul dlunhnfunipjnilhg
" U
p) = BB - ar(v )y () . yw) = 7y (1- gLy ) 1.6
YWHW' = y(U)[BVHU +y(V)V] yWHW' = y(V)[yu)Hu' + Bu)Vv']
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3. Oquujtlp (1.6- 2)-ny wpyfuwo dwdwlwyp L mmwpuonipyul nughny dlahnfunipul hujuwowpmdGephg

Qpuw hwidwp (1.6- 1)-nd mpjwo mnpn dbwhnfumpjul hwjuwuwpmiGtphg t'-h L X'-h wpnwhwynmpynGGtpp
wbtnunpbny (1.6- 2)-nd mpjwd dwiwlwlyh L mwpwonipjul ninhny dlwthnfunpjwl hwjwuwnpnuiGtph dbe, dhip
Yuunwlwlp.

' = [ BB - 9y Jt+ gL yirwu+ puvix
1.6-10
X' = Wy ()(1- % )= yWBWU + rVIE
(1.6- 10)-n] wpJwd dLwthnfunipjniGGiph wpnwhwjmnpynGibpp hwitdwwnbng (1.6- 3)-ny wmpuwo t’ dwdwlwyh
L X" wwpwonipjwl ninhn dlwihnfunpjuwl hwjwuwpnuiGiph htn U hppup hwjwuwptglbnyg t-h L X-h qnpowyhglhpp,
utilip yunwlwlp htnlyw] wnlympniGGupn.

dwiwlwyh dLwthntunipjniGhg Swpwonipjul dlwthnjunipjnilhg

Bw) = B(V)B(u) - QV(V)V(U)%

yw) = W (1-g%) 1.6-11

yww = y(V)[y(Wu+ p(u)v] ywWw = y(W[BW)U+y(V)V]

4. Oquuyjklp (1.6- 2)-ny nipywo dwdwlwlh L vnumuompyuwl hwlwgupd dluginfunipyul hwjwunwpnidGephg

Qpuw hwiwp (1.6- 3)-nd mpwo mnhn dbwthnfumpjul hwjwuwpmiGtphg t'-h b X’-h wpnwhwynmpymGGtpp
wbtnunpbny (1.6- 2)-ny mpywd dwiwlwlyh b mwpwonipjul hwjunupd dlwthnfunipjul hwjwuwpniiGhph gk, Wklp
Yuunwlwlp.

t = [ Bu)Bw) - gy w) L e g Ly B w + y(u)uIx
1.6-12

X =y yyw)(1- gL x— )y ww + fwut

(1.6- 12)-n wpdwd dLwthnfunipymGGbph wpmwhwjmnipyniGiipp hwitdwwnbng (1.6- 1)-nd mpywd t' dwdwlwyh L
X' wmwpwonipjwl ninhn dlwihnfumpjwl hwjwuwpniiGlph htw U hpup hwjwuwptglinyg t-h L X-h qnpowlhgllpp, dkGp
Yuunwlwlp htnnbywy wnlynipjniGGtpp.

dwiwlwlh dLuthnfunipjnilhg Swpwonipjul dlwhnjunipjnilhg

BV) = BUBW) - gy (U yy(w) L yv) = ryyw)(1- g4W) 1.6-13
L C

YV = yW)[BUHW +y(u)u'] YWV = y(U)[y(Ww + fw)u']

5. Oquyklp (1.6- 3)-ny mpywd dwdwlwlh L unupuompyul mghy dlauinfunipyul hwjwawpndGephg

Qnu hwdwp (1.6- 1)-n npJwd hwjunupd dbwhnfunipjuwl hwjwuwnpnuiGiphg t-h U X-h wpnmwhwjmnpniGGtpp
wbtnunptny (1.6- 3)-ny mpjwd dwiwGwlyh L mwpwonipjul ninhn dlwthnfunipjwl hwjwuwnpnuiGtph dbe, dhip
Yuunwlwlp.

¢ = [ BB = g7y L o + g Lyl wpw+ B Ix
1.6-14

X' =y )y w)(1- g Y ) — B W+ 7V VI
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(1.6- 14)-n wpdwd dLwthnfunipjniGGiph wpnwhwjmnipniGiipp hwitdwwnbng (1.6- 2)-ny mpuwo t’ dwdwlwuyh
L X" mwpwompjul ninhn dlwthnfunipjul hwywuwpnuiGiph htin b hppup hwjuuwptgGhny t'-h L X'-h qnpowlyhgGpp,
utilip yunwlwlp htnlyw] wnlympniGGupn.

dwiwlwyh dLwthntunipjniGhg Swpwonipjul dLwthnfunipjnilhg
B = BV)BW) - gy (v )y (w) LI ) 7() = )y (1- g W) 1.6-15
yUu = y(V)ly(w)w+ Bw)V'] yWu = y(W)[BVIW+y(V)V']

6. Oquyjklp (1.6- 3)-ny nipywo dwdwlwlh L vnumuonmpuwl hwlwgupd dlawginfunipyul hwjwunwpndGephg

Qpuw hwiwp (1.6- 2)-nd mpjwo mnhn dbwhnfumpjul hwjwuwpmiGtphg t'-h b X’-h wpnwhwynmpymGGtpp
wbtnunpbny (1.6- 3)-ny mpywd dwiwlwlyh b mwpwonipjul hwjunupd dluwthnfunipjul hwjwuwpniiGhph gk, Wklp
Yuunwlwlp.

t= [ BWBW) - gr@yr ) W ]t + g L y@lyww' + pow

1.6-16
x = @y (1- g W ) -y )BUW + y@ult
(1.6- 16)-ny wipjwo dLwthnfumpywl wpnmwhwjnnipjniGbpp hwitdwntyng (1.6— 1)-ny wpjwo t dwdwluwyh b X
wnwpwontpjul hwljwnupd dLuwhnfunipyuG hwyjwuwpnuiGhph htin U ppup hwjuwuwpbgGimny t'-h L X'-h qnpowlyhgGpp,
utilip yunwlwlp htnlyw] wnlymnpniGGupn.
dwiwlwyh dLwthntunipjniGhg Swpwonipjul dlwthnjunipjnilhg
BV = BUBW) - gr(uyy(w) U ) 7(v) =y (1- g ) 1.6-17
YOV = y(W)y(WHW' + B(wHu] YOV = y(WH[BUW' + y(u)u]

Ujuwhuny, tptip hGipghw) hwiwlwpqbiph dhol dtlp juwmwptighlp dwiwGwlyh L mwpwonmpjul pninp hGwpwynp
hwonpuwl dLwihnfunipymGatpp L unwgulp 24 hwwn wnGsnipyniGitp: Oquytiny wjn hwjwuwpndGtphg, hwenpn
pwdlnuy, vtlp Yyuwwmwptlp Yuplnp htmlmpjnGGtp:

1.7 - Quplnp <bnlmpniGGtp Qwonpnujul JuuthnfunipyniGitph Whpwenuihg

Ujdu (1.6- 9)-h dwiwlwyh dlwhntunipynilhg uvnwgqud tpynt hwjwuwnpnudGhph Wk mbnunntiny (1.6 4)-ny
nnpjwo fuwquynp wpwgnipyntGGatph b (1.6- 5)-ny mpjwo pwquynp wpugnipyntG wupniGwlynn gnpowyhgltph
wnpunwhwjnnmpjnilGltpp, hGywtu Gwbk uunwptnyg npny YpdwnnuiGhp, dtlp junwlwlp htnbyw) tpynt wnlynipjniGGepp.

d(w) wu
WV(V)V(U)(l - 9F>

YW = %ﬂv)mu)u + BUW]

y(w) =

(1.7-1)-h wnwohl hwjwuwpniip hwitidwntiny (1.6- 11)-h mwpwonpjul dlwthnfumpjniGhg uvnwugyuwd wnwehl
hwjwuwpiwG htn Jud (1. 7- 1)-h tpypnpn hwjwuwpnudp hwdtdwntng (1.6— 11)-h dwdwlGwyh dlwhnfunipyniGhg
unwgyuo tpypnpn hwjwuwpdwG htin, dluhnfunipjwl npnphgGhph hwdwp dklp Yunwlulp htimbyw) wnbynipyniGp.

d(w) = d(v)d(u) 1.7-2
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Ujdu hpwp hwjwuwptglbng (1.6- 7)-ny, (1.6-9)-ny, (1.6— 11)-ny, (1.6- 13)-ny, (1.6—15)-ny L (1.6—17)-ny
unpjwo hwjuwuwnpnudGph hwdwyuwngbtiph tpypnpn hwjwuwpnuiGtph we Ynnih wpmwhwjmnipyniGGtipp b juwmwnpting
dhllnyG wpwgnipyniGp b wyn wpuguipynilp wuwpniGuwynng gnpowyhgltiph fudpwynpnid, dtlp Junwlwlp htnlywy Ytg
wnlynmpyniGGupn.

1y BW-—rv _ BW) —y(W)
YV y(WwHw'
2) BVH —y(v) _ B —y()
r(VV yuHu'
g By _ pW) -y
J y(V)v y(uu
4 BW) —yW) _ W) —y(w)
yuHu’ y(w)w
5 BV) —y(v) _ Bw) —y(w)
% y(w)w
6) BW) —yW) _ Bu) - y(u)
L rwHw' y(Wu
bul oquiytyny (1.6-4)-ny L (1.6- 5)-nd mpjwo pwlwdlbphg, htipn L hwinqyt] hnlyw] wnlsnipniGGtph G)wmnipjwb
k9.
(B —yv) BV - y(v)
% r(Vv
J BW) —y) _ BU) —y(u)
CO y(uu
BW) —y(W) _ Bw) - y(w)
ywHw' y(ww

UjGnithtnl (1.7- 4)-nd wupqwd welmnipyniGabpp Yhpwoting (1.7 - 3)-h dbe, dtlp Junmwlwlp dhwjl dtY wnGsnipjniG,
nnp Jufuqwo sk mnhn jud hwjunund wpugmpyniGGinhg: WyuhGpl wyn wnGsnipyniGp dGnid E GniyGp judwyjuluw b
(V, u, W) ninhn wpwgnipymGGtph b npuilg hwjunupd (V’, u, w ) wpwqnipjnGGtph hwiwp: <{bnlwpwp wjn
wnynipyniGp whwp E 1hGh hwunwnmnt G dkonipyniG, npp L dblp YGpwlwytlip <> wnwnwiwlng htnljw) Yupy.
BV —y(v) _ BW -y _ pW) —yw) _ BV)-y(v) _ BU)-yW) _ pW) - yw)
r(Vv y(Uu y(w)w % yuHu' y(WHw
Luwih np, hwdwdw)b (pngomd 1-10)-h, B L ¥ qnpowyhgllipp swhnpulwlnipyniG yniGhb, wyw pGulwluwpwun

= <, = hwumnwwnn

(1.7-5)-n mpJwo wnlympjnilp niGh wpwgnipjul hwjunupd swhnqpuyuinipniG L htmlwpwp wyy Gnp <2
hwunwunn b dtonipyniGp hwpwpbtpting mhtqpwywl € wpwgnpjwl htin dtlp Jupnn tGlp wjl qpbp htmbgwy Yhpy.
{2 = S%
Npuntn Sp dwiwlwluwnwpuontpjub tpypuyuthuyul junnigguopn pnipugpnn vh Gop hwunmwmmG dtonipymG k
L wyG pnnp hGipghw) hwdwlwpgbipnid niGh dhllngG wpdtipp: (1. 7-5)-ny nipgwo wnlympjniln gptiny dhwjl mnhn L
thwjlG hwjunupéd wpugnipniGGiph hwdwp, delp Junwlwlp htnljwy Gpynt welynpyniGatpn.
PV) —y(v) _ W -y(W) _ pW) —y(W) _ 1
C
y(V)v y(uu y(ww

B -y (v) _ W) —y) _ ) —yw) 1
y(V )V y(uHu' y(wHw' ¢

Lnotny (1. 7- 7)-nd mpywd wnwohG hwjwuwpnidGbpp B qnpowlhgltph Gyuwndwdp dblp Junwlwlp htnbyug
qtintighy pwlGwdlbpp, npnlp 6hpwm Gl Judwjulwl ninhn wpwgnipyniGGhph hwdwp.
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BW) = y(V)(L+sE)
B) = y(U)(L+sg)
Bw) = y(w)(1+sE)

‘LniGytiv ;nuotyny (1. 7 - 7)-ny wmpdwo tpypnpny hwjuwuwpmdGipp f gnpowyhgGph Guwmdwdp, (1.7- 8)-hG
hwdw@dw(, dtlp Junmwlwlp htnlywy puGwabtpp juiwjulwl hwjununpd wpugnipyniGGhph hwdwp.

BV = () (1+ %)
B = yw)(1+sY)
Bw') = yw)(1+ 5% )

B qnpowyhgGtph wpmwhwjmnipniGatpp (1. 7 - 8)-hg mtnunptiny (1.6- 4)-ny wpjwo hwjwnupd wpwgnipyniGGph
pwlwdlbiph vkg, dtlip Junwlwlp hwlwunupd wpugmpjul uwnp ninhn wpwgnipjuwl htwu.

I Vv I u I _ w
VvV = v L u = U L w = W

1+SF l+Sf 1+ST

(1.7-10)-ny npJwo pwlwdltipp motny puw ninpn wpwgnipniGatph, JGp Junwlwbp.

/ ! /
V:—L L u:_u— L W:_L

v u w
1+ST 1+ST l+ST

UjGnihtnl (1.6- 5)-n mpJwo hwjwuwpnidGbph hwdwupgtph wowehl L tpypnpn hwywuwpnudGhph dte
wbnunptiing (1.7-8)-ny L (1.7-9)-nd mpjwd B qnpowyhgltph wpmwhwjmnipmGatpp, hGywbu Gul oquytiny
(1.3- 30)-hg, vtlp Yunwbwlp htnljw| wnlynipjmGatpp.

) = F st yu) = Lk aest yo) = Lo e st
L L
_ ) / _ W) / _ ) /
’}/(V) = W(l-‘-s%) ’)/(U) = m(l-‘-S%) ’)/(W) = W(l-‘-SWT)

(1.7-10)-h, (1.7-11)-h L (1. 7- 12)-h hwiwwmbin l;hpumnuihg ublp Yunwlwlp htinbyuy wnﬁzmp]mﬁﬁhmg.

YW = d(v) =y (V)V yuHU' = d(u) —=—y(Uu ywHw' = d(w) =y (W)W

YV = ——=—y(V)V y(UWu = y(uHU' y(w)w = (wHw'

1 1,
d(u’) d(W )
bPpwp htw puqiwwuwnybng (1.7-10)-ny L (1.7 - 11)-n wipJwd pwlwdlbpp, delp juiwjuyuwl W L W mnhn L
hwjuwnunpd wpwgnipjul hwdwnp funmwGwlp htwmbyw] wnGynipyniGn.

(1+sW )(1+sﬂ) -1

d(v )

Oquytiny (1.7-10)-hg, GnyyGytiu judwjuywi W wpugmpjul hwdwn, dtip unwlwlp htnbjw) welynipymGGatpp.

e /

w _ w
1+ 1sW 1+3s¢

1w 1+%S%

< rose = e

C

2

1+sﬂ+gL

1+sW +gW2 =—
(l+S )

\
Lwiwwnbn Yhpwoebiny (1.7-12)-p L (1. 7- 15)-h tpypnpn hwjwuwnpnudp, judwyjuwli W wpwgnipjul hwdwn dblp
Juunwlwlp htnnbyw] yuplnp wnGynipyniGp.

y(w’)(1+%sWT') d(W)y(W)(l+ 1sW)
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buy (1.3- 34)-h uti9 mbnunptny (1.7-8)-ny L (1.7-9)-n] mpjwo f qnpowlhgltnh wpmwhwjmnpnGGtpp,
quiwjwlwl W wpwgnipjuwl hwiwnp dtlp funwlwlp htnlyw) wnlymnipjnln.

1+ Sﬂ 1+ sﬂ,
YW)yw') = BW)pW') = = c —-—L _>o 1.7-17
W w' w2 ww/
1+s—+g— 1+ST+gCz 1-g9 2
(1.7-17)-hg htimlmd £ Guib, np Judwjwiuwl W L W mnhn b hwuwnupd wpugmpjwG hwdwn Shpwm wnbnh nGh
htnlyw| wnlynpymGn.

/

WW
g 2
Gpt wjdd (1.3-28)-ny L (1.3- 31)-ny mpjwo npnhsh wpnmwhwjunipyniGGtph ke mnunntiGp S(v)-h
wnpunwhwjnnipyniGp (1.7-8)-hg b B(V')-h wpmwhwjnnipjniGp (1.7 - 9)-hg, hGsutu Gul yaphpptny (1.3-29)-p L
(1.3-37)-p, wyw dkGp dv) L d(v') npnphsGtph hwdwp GunwGulp Gub htnbjw) puGualbpp.

<1 1.7-18

dwv) =y (v)(1+s )(1 g—) +0 dv') = y3(v' )(1+s—)(1 g—) +0
L 1.7-19
d(v) = yz(v)(l+s% +g‘C’—§) £0 dw') = yz(v’)(1+s— +g—) +0

bpwp htnn puqiuyuwunytiny (1.7- 19)-ny upgwd hwjwuwpnuiGtiph hwdwlwpgbtph tpypnpy hwjwuwpnudGpp b
wjGnthtiml oqunytiinyg (1.3- 30)-hg L (1.7 - 17)-hg, vtilp Junwlwlp httmlyw] hwiwswih wnlsnipniln.
) quiytiny ( hg hg Py D il Juith smpyniln

2 '\ 2
(1+s% +g#)(1+s— +g—) = (1—g%) 1.7-20

Ujdd (1.3-35)-ny mpywd npujul b puguuwlul duwthnfunipyniGGiph wwjdwlh vt mtnunptinyg judiwjuywi w
wpuwqgnipjwl hwiwp W) L W) gnpowlhgltph wpnmwhwjnnipniGatpp (1.7- 8)-hg L (1.7- 9)-hg, hGswtiu Gul
ytiphhptny (1.3- 11)-p, dtlp Yumwlwlp htnlyw) Gnp wwjdwGGbpp.

Qpwlul dlwthnfumpniGGtn Puguuwlul duuthnfunipjmGGtp
1+s—>0 1+s—<0 1.7-21
L
1+ ST >0 1+ ST <0

UjGnithtinl oquuytyny (1.7 - 21)-nd mpywo npujul - puguwuwul dluwhnfumpyniGGph Gop wwjdwlhg L
(1.7-17)-ny mpJwd wnlynipjnilGhg, upnn Glp tgpuyuglt] np judwjujul wpuwgnipjul hwiwp ngpuul L puguuwlub
dLwthnfumpyniGGtph wuydwGp dklp Jupnn tlp qpt Gul thwuhG htnbyw) Yupy.

Qpwlul dhwthnfumpniGGtp Puguuwljul dLuthnfunipjmGGtp
W W
l+se >0 . l+se <0 1.7.92
1+s +g—>0 1+s +g—<0
Oquytiny (1.7 - 19)-ny mpywd hwjwuwpnuiGph hwiwwpgtiph tpypnpn hwjwuwnpnudGhphg, hGywtu Gub
hwiwdw)G (1.1- 20)-h L (1.7 - 22)-h, npwul L puguuwul dbwthnfunipyniGGtph wwydwGh, JGp Jupnn GGp npnpty
y(v) L y(V) gqnpowyhglbph wpnwhwjmmpjnGiipp gpuijui b pugwuwywt dlwhnfunipymGibph hwdwp htnlgwy Yopy.
Dl dlwthnfumpyniGGhp Puguwuwlul dlunhnfunipjniGGtp
- -
[d(v) [—d(v)
rWV) = ——=——=->0 r(v) =
1+s¥ g 1 +s¢ +9%
(TS0 \/ Ie 1.7-23
< b <
d¢v' [—d(v'
y(v) = ———— ) >0 y(v') = v) >0
l+sT+g? \/ (1+s—+g—)
\ \
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Canqomd 1-14 - ©@ymd | pt punjulpwl F (1.7 - 23)-p dbp plignmilly d(v) = 1 (G np Gyl F plgmiGl; d(V') = £1)
b dblip hbpmmpyundp fupny Glp npnplky y (V) qnpowigh wpdlpp (qunf y(V') qupowlgh wndbpp): Puiig dplsh Jipg
UGhytno jhlbm hunfwp whup Fwaly np (V) = £1 plpmGEmpymGp qudwpwlwG F L sp pfumd (1 - ) -ny upguwo
Qwywiwl hwpwpbpuwliwlnpjul humml mbunipywl hhdGunpngplbphg: <tumlwpwn y(V) qupowlgh wpdbpp quilhng
hwdwp Jhlp whup F npnlGhlp J&l wy dwlwupwph, npp pfup dbp hwpupbpuwlnippuG hhdGunpniplbnhg:

Oquytiny (1.6- 7)-ny, (1.6—-9)-ny, (1.6— 11)-ny, (1.6— 13)-ny, (1.6—15)-ny L (1.6— 17)-nJ mpjwd
hwjwuwpnuiGiph hwdwlyuwpgtiph mwpwonipjul dluwthnfunipjwl hwjwuwpnuiGtiphg b Gpypnpg hwjwuwpnudGhpp
pwdwlbing wnweohl hwjwuwpniGph Yypw, hGswtu Gul oqumugnpotinyg (1.7-8)-ny L (1. 7- 9)-nd wpJud pwlwdlbipp,
utilip yunwlwlp (V, u, W) L (V’, u', W’) hwpwptpwwl wpwgnipyniGGiph thol qnynipyniG niGtgnn pninp wnlynipjniGGtpn:

¢ (1.6-9)-ny L (1.6- 11)-ny wnpyfuwo mwpmuompyul dluuhnfunipywl hwjuwuwpmdGhphg, dblp juuwGulGp

W ninhn wpwgnipjul hwdwn W hwljunupd wpugnipjul hudwn
u+v+syh , u/+v’+s% 1.7-24
W= ——g7— L w=——_ >
1-gWl vy
c2 1- g—Cz

¢ (1.6-7)-ny L (1.6— 15)-ny wnpyfuo imwpmuompyul dluuhnfunipywl hwjuwuwpmdGhphg, dblp juuwGulp

U ninhn wpwgmpjuwl hwdwp U hwljunupd wpugnipjul hwiwp
W+V/+S\/TW , W’+V+SWVT/ 1.7-25
VT vw L VT T
\'
-0 -9

¢ (1.6-13)-ny L (1.6-17)-ny npjwo mwpwompyul dhunhnfumpyul hwjuuwpnidGbphg, Gip

Juunwlwlp
V ninhn wpwagnipjul hwdwnp V' hwjunupéd wpwgqnpjul hwdwp
WU+ sUW , wWrursd 1.7-26
V= u'w u V= uw'
S S

Oquytiny (1.7- 10)-ny nipJwd hwjunund wpwqnipymGatph Jud (1.7 - 11)-ny nipdwd minhn wpwgnipniGGhph
pwlwdlbiphg, vkGp (1.7-25)-ny L (1.7- 26)-ny npJwd wpwgnipjul dlwhnfumpjwl pwlwdaltpp, (1.7- 24)-ha
hwdwGdwd, Jupnn Glp GniyGybu wpnwhwjnb] jud dhwjl ninhn wpugnipyniGGtpny L juwd £ dhwyG hwwnupé
wnpuwqgnipjniGGtpny, hGywtiu gniyg £ vipud unnpl:

¢  (1.7-25)-p wpunwhwpnygwo dhuyl mghy wd gyl hwluonunpd wpaognipniGGepny, §ihGh

U ninhn wpwagnipjul hwdwnp U hwjwnupéd wpugqnpjul hwdiwp
- Wy L u = w =V 1.7-27
! Y4
l+sg+glf 1+s% +gVCV2"

&  (1.7-26)-p wpmwhwymywo dhuyl mohy jwd dhuyld hwlunupd wpuqnipim GGhpny, GhGh

vV ninhn wpwgmpjul hwdwp V' hwljunupd wpugnipjul hwiwp
_ \ﬁ_u - L v = w —u 1.7-28
! Y4
l+se+0 5 Lesit + gty
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(1.7-24)-h dwfu Ynnih hwwuwpnudp dGGp Jupnn GGp hwdwpb] nputiv Gpynt ninhn wpuwgnipynGGtph gnidwpiwG
pwlwdl, npp Yupnn tlp gptip hbmlgwy Yhpy.

buy (1.7-27)-h dwlu Ynnih hwjwuwpnudp dkGp Jupnn Gap hwiwnt] npybtu Gpyne ninhn wpwgmpyniGGtiph hwGiwG
pwlwdl, npp Yupnn tlp gpti) hbnbgwy Yhpy.

wW-—-V

u=wev=_—W=-V ___
1+sg +g W
c

LGnqond 1-15 - (1.7-29)-ny & (1.7 - 30)-ny wipywo wpwaqnipini GGEph gnidwpdwl b hwidwl puGudlbpn JilGp
Qupng Lhlp vunwbuy Gul (1.5-7)-p L (1.5- 6) - wnwohl hwjwuwpnidGhphg, wylnky mbnuagnpbmy BV) qupowlgh
wpuwhwjmmipnilp (1.7 - 8)-ag:

(1.6-7)-ny, (1.6—9)-ny, (1.6—11)-ny, (1.6—13)-ny, (1.6—15)-ny L (1.6— 17)-ny mpywd nwpwonipjwub
dLuthnfunmpjul wnweohl hwjwuwnpnuiGhpp hwinhuwlimd GG Yy qnpowlhglGtiph pninp hGwpwynp dLwthnfumpjnGGtpp,
nnnlp shwuhG qpywo YhGkG.

Dy = ?’(U/)V(W)(l - 9%—2"’) 4 y() = y(u)y(w/)(l - g%)
2) 7w = 7V yrw)(1- gLy ) u 5 7(W) = yyw)(1-g¥L)

—

3) y(w) = y(v)y(u)(l— 9oz 6) y(w) = y(v/)y(U’)(l— 9%)

Canqomd 1-16 - y gmpowlhhgliph L wpwqnipimGGhph hunfwp dbGp juwpng Glp wnwlwy puqnid wyy
wnlsmpniGabp, npnlp oquuulpup [phGal Jhq «uwylwlwl Swpupbpulwlnpul Ubpwlhlugh Sbunipjuly qunnigdw i
hwiwp U gmulg htwn plpbpgnngp Juwpng E owlnpwbuy (hwybpjuwo 1) -nid:

61 yippwwtiu, (1.7-8)-ny L (1.7-9)-ny mpwo S qnpowlhg-dniGlhghwyh wpmwhwjmnipyniGitpp mbnunpbinyg
(1.3-38)-ny nnJwo hwpwpbpuwyuwb wpddwl mnhn L hwjunupd dbwthnfunipjul hwjwuwpndGhph gk, dkGp npuip
Jupumwhwjntbp shwyG y gqnpowlgny hGswtu gniyg & mupgwod unmnpli.

Mnhn dLlwthnfumpyniGGtp {wjununpd dbwthnfunipymGGtp
t = y(v)[(1+s%)t+gc—"2x] . t= y(v’)[(l+s%)t’+g::’—;x’]
X = y(V)(x—vt) X=y(V)X -Vvt)

CGnqomd 1-17 - (1.7- 32)-ny wipywo hwpwpbpulwl pwpddwl dLunhnfunipyul hugwuwpnidGipn 0bGp
Juljubblp - hupwpbpuluGmpyul homml mbumpyuwl <wylwlwl dhanhnfumpyul hwjuwowpmdGep Juwd fpounn '
{wjfwlpwl dLhunpnfumpyul hujuuupnidGbp, npnbny Jblp nhe whnp b npnpblp v qnpowihg-pniGhghuih
wpuwhwpnmpiniGp: Uy wihwnm qupowhgn npnpbym hwdwp G6p whnp b oquuugnpoblp hwpwpbpuwljulnipjul
hpdGugpnygph U6l wyy ' wybh pphwlnp uoon, hwdwduyl nph dwdwGuluumwpuompul gk bplm Qudwjwliuli
wunmuwhwplbph dpol bpwo hbnwynpmpniGp niGh Gny G hwGnuohwpyulpu G mbupp popnp pGbpghwy hwdwlpupgbpnod: b
Uhoh wyng (1.3) pwdbnid hpungwo hwpwpbpulpuGnipywd hhdGugpngph snpu hunnlmpyniGGepp hwlphuwGnd BG
Ybepnlyjwy wdbkGwnplnhwlnn hwpwpbpulwinppul bhdGwnpnngph mwppbn dwulwynp gbuypbpn dhwgd:
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1.8 - Cwpdiwl UGhwiwswhmpjub {wjnGwpbpnuip hGtipghw) Lwdwyupgtipnid
L {wyunhp hGtpghw) <wdwyupgtiph Uwhdwlnuip

bhqghynultipp htmwgnunnd GG phghyuyh mwpptip pwquyuelbipnd dwpdhGGph hwytjwyhG winpunupduo
wnpdiwl hwdwswithnipjul yuwhwywGdwb hwpgbipp, npybugh Mokl puquwphy mbuwlwi funhplbp, hGswbu Gub wyth
(wy hwuwlwb vtq 2ppwwwwmnyg Upfuwphp: Qpw hwdwp wmtuGhGp pbt hGutu £ imoymd wyn fuGnhpp Lwjyuyua
hwpwptpuyuwlmpjul hwnnty mbunipju dhe:

(1.7)-nn pudimd wpowoywd tpynt hGhpghw) hwiwwpgph hpwp Guundwdp niGhigwd ninhn L hwjwnwupd
hwpwptpuyuwl wpwgnpyniGitph pugupdwy dtonipyniGGiph wihwywuwpnpjul hwpgp wihpwdtym £ hwiquiwlnpbG
pGGwnyt) htmwqu wihwuljuwgnnnipyniGGtphg fjuntuwthbnt hwdwp: Utp wnopjw thnpéhg L dhGsk wydd plngniGywuo
wpfuwphh phghyulwl pdpnlnuihg htinmlnid £, np hppwp Giunmdwdp hwdplpug hwpwpbpuwlw6 pupddwl dk9 quynn Gplym
hGtpghw hwiwywpgbph ninhn L hwjwungupd® <V L V’), hwpwpbpuywl wpwgnpyniGibph pugupdwy dtonipjniGGtpp
uwtinp E 1hGEG hpwp hwjwuwp b npuibp ninnjuo whwp E 1hGhG hpwp hwwnhp nipnuipjundp: Uwpbidwnhynpbl nu
wpunwhwjuynd L wjuybu.
=-v 1.8-1

hGyuytu tplnd £ (1.7-10)-ng L (1.7- 11)-nY mpywo pwlwdltiphg, <wjjuiwl hwpwptpwlwingpjul hwunnty
wbtunipjul vk, wiklGwplnhwlnig nhiypmd, hwjunwnd wpugnipyniln sh pwduwpupnd hwgtijhwihl winpunupddwl
hwjwswihnipjuG (1.8- 1)-ny mpywo ontilphG, wjuhGpG wjl pwumymd t: bhwpyb wyn thwuwnp sh hwwund dbp
wnopjw YhGuuwihnpdhG, pwjg dwjnwhtn wwpwqubbpnd (@npp Uptuwphmd), tpp S # 0, wyl sh wwhuywGynid:

CGnqomd 1-18 - Swlhwnuwpd wpwqmpyniGGbph wlhwdwswiinipywl hwwnp dfpn F s dhuyl hlEpghuy
hwdwlupgbph hpwp Ghunndwdp nbbguo niphn L hulwnupd hupuopbpalpu G wmuognipjuG hundwp, wyy hudwdwl
(nlingomd 1-12)-p, wyl apypw I Gul gullugwo hGbpghwy hwdwlpupgmy udwpwlwl pupdyng thopd GuilulG dwulGhih
wnugnipjul L wyn yinpd Gl dwuGhih hwybjughlG wigmunupdgwo pupddwl wmugnipjul hunfup:

Ltnlwpuwp dhGp wyhwp L hwyumytlp wjl dmph htwn, np wdkGuplnhwlnip ghypnid (ophGuwy mwppuwl JwuGhyGhph
pnyy] thnfuwqnbgnipymGGtph nhiypnd b wyiG6), mwpwonipjul hwjbkjhwihG wingpunupduwd pupddwG (1.8- 1)-ngd wpfwd
wpwqgnipjul hwwswihnipjuwl optlpp L wj $hghyuyub dtompniGGtph «wlybGhwyjmy» hwdwswihmpmniGGtpp Yud
hwlwswihnmpyniGltpp GnyGutiu upnn GG swyywhwwGyby:

Nputugh JupnnubGwbp wpniGuytp hwjtjughG winpunupdquo pwpdiwb wihwiwswihnipjub thwunh puGwlului
htitmwgnunnuip, dtlp whwmp E vwhdiwlblp hwwnhp hGipghw) hwdwlwpgbpp, hGysytiu Gub ninhn L hwwnhp hGipghuwy
hwiwlwnpqbipnud dhtlny G $hghjuywl dtonipyniGGtpp hpwphg mwppbptine hwdwp dhip whnp & ywjiwlwynpytlp
oqunugnndt mwppbip GuluwyniGhn:

Uwhiwlmu 1-2 - &Gpt qudwjwliwi K' L K pbhpghuy hudwlwpgbpp (uophly jundf dwjughly) dkGp hunfupbGp
niphn plbpghuy hunfwlupgbp, www win hGhpghuy hwdwlpupgbph Ghunndwdp nmwpwonpul huybjughl wipnunupdywo
(gpdwm ' hwybjughl wlgmunupdywo) hGepghuy hwdwlupgbpn SEGp QuwlyuGEGp hwlpughp hGEpghuy hwdwlupgbn: Gi

nmybugh wyn muhn L hwilughp hGEpghuwy hudwlupgbpn JupnnuwGulp pmuphg uuppbply, wjunthlml L dfipm, pon
wlhpuwdbpmmpyul, dalp joquuugnnotlp hlinlyuwy GrwlwlmdGhpn:

Minhn hGtpghw) hwdwlwpgbiph hwdiwn {Jwlunhp hGipghw) hwdwlwpgbph hwdwp
® i} 1.8-2
=
— «—
K K

Dhulj npuybugh, mghn L hwlughn hGEpghuwy hudwliupgbpnid, dalp Jupnpubuwlp thopd Gulpuwl dwulhyp plnipugpng
pomp phghlpuluu dbonmpimiGGbpp GnyyGwbu imuphg mwppbply, www gl hudwnp Lo 0G6Gp Joquuugnpotlp GlwGunnhuy
GrwlGwlmulGbpp, hlswhu gnijg b wmpguwo winnpl snpu phghlpulul dbompniGGaph hwdwp.
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& [Ighn hGEpghwy hwdwlwpgbpnd

!
K ninhn hGpghw; hwdwlwpgnid K ninhn hGpghw; hwdwljwpgnid

r

! e
dwdwtuwly - t dwiwGwy - T
SwpwonipyniG - X Swpwonipnil - X 1.8-3
!
3 UpwgnipyniG - U= ﬂ, = < Upwgnipym@ - W= ﬂ_}
dt dt
_ aw
Unwqugntd - b= % Unwqugnid - 3= d__’
dt ~ t
\
&  wlhuwnhp hGbpghuwy hwdwlupgbpnd
!
R hwlwnhp hGtpghw hwdwjwpgnd R hwlwnhnp hGpghw; hwiwwpgnid
6 ! e
dwiw Gl - t JwdwGwy - T
Swipwompjmb — < SwpwonipyniG — K 184
!
< Upwqmpynil - U= ﬂ, = < Upwgnipym G - W= ﬁ‘_
dat dt
< _ dw
Upwqugnid - b= % Upwqugnid - a = dT
dt ~ t
\
!
Uylinthtnnl JbphfipGimy, np R Abbepghuwy hwdwlupgh Ghuwmdwdp R hlbbpghwy hwdwlunpgh pwupdvwl v
!
hwpwpbpuwlul wpwgmpyniGp J6Gp whywlly LhGp mghy hwpupbpulul wpuqmpniG: buly puiGh np K Jbbpghuy
hwdwlwnpgh Ghunndwidp R hbEpghwy hwdwliwpgh V' hwlwnupd hwpwpbpulwl wpuqnipiniGp phghluwbu gu R nighn
!
NGhpghuy huwdwilwpgh Ghunnduwdp R hwlughp hGbpghuwy hwdwlupgh wpuqnipimiGa F, wupw pGuluGupun J60p wyli
QuluwGbEGp hwlwnhp hupupbmulw G wpuqnipm G: <Gumbawpwp mighny L hwlwnunpd hopaupbpalwl wpauqnpini GGGph
hwdwn Gnylwbu dhpwm 66 hlinlywy G wlwinidGhpn.
(inhy hwpwpbpuwlu G wpugnipint G - v=1V 185
Swlhwnupd hwpuwpbpulwl wpuqnipin G - vV =y '
Uyuwypuny, hwidwduyb (plngomy 1-12)-p, (1.7-10)-h L (1.8- 5)-h, myhy L hwlwghp hwpupbpaulul
wmuqumipniGGhph hwdwn GnyGwbu chpm GG hinlywy wnlsnipint GGLEpn.
VA
1+ s%
1.8-6
V-V
v
1+ ST
Utilip whwp b GnyjlGwbu plpmGhp, np bph popnp nighn plhpghwy hwdwlwpgbpp pugwmupmd &6 (1 — Q-) -ny wmpgwo
ulgqpluwlwl Jhdwlh wuydwlhl, wwyw pGulwbupwn ponp hwlpughp pGepghwy hwdwlwnpgbpp ' wjuhlpl huybughlG
whnnunupdywo hGhpghwy hudwlupgbpn Ly whnp b pudumunpbl Gngd ugqplulul Jhawlhh wupdwGhi:
704 _t’:_t’,:_t’” =.=0 wuyw ‘t_:‘t_,:‘t_” =.=0 1.8-7

61 htanlaupwp niphn L hwlpunhp hGepghuy hwdwipupgbph uhqpbuyinbpn hwdpGylnd GG apwp hian
wmwpwonmpywli 0 Jlnnid:

Canqomd 1-19 - (1.8-2)-ny, (1.8- 3)-ny/, (1.8-4)-ny L (1.8~ 5)-ny/ inpyjwd phqhlyulpl dbompimG6Eph Jpw
ppwo Ghnp Grullepn (hwswh phqhlpulul umupuwompyul dbe) b6 Grubuwimd npnmpnil gnyyg unfng Jblunp, wjy
wwpquiybu Glupugpnd &G wyl hunnnp, np pwupdmdGhphg dGip dalp wuydwGwipulnnbl plgniGly GGp np wmbnh F niGaGnnf
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nighn hlGEpghuy hwdwlwpgoid, huly dinup' hwlpoghp (mwpuompyul hwybjughl wipnunupdywo) hGhpghuy
hwdwlwpgmy: bul bnwswh mwpuonipyul Uk Jhlpnnnph GwlGhpn hufunybu Gplnipugpbl Jelmnpulpul phghlulul
dbompymGlbph mgnmpniln nwpwonpjul dhy.

Quiwdw)l (pingdomd 1-12)-h L (1.8-5)-h, K' L. K ninhn L hwiunhp hGhpghw) hwdwlupgbpn uidwjuljw

thnpdGuwl dwulhyh ninhn b hwwnhp wpugnipyniGaaph dhol GnyyGutiv mbinh mGt6 (1. 8- 6)-h6 hwiwGiw G htnlgwy
wnGsympyniGGtpp.

fo——U go__1
1+s% 1+s%
L 1.8-8
- -
1+s% 1+s%

(1.8- 8)-hg httmlimid £, np udwjwwl W wpwgnipjul hwdwp dklp JunwGwbp (1.7 - 14)-ny mpywd wnGsnipjnilp

Jayunnpuwywl Gugpnipjudp.
W W\ _
(l+SC>(1+SC>—l 1.8-9

Ujdd oquytiiny (1.8- 3)-ny L (1.8-4)-nd mpwd GpuwlwyniGtphg, hGywbu Gul (1.8- 8)-ny wpgwo thnpdGuwljwb
dwuGhyh nmnhn b hwunhp wpuwgnipyniGGtph dhol tnwd wnGsnipjniGGtnhg, qunitbGp K' L K nhn b hwywnhp hGipghwg
hwdwuwnpgbtipnid, dhlniyG thnpdGuyuG dwulhyh wiguwo dwudwlwlh L mwpwonipjwl dhol tinuo wnlsnpyniGGtpp: pw

!
hwiwp GGpwnptlp np Kuk hwluwnhp hGapghw hwiwupgbipnud Jupdynn thnpdGulwb dwulGhyh wigud dudwGuyp L
!
wnwpwonipjnilp, witGuplnhwnip nhypnd, Jupuqwo ta R L R ninhn hGipghw) hwdwywpgbtipnd GniyG thnpdGuyw
Jwulhih wigwo dwiwlwlyhg L mwpwonipjnilihg htimbywy Yhpy.

& 1 R habpghwi hwdwywnpgtph dhel K u K hGbpghwy hwswywpgtnh shol
ct = 51(0? ) +&X ct = gl(c?) +ER 1.8-10
' ’ =
Y, = nl(c_t) ) + 1]27 X = U1(0?> + 7727

(1.8-10)-h dti9 oquuugnpdJwd (£1,€2) L (1,1n2) wlhwjm gnpowyhgGpp yuwuqwo sk6 ninpn juwd hwljwnhp
hGtpghw hwiwlwngtinh pGupnipjniGhg, hGyytiu Gub gpubp yuhugwo skl hGhpghw) hwiwlwpgbph hwpuwptpulywi
wpwqnipyniGGtphg: Utp Gyuwunwy b npnpt) wyn wihwjn gnpowyhgltipp: 9pw hwdwnp oquwgnpotinyg (1.8-3)-ny L
(1.8- 4)-n] wpqwd GruGwlyniGhpp hwoyklp hwiplpwug Jwpdynng thnpdGuyuwl SwuGhyh wiguwd Swiwwyuwphp K L K
ninhn L hwlwnhp hGipghw hwdwywpgbtiph vhol hmlyw Yhpw.

! !
K u K hwywnhp hGtpghwy hwswywngtpnud K u K nugpn htpghwy hwiwyungtpnu
% =07 - &(c7) X -1t - L(ct) 1.8-11
=
% = WE = W(cY) % =wt = ¥(ct)
(1.8-11)-ny npnpywd mwpwonipjul wnwlgpwpytph wpdtpltpp mtnunptny (1. 8- 10)-h dky, dtlp YuwmwGwip.

<! -/ — —

K L K hGtpghw; hwdwlwnpgbtiph dhol K L K hGtpghw) hwiwwpgbtph dhol
/ / —

ot = (e l)(c?) 6t - (&+& % )(c7) 1812

/ ! = « =
%(CT) = (T]1+T]2%>(C_t’> %(CT) = (T]1+T]2%>(C_t’>
!
(1.8-12)-h by, tipypnpny hwjwuwpnuiGhpp pudwtng wewehl hwjwuwnpnuiGhph Yypw, dtlp Jumwwip K uk

!
hwlwnhp hGepghw hwiwwpgbipnid thnpdGuwywl dwuGhyh pwupdiwl wpuwgnipyniGabpp wpmwhwjnywo R L R ninhn
hGtpghw) hwiwyuwnpgtipnid GniyG hnpdGuywl JwuGhyh Jwupdiwl wpuwgnipyniGGtpny.
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%= 711+712% L
§1+§2%

fy _ mtnec
W mrnec

3

w

=
Git+& W

Jwdtiwwtiny (1.8- 13)-ny unmwgwd wpryniGpn (1.8- 8)-ny wmpywd hwljwnhp wpwgnipjuwl pwGwdltiph htim, dGip
dhwpdbtpnptG Yupnn GGp npnptp (€1,€2) L (n1,72) wlhwjm qnpowlhgltpp, npnlp YniGhGwG htnlyw) wpdtplbpp.

{an
S2=s

n=0
nz=-1

!
(1.8-14)-nd npnpywd & L gqnpdwlyhglGph wpdbpGhpp mbnunptiny (1.8— 10)-h kg, tklp YunwGwlp tpynt K u

!
R hwlwnhp hGipghw hwiwywpgbipnid thnpdGwlywl Ywulhyh wliguwod dwiwlwyh L mupwontpjul juwnp R L R ninhn
hGtpghwy hwiwyuwnpgtipnid Gnyy6 thnpdGuwlwl dwuGhyh wligwo dwdwlwlh L mwpwontpjub htin.

P !
K L K hGtpghw) hwiwyupgtph thol

! -/ /
ct =ct +sX

%=

K U K hGbpghwy hwswywpgtnh shol

CT =ct+s%
%=X

(1.8-15)-hg uklp Yunwlwlp K' L K mnhn L hwljwnhp hGipghw; hwdwljwpgbpnud Jupdynn thnpd Guyul

dudwlwlh b mwpwonpjul nhdptintiGghwyGtiph htmlgw) juwn.

P !
K L K hGtpghw) hwdwluwnpgtiph dhol

cdt = cdt +sdX'
dx’ = —d¥’

K u K pGtpghwy hwdwywpgtph shol
{ cdf = cdt +sd%

dx = -dx

!
Oquiytiiny (1.8- 15)-hg dtlp Yupnn LGp npnptp Gul K uK ninhn hGipghwy hwiwywnpgtipnid wpdynn thnpédGuywb

dwulGhyh

!
dwulhyh wigwo dwdwlwyh b mwpwonipjul fuwp R L R hwlwnhp hGipghw hwiwwpgbpnid Gny6 thnpdGuwlwb

dwulhyh wigwo dwdwlwyh L mwpwonipjul htiwn.

! P
K L K hGtpghw) hwiwupglph thol

—/ ! /
ct =ct +sX

X =X

K u K hGbpghwy hwswywngtinh shol

CT = CT + X
X =-X

(1.8- 16)-hG hwiwGdwd, (1.8— 17)-hg dklp yunwGwbip K' L K ninhn L hwwnhp hGepghw hwdwwpgbpnug
wndynn thnpdGwlyuwl dwuGhyh dudwlwlh L mwpuwonipjul nhhptiptlGghwGtinh htmlyw uwp.

! P
K L K hGtpghw) hwdwlwnpgbtiph dhol

cdt = cdf +sd%'
X' = —d%’

K u K pGtpghwy hwiwywpgbph shol
{ cdt = cdt + sdx

dxX = -dx

Oquuting K’ L K ninhn L hwiunhp hGpghw) hwdwyupgtpnd (1.8— 3)-ny b (1.8— 4)-ny wpfwd thnpd Guljwl

JwulGhyh wpwgnipyniGGtph vwhdwlmdhg, dtGp (1.8—- 16)-hg L (1.8— 18)-hg Ywunnn tGp npntp ninhn L hwwnhp

dudwGwlGtph nhddtiptlghwGlinh dhol inwo htmlyw fuwp.

P !
K L K hGtpghw; hwdwlwpgbtiph dhol
dt’ - (1458 )dt’

dt’ - (1458 )dt

1

K u K pGtpghwy hwiwywpgbph shol
dt - (1+s% )t

a7 - (1+s% )T
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CGnqomd 1-20 - (1.8-15)-ny & (1.8~ 17)-ny mnwgywo wpnmbpGepp Gnp pnyju 66 wpnnid phqhlwnd
hwynbGupbpdwo hwdwswihmpywd fpwfumdwl (P hwdwswihmpiuld fuwfumdwl) iwomp Jpw: <wdwduwy G <wjliwlwl
hwpwpbpwlwlmpul hwmntyy mbunipywd, ns JeumwpwlwlG phghliulwl dbompimGGapp (Gudwbwlp, quiqyuon,
Lwqnubdhwlp L wyl...) mwmuompyud hwybjughl wlpnunupdywo hGbpghwy hwdwiwpobpmd, i nwppbpnipiniG wpnh
Dhghyuyh wumbbmugdwl, hmpnfumd 66: Gdwlwwybo hwybjughl winpnununpddw nbhypmd Jhlpmnpaulu G phghliulul
dhompymGGEpn (wpwqnipynilp, wpwquignidp, puthn b wyd...), pugh mmpmipniln ppokinig, npuwlg pugupdwl
dkompymGGEpp GnyyGwbu hnginfudnid BG: buly npny phoplwlwl dbonpmiGGhp ' qnponnmpul hGmbopnuyn, Faepghwl L
wyl, huybjuyhl wippuqupddwl phypmd dGnd BG wihninfu (hwgbpjuo 2):

L2tlp np (1. 7)-pn pwdind unwgwo pninp pwlwdbbpp dtGp Yupnn Glp qpby GoyyGnipjwdp, dhwjG w)l
wnuwppbipnipjudp, np ninhn wpwqmpyniGGtph hwdwn foquuagnnotilp ninhn yaumnph Gowln, huy hwjunwnpd
wnpuwqnipjntGatph pwqub)wGh hnfuwpbl Jogumuwgnpotilp hwliwnhp Ytunph Gpulp: {witluw)l nhiyu dklp wihpwdtynm
tilp hwdwpnid npnp pwlwdlbp dheptipty wjuwntn yaiunpulwb GQugpnipjudp, npnp dkilp oquuagnpotint tlp wju L
htimwqu pwdhGGbpnid:

Qntlp dLwthnfumpjwl npnphsGtph dhol (1.3 - 30)-ny mpywd wnGsnipjnilp.

d(V)d(V) =1 1.8-20
‘LnyyGwhu gptlp (1.7-19)-ny npdwo hwjwuwnpnuiGtph hwiwlwpgbph tpypnpy hwjwuwpnudGepp.
2
d(?) - 2()(1+5% +9%; ) # 0
) 1.8-21
d(7) - (M (1+5% +0% ) »0
UhwuhG gptlp Guwbl (1.6-5)-ny L (1.7- 12)-ny mipqwo wnGsnipjniGGtpp judwjwul W wpugnipjul hwdwp.
= W
(W) = EG)) = ( ) (1 + s—)
— —)
. .
(W) = ﬁ(w) = y(w) (l+SE)
(— (—
d(w)  d(w)
bGywtu Gl gptGp (1.7 - 13)-nd mpywd wnGsnpyniGatpp judiwjwyuwl W ninhn L hwwnhp wpwgnipjul hwdwp.
W= -——L_y (@)W
(W) d(w) v (W)
y(W)W 1 y(W)W 1.8-23
dw)
Qptlp Gub yayunpuywb Gyugpnipjudp (1.7-17)-nd mpdwd htimlywy juplnp wnGsnipyniGp.
- «
1+sW 1+sW
(W) () - (B - —= - e 0 1,824
1+ST+9% 1+sﬂ+g— l-o°z
Ujdd oquytiiny (1.8- 3)-ny, (1.8—4)-ny L (1.8-5)-ny mpjwo Grubwynmiblnhg, qptiGp (1.7 - 32)-ny mpjwo
Jujjulywl hwpwpbpwlwinpjuwl hwnmly wtunipjul ninhn L hwjuwnupd duwhnunipjuwl hwjwuwpnuiGhpp
Yhyunpulyw Gyugpnipjudp, shuy K L K ninhn hGipghwy hwdwlwpgbnh hel:
1. {wyjwlwl dhunpnfumpyul hwjwuwpmdGbpn _K’, L R vhwyl nighn hGbpghuwy hwdwlwpgbph dhgl
Minhn dLbwthnfunipynGGhp {wjunupd dbwthnfunipymGGtp
T =y (@[ (1+5L )T+ 0 2] T-y(D[(1+sE)T + 07 ] 1.8:25

X =y (W) (X- V)

— (W)X -97)
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LGnqomd 1-21 - Eph (1.8 25)-unpyjwd mphn dhunpnfunipyul hwjwuwpnidGhph hwiwlwpgp noblp pumn (?,?)
wnwligpwpybph L wjGnhltanl gpulg dke Ghpwntip (1.8— 20)-ny, (1.8— 21)-ny, (1.8— 22)-ny L (1.8— 23)-nyf tpjuuor
pwlwdlbpn pun wlhpudbpnmpul, wwyw JhGp qunwbwlp (1.8- 25)-npywo hwlpunuinpd dLhunhnfunipjul
hwyjwuwpmdGhpp: <Gnlawpwn (1.8- 25)-ny wpywo mghy L hwlwnupd dhunpnfumppuG hwjuuwpnmdGapn hpblg Ske
hwlhwunmpim b sb6 wwpnt Guinig:

Ujdu dtlp guwlwlnd tip uvnwlw <wjjuiwl hwpwpbpwluingpju hwnnty nhunipjwb (1.7 - 32)-ny mpdwo ninhn
L hwjuwnupé dLuwthnfunipjul hwywuwpnuiGhpp yeumnpuwub Gpugpnipjwdp, dhwjG ‘IZ, L R hwlwnhp hGipghwy
hwiwywpgbiph dhol: Fpw hwiwp wlhpwdbyum b (1.8 25)-nd wmpdwd ninhn L hwwnuwpd dlwthnjunipjub
hwjwuwpmiGtph dt9 Yhpwnt] dwiwlGwlyh L mwpwonipjub (1.8- 15)-ny L (1.8- 17)-ny mpgwo hwjtpuwgh
wlnpununpdquo dbwihnfunipjul hwjwuwpnudGtpp, pGswbu Gub pun wihpudb)wnnipjul oquyty (1. 8- 20)-ny,
(1.8-21)-ny, (1.8-22)-ny L (1.8- 23)-ny mpywd pwlwdlbinhg: Uyn pnnpp Juwnwntinig htinn dtlp junwGwlp htnlyuyg
dLwthnfunipjuwl hwywuwpnuiGhpp:

!
2. Swylwlwl dhunpnfumpjul hwguwowpnidGepn K u Kk vhuyG hwlughp hGpghwy hudwlwpgbnph dhol

Minhn dLwthnfunipyniGGtip Jwlwnupé dLwthnfunipyniGGtp
T - y(V)(‘t‘—le) ‘t':y(V)(t —g— ) 1.8-26
L
,y@)[(us_)mvt] yzy(V)[(ns%)y +v‘t"]

UnwGdGuyh htmmwppppmpntG t Ghpyuyuglimd gpty Lwjjujul dbwthnfunipjul hwjwuwpmdGipp hwwnhp L ninhy
hGtpghwy hwiwlywngtinh dhol ud ninpn b hwjwunhp hGipghwy hwiwwpqbiph dhol: 9pw hwdwp dklp, pun
whpwdtpmnipjul, GniyGybu wyhwnp E oquytlp (1.8—- 15)-ny L (1.8- 17)-ny mpywd hwjkjwyhl wlinpunupdjuo
dLwthnfunipjwG hwjwuwpnuiGtphg, hGswtu Gub (1.8- 25)-ny L (1.8- 26)-ny nipJwo {wjjuyub dLwhnfumpjwub
hwjwuwpnuiGiphg: Ujuwghuny dklp Junwlwlp htnlyw) dbwhnfunipjuG hwjwuwpnidGhpn.

!
3. Swylwlhwl dhunhnfumpul hwdwuwpnidGhpp R hwlpunhp L R nighn plbpghwy hwdwlunpgbph dhol

77/(V)[t+(s+gc) ?] . T:7<v)[?,+(5+9%>%7‘,] 1 .07
% = o (V)(X-VT) K= ()X -v7) '
4. Swjhwlul dhunpnfumpyul hugwuwpnidGhpp _K’, niphn L R hwlpunhn plbpghwy hwdwlpupgbph dhol
T - y(V){(l+Sz>T+I:S+(Sz—g)%]%?} _ T = y(V){(l+si)‘t_,+[s+(sz—g)%]%i'} 28

X =y (D[ (1+5% )%+ VT ] %= (D[ (1+s¥)x + 97 ]

CGnqomd 1-22 - (1.8-25)-ny, (1.8- 26)-ny, (1.8— 27)-ny & (1.8~ 28)-ny npyjwo Swylwiljul dhunpnfunipjul
hwijwuwpndGapn Shlp Jupng Glp gply Gul, wmunwhwamywo uwd dhagG v iy hwpwpbpulpu G wmugnipjudp ud
dpuy N hwlpunpp hupupbpaluG wpuwgnipyudp L lud F apld wyy uuppbpulny:

Undt yayumnpuywi Gpuagpnipjud gptip Guwb wpwgnipynilGGtiph gnudwpiwl b hwGdwl pwGwdlbpp: 9pw hwdwp

wpwqmpynGGph (1.7-24)-ny, (1.7-25)-nyd L (1.7- 26)-ny npJwd pwlwdltiph vt Yhpwnebting ninhn L hwwnhp
Jtyumnpulwb GQugqpmpjniGp, dblp Junwlwlp.
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& UpnwgmpimGabph qmibwpdwl pubwdlbpn

w ninhn wpwgmpjul hwdwp

W hwyuwnhp wnpwagnpjul hwdwp

W H+V+s@ . — ﬁ+V+s@ 1.8-29
= o

& UpnwqmpimbGlbph hwGbwl puGudlbpp

T minhn wpwgnipjul hwdwp

U hwyuwnhp wpwgnipjw hwiwp

4o W+V+s@ . - ‘\/‘V+V+s@ 1.8-30
:I.—gm 1_gm
c? c?

€ UpnwgmpimGabph dluhnfudwl wyy jnugnighy puGudlbpn

V mnhn wpwgnipjul hwdwp

V¥ hwjunhp wpugnipjul hwdwp

9 v"v+ﬁ+s@ . _ ‘v‘v+ﬁ+s@ 1.8-31
l_gm l_gm
c? c?

buy (1.7-31)-nd mpwd pnnp ¥ qnpowyhgltph dlwthnfunipniGGtph dke GnijGutiv Yhpwntiny ninhn L hwjwunhp
Jtayunpulwb GQugpmpynilp, dtlp Junwlwlp htnlyw wnGsnipjniGGtpp.

D 7(¥) = 7(@)r@)(1- o1 (4 v () = 1@y (1- 012
2 y(@) = y(¥)r(@)(1-g %) " < 9 #(1) = y@)r(w)(1-g %) 1.8-32
3 7@ = (@@ (1-F) |8 (@) = (Dr(0)(1-0F)
Oquytny (1.8—30)-hg L (1.8— 32)-hg Whlp U ninhn L hwiwnhp wpwgnipniGGiph hwdwp Junwlulp.
/() = 7 (¥)r(@)(1-0 32 ) h /(@) = 1 (@7 (1-0TE) o
y ()T = y(V)y (@) (W+ 7+ 55 ) Iy(ﬁ)ﬁz r (D (@) (W 7+ 3 ) |
LiwGwubu oquytiny (1.8—-29)-hg L (1.8- 32)-hg dklp W ninhn L hwiwnhp wpwgnipniGaiph hwdwp JuunwGulp.
r(@) =y (Dr(@)(1-0 L) ) r(W) = 7 (D)r(®)(1-0 L) .
y (@) = y(Dy(@) (T4 7+ 1) y () = y(V)y () (T+ 7+ 552 ) |

GqpuywgnipymG 1.8 - (1.8- 15)-ny L (1.8— 17)-ny inpijwé Shunpnfunipywd hujwuwpnidGipp hwGniuwlnd 6G
hlbpghwy hwdwlwpgbph (wlywpd jwd pupdyng) L guulg hwjbpughl wigpnunupdduwo hGepghwy hwdwlwpgbph
JuwdwlwlunwpuowhlG wnwlgpwpybph dhol bnwo <wylwlwl dLhunpnfunpyulG hwjuwuwpmdGhpp: bPul (1.8— 25)-ny,
(1.8-26)-ny, (1.8—27)-ny L (1.8— 28)-ny npyjuud dlhunpnfunmpyul hwjuuwpndGhpp hwlghuwlmd 66 bplnn pupdjng
hlbpghwy hwdwlhwpgbph dwdwGulumwpnuowhl wnwlgpwpybnh dhol bnuwo <wjlpwlwl hwpupbpuljuwGnippaul hunnny
whumpyul mghny b hwluqunpd dhunpnfunipjul hwjuuupnidGhph snpo ummuppbmulGepp:
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Jwpwptpuwlwinipjuwb {pdGwunpniph Oqumugnponidp

dudwliwjuwunuwpwonipjul Uhowlwjph {wpydwl <wdwn

UpntG dtlp wuby thGp L hGsutiu nu himlnd £ Gul (1. 8- 25)-ny wmpdwo <wjjuywl hwpwpbpwwinpjul hwunntly
wbunipjwl dlwthnfunipywG hujwuwnnuiGtiphg, skq g Enpnpty shuyG y(V) b y(¥) qnpowlhgltipp: Hpw hwswnp
Uty wlquu Lu dkGp wtwmp b oquytilp (1 - £)-ny npdwod hhdGunpnyypltiphg, hptlg wdtGuw)G pGngpyniiny:

‘Lwju oquytlp (1 - £)-nd mpjwo tpypnpny hhdGwnpniyphg, hwiwdw)l nph dwdwlGwyp pninp hGipghwy

hwdwlwnpqbtipnid «hnunwi» £ dhlliny G mhhqbpuyul hwunwnnl € wpwqmpjuip b Gipgpuytlp dwdwlwyh Jopuguljub
uh wnwgp, npp niGh Gpyupnipjwl swhnqujuwlnpynil, ninnyuo E niwyh wwywqul b npp nwpwonpjul X wnwlgph htin
Juqunud £ judwjuyuwl wilynG, juuqwo £ S b g hwunwwnil dkonpyniGitphg: {tnbwpwn wyn Gnp dwdwlGwluwGdwl
wnwlgph wnwlgpwpytipp L npug nhpdtiptiGghwGtpn K u K ninhn L hwlwnhp hGipghw) hwdwlwpgbpmd dtip Jupnn
tlp wpnmwhwjnty dwiwlwyh dthongny htimbyuwy Yhpw.

! !
K Ut K ninpn hGbpghw hwswywpgbpnid Kt K hwlwnhp hpghwy hwiwlwpghpnu
Ry = ct’ . dxXy = cdt’ - S = ct’ . d%y = cdt’ 1.9-1
?o = C_t) d?o = Cd_t) Yo = CT dYo = CdT

Oquwgnpotiny (1.9- 1)-ny mpqwo GulwynuiGtpp (1.8- 25)-ny L (1.8- 26)-ny mpywd {wjjulywb ninpn L
hwjunuwnd dbwhnfunipjul hwjwuwpnudGhph vk, dhlp npwlp Yupnn tGp qptp htnlywy Yhpy.

!
1. {wyjwlwl dhunpnfumpyul hwjwuwpmdGbpn R) L R) nighn hGbpghuwy hwdwlwpgbph dhgl

Minhn dLbwthnfunipynGGhp {wjunupd dbwthnfunipymGGtp
%=y (D[ (1452 )R+ 027 %o = y(V)[(HS%)?Sw%?/] 1.9-2
b
X = @)(%-T) - (D (X - E)

!
2. wylwlul dlunhnfunipjulG hujwuwpmdGepp (}Z L (}Z hwlwnhn hGepghwy hwdwlwnpgbph dhol

Mnhn dLlwthnfumpyniGGtp Lwlyunupé dbwthnfunipyniGGbp
Ko =1 (¥ (%o~ 9L%) Ko = 1(7) (%o - 95%) 1.9-3
L
¥ @ (2est e d] xer @ (r s )X ¥

Liwlwwbu (1.9- 1)-nd mpquo GQulwyniGtpp oqumugnpotinyg (1.8-27)-ny L (1. 8- 28)-ny mpjwo <wjjuljwb
dLwthnfunipjuwl hwywuwpnuiGhph gk, dklp npulp Yunpnn tlp qpt hbmlgwy Yhpy.

3. {wyjwlhwl dLhunpnfunipyul hujwuwpnidGhpp (R, hwlpughp L R) nipfn plbpghuwy hwdwlwpgliph dhgl
%o = r(V) [?o + (s+ g%)?] %o =y(V) [% + <s+ g%)?/]
L
8 = (@)(%- L) - (DX - )

1.9-4
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!
4. Swyhqwlhwl dhunpnfumpyul huduuwpmdGepp R nupfng L R hwlwnhn hGepghuwy hwdwlwpgbph dhol

o = 7<v>{(1+ S%>70 + [S+ (s*- 9)%]7} Xo = y(V){(lJr s%)?'o + [s+ (- g)%]?'}
L 1.9-5
—7’<V>[(1+S—>7+ vYo] = —y(V)[(l+s—>Y + vio]

Uydd K' L K minhn L hwunhp hGipghw; hwdwiwpgbiph wkuwGlyyniGhg nhunwnpltp L Glupuqpbp bpynt
quiwywlul 72; L 7> wuwwumwhwplbp, npnp niGh6 htnlyw) dwiwlwunmwpwowjhl wnwlgpwpytpn:

!
®  Nuwuwhwplbph wpwigpwpybpp K L K nmpy plbpghuy hudwlupgbpnns

7, wuwwwhwph wnwlgpwpytpp 7, wuwwwhwph wnwlgpwpytpp

!

K hGtpghw) hwiwyupgmd = (7,20,12) 1.9-6
N
K

R hGtpghw hwiwjuwpgmi = (7,10,Y,1>
R hGtpghw; hwiwjuwpgmd = (720,Y2>

hGtpghw hwiwjuwpgmd = (710,Y1>

!
€ Nunmwhwnplbph wrwlgpwpybpn R L R hwlpunhp hlGbpghwy hwdwlpupgbpnnf

7, wuwwwhwph wnwlgpwpytpp

7, wuwwwhwph wnwlgpwpytpp

!

K hGtpghw) hwiwyupgmd = (Yllo,YD K hGtpghw) hwiwyupgmd = (7,20,7,2> 1.9-7
L

— —

K K

hGtpghw; hwiwjuwpgmd = (Ylo,Y1> hGtpghw; hwiwjuwpgmd = (YZO,Y2>

Gpynt 721 L 7> wywwmwhwnpbtph (1.9- 7)-ng mpywo hwwuwnhp wnwlgpwpytipp wpnwhwjnywd (1.9- 6)-ny mpjwd
ninphn wnwlgpwpytinny, hwiwdwjG (1.8- 15)-h, YniGLGw6 htnlyw) wnGsnipniGGtpp:

! !
& K 1K pltpghuwy hudwlupglph uhol.

7, wwwwhwph hudwp 7, wuwwnwhwph huniwp
K10 = Xio+ S¥; . oo = Rao + SXp 1.9-8
= %, = %)

& K 1 K pltpgpuy hudwlupgbph dhsl

7, wwwwhwph hudwnp 7, wwwnwhwph huniwp
Ylo = ?10 + S?1 L Yzo = ?20 + S?z 1.9-9
X1=-X1 X2 = X2

bGyytu Gl wyny GG Gpym 72; L 7 yuwumwhwplbiph dudwlwlh L mwpuwonipjul wnwlgpwpytinh
wnuwppblipnpyniGGtnpp K' L K ninhn b hwiwnhp hGipghw) hwdwluwpgtipnd GQuGwytklp htnmbyw) Yapw:

!
* R U R nighn hGbpghuwy hwdwlupgbpny

7N, L 7, wunwhwpltph wenwigpwpytinh wwpptipnipymGitpp

K pibpghwy hwswyupgmi = Xpo—Xi=Xp=ct L Xp-Xi=% 1.9-10
R hGtpghw hwdwwpgnud = Xo0—X10 = Yo =ct L X=X =X
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!
e K 1 K hwlpunhp hlbpghwy hwdwlpupgbpnnf

N, L 7, yquwnwhwnlbph wowlgpwpytiph nmwppipmpymGGtpp

(IZ hGtpghw] hwiwlwpgnid = 7,20 - Y,w = Yé) = CT, L 7,2 - Yll =% 1.9-11
K hetpghw hwdwywngnid = K- =Ko=cT L Ke-%1=%X

(1.9-10)-ny L (1.9- 11)-ng mpywo tpym 77 L 7> wwwmwhwpllph ninhn L hwwnhp wnwlgpwpytiph
wnwppbipnipyjul Yuyp, hwdwdw)G (1.9- 8)-h L (1.9- 9)-h mipjwo tG unnple.

& 1 K pabpghwy hwiwywngtph dhol K u K hebtpghw hwswywngtph shel
Ko = Xo + X' - Ko = Ro+ S 1.9-12
<=3 X ==X

UwhdwGmyd 1-3 - &pgm K' & K mghy b hwlpunpp pGEpghuy hudwlupgbpnud (1.9 - 6)-ny L (1.9— 7)-ny wpifud
bpynm wwumwhwnplbph dhol bnwo dwdwlwunnwpnuwowihl «hbnuwynpmpinilny, npp Juwfudwo F dhwld dwdwGuih L

uwpuompyul wnwlgpwpybphg, dhlp Juljwlblip dhowluwip L iwlwlblp wyl <wjliwlul «b mwnny, npp
hwidwduyl (1.9- 10)-ny L (1.9- 11)-ny wmpywd GrwlwlmdGhph, wdbGuplinphwlnn punwliniuuwghG wpamwhwjompjudp
ymGhGw htunlyjwy mbupp.

!
o K R mppy pltipgphuy hudwlupgtipnus

K hwiwupgmi = 5% = F(R2 _?’m)z + AR~ %p0) (X2~ %) + B(: _?’1)2 - FXZ + AXgX +BX? > 0 s
R hwdwqungns = & = F(Ra-R10)” + A(Re0— R10) (R2 ~ X1) + B(Ra — %1)? = FRG + AXoR + BX” > 0 '

* (}Z, b (}Z hwlwnhn hGepghwy hwdwilwpgbpnd
K huswyungns = &% = F(Ko—Ki0) + A(Kk0— K1) (Ko~ K1) + B(%o ~%4)” = FXG + AKGK +BK” > 0 s
K hwdwungns = & = F(Xa0- K1)+ A(Kz0— K10 ) (K2~ K1) + B(Ka = K1) = FXG + AXoX + BX” > 0 '

Nputn A, B L F gnpowyhgGtpp dudwluwluwunwpwonipjul dhowyjwjpp pnipugpnn hwunmwwnniG deonipynGatp GG
L pwlyuluwpwp Juhuquo sk hwpwpbpulwl wpugnipyniGGphg: Uju Gop gqnpowhgGtipp dtGp GnyyGubu wtinmp k
nnn2tlp, wpmwhwjnting npubp dwudwliwljuwnwpuonipjub tpfpuyuthuyul junngguopn pnipugpnn b dhq wpnti juy
hwjwnGh S b g hwunmwumnilG dtonipyniGGtpny:

CGnqomid 1-23 - Ubp wunnhbpugdwdp, bplgnn wunnwhwpGbpp ol bpwo L (1.9 13)-ny L (1.9- 14)-ny inpywod
puwnulyniuughl wpuuwhw mmpniGp dhpn whanp EjhGh gmulwl dGompyn G, npnyhlnl wyl hulghuwlnid F Gplpswh
duwdwGwlpuumuwpuonipyul dho Gplynt flnbph dhol bpwo hbnun/npmipjul pumulniuhlG: bulp wfbih Uph hbunwgmnnnGhpp
pnn pwnpnGuybl L ymuglbl vbp pug pnqwothpn plnpniGhiny np Jhpnhfiyjwy punwlinuughG wpuwhwjompinilp Jupng
0L Gl puguunlwl dbompiml:

K' 1. K mnhn L hwywnhp hGhpghw) hwdwlywpgtph ntuwGlyniGhg, bpym wwnwhwpGbph shel tnwd, (1.9- 13)-m L
(1.9- 14)-ny wmpywd showwjptph pwnwyniuh, hwiwdw)l (1 - 2)-n wpywo wnwohl hhdGunpnyph®
hwpwptpwwinpjwl uyqpniGph (ntu Gl 1.3 pwdhGp), GnyGubu yhwp b (hGbp Gny6 $mGYghwb, Yuiugwe dhw)l
hGtpghw hwiwlywnpgbtiph hpwp Guniwdp nGhgud hwdwwywwnmwufuwl hwpwpbipwlwl wpugnipyniGGiphg: Pwjg, pwbh
nn dhowlwjph ywpwqujnd, pun vwhdiwliwb, wyl juhugwo sk hwpwptpuwl wpuwgqnipyniGltphg, wyp wyn bhghyuwb
dbonipymGn' dhowlwypn, Juiugwd t dhw)l wwwmwhwplbph dwdwiujunwpuwowihl wnwlgpwpytnhg, htnbwpwn
Showluwyph pnp snpu & , &, & L & dkompyniltpp whnp £ hGLG hpwp hwjwuwn: WuhGpl bphnt Gudwjwlwé
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wwwwhwnplbph dhel tnud dwdwGwjwunwpwowhG htnwynpnipymbn pnnp hGipghw hwiwywpgbpmd (ninhn pb
hwlwnhp) hwunmwunniG@ SeonmpymG t, npp dhGp Y6pwlwytlp dhwiG «b»-ny L wjl SwpbdwwmhynpbG Jupumwhwjnyh
wjuybiu.

E =L =6 =& =& 1.9-15

Uyuwhuny tpynt wyuwumwhwnplbph dhol tinud showlwjph pwnwyntuhl, hwiwdw)b (1.9- 13)-ng L (1.9- 14)-ny mpjwo
pwlwdlbiph, pninp ninhn L hwwnphp hGipghw) hwiwwpgbpmd yniGhGuw hbnlbgw) punwyniuwhG wntupn.

12 = FXE + ARpX + BX? = FX5 + AXoX + BX? = FXg + ARoX + BX? = FX5 + AXoX + BX’ > 0 1.9-16

(1.9-16)-ny npJwo vhowlw)jph pwnwlniunt wpmwhwjnnipjnilhg wnwldGugGtlp htmlyw wnGsnipjniGp.
12 = FXo+ ARoX + BX® = FX5 + AXoX + BX” > 0 1.9-17
(1.9-17)-h dtp mbinunpbiny (‘Yo,‘f) hwlwnhp wnwlgpwpytiph wpnwhwjunipjniGGtpp (1.9- 12)-hg L Juwmwptinyg
qnponnnipym Gk, hisutu Gul hpwp hugwuwptgtyng (X5)-h, (ReX)-h b (X*)-h anpowlhgGtpp, thp gunwiuip A
w(hwjm qnpowlgh wpdtpp.
1.9-18
UjGnthtnb (1.9- 2)-ng L (1.9- 3)-ng mpywd {wjjuyuwb ninhn dlwhnjunpjul hwjwuwpnuibnh 09 Yhpwntinyg
(1.9-6)-ny L (1.9- 7)-ny npJwo tpynt yuwwnwhwnpltph wnwgpwpytipp, hGswtiu Gul jhpwntnyg (1.9- 10)-ny L
(1.9-11)-ny npgwo vhllnyG tpynt yuwwnwhwplbph wewlgpwpytiph wwppbpnipyniGGtipp, dtlp Junwlwlp unyjwy
wuwunwhwnplbiph wnwlgpwpytph mwpptpnipjuwb ninhn dLbwihnfunipyniGGtpp, ninhn L hwiwnhp hGipghw) hwdwlwpgbpnid.

& Uhyl ninhn pGbpghwy hudwlwpglp dhglh
Xo = Rao~ R0 = }/(V)[(l + 3_)(720 —?10) + gg (Ra2 - 1)] = }/(V)[(l + Sz)Yo +g VY]
X =%p-% = 7<v>[<?2 -X1) - T(?zo —710>] =y(V) (? - T70>

1.9-19

¢ Uhuyli hwlughp hGbpghwy hwdwlupgbpf dfipl
7,0 = 7,20 - Y,10 = 7<v>[<720 - Ylo) - g% (Yz - 71) ] = }’(V> (Yo ~g¥ 7)

X = Y,Z_Yll - ‘}/(V)I:(l+8%)<y2 —Y1) + %(Y20—710>i| = ‘}’(V)Ii(l+s%)?+ %Yo] 1.9-20

Liwlwybu (1.9-4)-nJ L (1.9-5)-nd mpjwo {uyuyul duwhnfumpjwl hwjwuwpnuiGtph g9 Yhpwnting
(1.9-6)-ny L (1.9- 7)-nd mpuo tipynt ywwwhwpltiph wowlgpwpytipp, hGywbu Guwl Yhpwnting (1.9- 10)-ny L
(1.9-11)-ny npJwo dhllnyyG Gpynt wyuwwnwhwplbph wewlgpwpytph wwppbpnipyniGGtipp, dtap JunwGwlp wnyjwy
wwwwhwplbph wnwgpwpytiph mwppbpnipjul htnmbyw) dlwthnfumpjubG hwjuwuwpnidGhpp.

& Swhwnhp L myhng hGhpghwy hwdwlwpgbph dhol
%o = r(V) [?o + (s+ g%)?]
8 = (@)(%- L)

1.9-21

& [ighy L hwlwghp hGEpghwy hwdwlwpgbph dhol
Xo = r(V) {(1 + Si)Yo + [s+ (s?- 9)% ]Y}
- _y(V)[(l + s—)Y+ vYo]

bul wjdd (1. 9- 16)-ny mpjwo dhowlwjph wpnwhwjunipynilhg wnwldGugGtlp htnmlyw) welnipyniln.
8 = FXg + A%oX +BR? = FX5+ AXoX + BX” > 0 1.9-23

1.9-22
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(1.9-19)-ny mpjwo (7,0,?0 wnwgpwpytiph dlwhnunipjul wpmwhwjnnipymGatpp mbtnunptiny (1. 9- 23)-h dto
L unwgywd hwjuwuwpdwl vt hpwp hwjwuwptglbny (?S)-p, (70Y)-h L (Y2>-11 qnpowyhgltpp, hGywbtu Gl wyn
qnpowlhgltpp qpbny puwn v nihn hwpwpbpwywl wpwgnipjuwl wumhdwlwgniygh wadw(, dtlp funwGwlp htnbyuwg
hwjwuwnpniGtnh hwiwlwnpgp.
1) y2<7)|:F 1 (@Fs-A)L 4 (F? - As+ B)V—Z} -F
C 2
v v’
2) y3(V) A+(2Fg+As—ZB)T+(2Fs—A)g? =A 1.9-24
2
3 (V) (B+Ag% N ng%) -B
(1.9-24)-ny Gt mbtnunptiny (1.9- 18)-ny mpywo A gqnpowlgh wpdbpp, vhlp Yumwlwlp.
V., g¥)
D y2(V) (F +Fs& + B?> =F
2) y2(V)| Fs+ @Fg+F2-28) Y 1 Fg Y | = F 1.9-25
)7<>5+(9+3—)T+59?—3 -9-
2
3 r2(V) (B +Fsg L+ ng%> -B

UjGnithtinl hpwp ypw pwdwlbny (1.9 - 25)-ny mpjwo hwjwuwpniGtph hwiwjwpgh udwjwlyub tpynt
hwjwuwpnuiGlipp L phiptiing w6 pghwlnip hwymwpwph, hGyytu Gub hpwp hwjwuwnpbgGhing v hwpwpbpuywG
wnpuwqnipjuwl dhtlnyy G wunhGwlwugniygh qnpowlhgltipp, dklp Junwlwlp B wlhwjn gnpowygh wpdtpp.

1926
(1.9- 26)-ny npnpywd B qnpowlgh wpdtpp mbtinunptny (1.9- 25)-4 npdwo hwjwuwnpnuiGph hwdwlwnpgh nplk
hwjwuwnpdw( dky, dtlp Yunwlwlp y2<V> qnpowlgh wpmwhwjmnipynilp.

’}/2<v> = ﬁ >0 1.9-27
1+ ST + g?
(1.9- 27)-ny npnpqwid y2<7)-11 wpumwhwjmnipyniGp mbnunptny (1.8- 21)-ny npJwd d(V) npnphgh
wpunwhwjmnipjw gk, hGswbtu Gul yaphhptny (1.8- 20)-p, vtlp Yumwlwip.

(%) = d(¥) =1 1.9-28

Canqomd 1-24 - (1.9- 28)-h wpyniliphg hinnlnd F np, hunfwdwyl (1. 1- 20)-h, wwuquidan wehly hlGkpghuy

hwdwlwpgbph hwpwpbpuwlwl pwupddwl <uglwlwl dLunhnfunipywl hwjuwuwpndGhpn hwlnghuwlmd 56 ppulpul
dlunpnfumpniGGaEp.

(1.9- 28)-p Yhpwntiny (1.8- 21)-h tpypnpy hwjwuwpdwb dte dhlp Junwlwlp y2<V) -h wpmwhwjnmpnilp.

7/2<V> = ﬁ >0 1.9-29

l+sg+ g?
buy, hwiwadwyG (1.3- 11)-h, pwGh np ¥y gnpowlhgllipp whwp k hGGE npujwl deonipynil, htimlawpwp (1.9- 27)-hg
L (1.9- 29)-hg utilp YytpeGwywlwutiu {wjjuyul y qnpowlhglibph hwiwp junwGwlp htimlyw) pwGwdltipp, npnGp
Lnptgh quuidw gnpowyghg nmwppbpwbtnt hwdwp wjunthtimb dtlp wjl dhpwn Joquugnpotilp «<» umnphG gmghyny.

7<<v> - ﬁ >0
1+sf+g?
1.9-30
7’<<V> - ﬁ >0
1+ST+9?
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UjGnithtnlk (1.9- 28)-ny wmpdwo npnphsGhph wpdbplbpp wnunpting (1.8 - 22)-h dhky, dklp Yumwlwbp
wnlympniGGtp, npnlp ¢hpw GG hGywtu Juiwjwlywd Vuv nihn L hwwnhp hwpwptpwwl wpuwgnipjwl hwdwn,
(nijGuytiu L 6hpw L6 Qwpdynn thnpdGuwlwl dwulGhyh juiwjulwi W ninhn L hwunhp wpugnipjul hwdwp.

7.(W) = p(W) = y4(v_’v)(l+s%) >0
r (W) = p(W) = }’<<W>(1+S%) >0

‘Liwlwwbu (1. 9- 28)-ny mpjwo npnphsGtph wpdbplbpp mbnunnpting (1. 8- 23)-h dhy, vklp Yumwlwlp htmlyuy
wnlsmpynilp, npp hwdwdw)6 (plnqonid 1-12)-h, dhpw k hGswbu juiwjwlwl Vhwpwpbpuwl wpugmpjul hwdwp,
GnijGutiu L Qwpdynn thnpdGulwl dwuGhyh uiwjulwli W wpugqnipjul hwdwn.

|7 (@) = —y (W)W|
Lwbh np (1.9-27)-ny L (1.9- 29)-ny mpJuod yf(V)-h N yf(V)-h wpuwhwjymnpniGGtpp ppuywl JGompniGGtp

tiG, htnbwpwnp hwdwdw)G (1.8- 24)-h, juiwjuwld W ninhn L hwunhp wpugnipjuwl hwdwp mtinh niGbG hnbgug
wnlympyniGGtpp.

= —

W W
1+ST>O 1+ST>O

= —2 L W &2
1+s%+g%>0 1+ST+9%>0

(1.9- 33)-ny npJwo wlihwyjwuwnpnipjniGitph hwiwlwpgbph wpwehG wihwywuwpnipjul gnynipyniGhg plund £ Gl
htimlyw) wihwywuwnpnipyniGp, nph wGhpwdb)mmpinilp dtlp Yqqulp htnwqunid.

1+1s% 5 150 cdt + Lsd¥ > 0
=
Pl
1 W 1 .1
1+EST>?>O Cdt+35dY>O

CGnqomd 1-25 - Eph (1.9- 19)-ny npywo (YS,YD mnhn wnwlgpwpybph dhunpnfunipjwl hujwuwpnidGEpp
hnfuwinbl oquuugnpotlp (1.9—- 20)-ny s (1.9- 21)-ny L Juwd Ly (1.9- 22)-ny inpywo wnwlgpwpybph dhunhnfunipjul
hwyjwuuwpmdGhpn L gpulp mbnunpbtp (1.9- 16)-ny wmpywo dhowlwph hudwwywumwafuw G welsmpul dby, wuyw SG0p
GnyyGwbu junmwGulp (1.9- 30)-ny wpwo puGudlbpp:

(1.9-18)-ny L (1.9-26)-ny mpJwo A L B qnpowlhgGtiph wpdtipGtpp mtnunptiny (1. 9- 16)-ny mpjwuo
wpunwhwjmnipjub bk, vklp thowlwjph pwnwlyniunt hwdwp JunmwGuwlp htnlyw) puGwdlp.

L2 = F(?g + SR+ g?/z) = F(?g +sXoX + g?2> = F(Yg2 +SXoK & gYQ) = F(YS +sXoX + ng) >0

(1.9- 35)-ny mpJwo vhowlw)jph pwnwlyniunt pwGwdlbinp gpud nhpptiptighw)Gtph mtupny, YhGka.
di? = F(dRg +sd®odX +gdX ) = F(dXg + sd¥odX +gdX”) > 0
di? = F(dXg +sd%odX +gdx *) = F(d%o + sd%odX + gdX”) > 0

Ujdd tGpwunptlp, np P thnpdGulyul dwulGhyn K' ninhn L hwunhp hGipghw) hwdwlywpgtiph Giunmdwdp pupdymd £
huiwywmwufuwGwpwp dub wnpwqnipyniGatpny, huy GniyG thnpdGulul dwubhyp K ninhn L hwwnhp hGipghwg
hwdwlwnqbtiph Guundwdp pupdymd £ hwiwwywnwufuwGwpwp wuWw wnpwqmpjnilGtpny: WjGnthtunl Ytphhptny
(1.8-3)-ny L (1.8- 4)-ny uwhdiwGjwo ninhn L hwwnhp wpuwgmpyniGGiph pwGwdltpp, hGswbu Gub (1.9- 1)-nd npjuo
GwlwynuiGlpp L Yhpwnting npubp (1.9-35)-h L (1.9- 36)-h vt9, thnpdGuwlywl dwulGhyh hwippwg Jud judiwjuywb
wnpwaqnipjniGbtipny pwpdiwb nhiypnid vklp dhowlwjph pwnwyniunt L npu nhpdptintiighwh hwiwp unwlwlp htnlgyug
wnpunwhwjunnipjniGGtpn.
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&  Onpdlwlhwl dwulbhlih hwdplpug pwupddwl nhuypnid

_ q 82\ (7)) = W w
bz—F(l‘l’ST‘Fg? (Ct) =F l+ST _2 (Ct) >0
" 1.9-37
N 2
= F(1+s% +gE—2>(cT ) = F(1+s— W—2><CT) >0
&  Onpdlwlhwl dwulbhlih qudwpulpl pupddwl phuypnid
_ g, .0 7 W w
de? = F<1+sf+g? (cdt ) =F(1l+s¢g+ —2 (cdt) >0
" 1.9-38
N 2
du? = F<1+ s% + g%)(ch ) = F(1+ s+ W—2>(Cdt> >0
Lwh np, hwiwdw)l (nGnqomd 1-12)-p, (1.9-27)-ny L (1.9- 29)-nd wpJwd pwGwdlbpp dhyw 6 Gwl juiwjulwi
wpwqnipjwl (ninhn fuwyd hwwnhp) hwdwp, htmbwpwn (1.9- 37)-ny wpdwd pwlwdlh dhe hwjwuwpdwl wikGwdwfu
ynnuip' (£2), npuwl shompymG t, hul we Ynnih pnnp wpnwnphsGhpp, pugwnnipyudp F qnpowlghg, GnijGutiu npuywb
dhonpymGhtp GG L himbwpwp ngpuljul dtonipynil wtwp t 1hGh Gwl F gqnpowyhgp: Rwgh npuihg, pwGh np F
qnpowlhgn ny dh nbp sh yuumwpnid showlwjph pwnwlniunt pwlwdlbtph vk, dtlp wnwlg pnhwlpnipynilp Ynpglbn,
Juwnnn Glp wquuyby npwGhg plnniGtny.
F=+1 1.9-39
F-h wpdtipp (1.9- 39)-hg mtinunptiny (1.9- 35)-ny npJwo thowlwjph pwnwyniunt pwlwdlh ke, hGswbtu Gul
oquiytiny (1.9- 1)-h GwGwyniuiGtphg, dtGp YtipgGuwlwlwutiu juunwlwbp.
2 2
W2 = (c?/) + s(c_t)/)Y' +gx° = (c?)z + s(c?)? +gR’ = (c‘t_/) + s(c‘t_/)Y' +o%% = (cT)z + s(cT)Y +g%x° >0 1.9-40

buy (1.9- 40)-ny npJwo vhowwjph punwyniunt nhpptiptlGghwGtinh hwdwnp dtlp YumwGwip.
du? = (Cd_t’,)2 + s(cd_t’,) (d?’) + g(d?')z = (cd?)z + s(cd_t’) (a%) + g(d?‘)2 >0
1.9-41

di? = (Cd‘t_,>2 + s(cd‘f)(d?') + g(d?')z = (ch)z + s(ch) (d%) + g(d?)2 >0

‘unyGybtu F-p wpdbpn (1.9- 39)-hg mbtinunptinyg (1.9- 37)-ny L (1.9- 38)-ny mpJwd wpnwhwjnnipyniGGtph vk,
hGywtiu Gul ytphhptiny (1.9-27)-p L (1.9- 29)-p, dtlp showlwyph L hp nhdptiptighwih hwdwnp funwlwlp Gul

htinlyw) pwGwdlbpp.

&  Onpdlwlhwl dwulbhlih hwdplpug pwupddwl nhuypnid
= 18 oW ( -’/ W, oW ATRAFA T ) W gWo -
= 1+sc+gC2 ct 1+s¥ +g (ct) 14U +97 ¢ ct 1+sW +g (ct >0 1.9-42

&  Onpdlwlwl dwulhyh Judwjwlul pupddwl nhuypmd

b= /1+S%+gg—; (cd_t’, /1+s—+g— (cdt) /1+s—+g— Cdt) 1+sﬂ+g— (Cdt) >0 1.9-43
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1.10 - Pwgupdwy dudiwluyh L Lugupdwly Upwgnipjul UwhdwGmdp

L Pugwpdwly Upwgnipjul Quuhnfunipjul {wjwuwpmuibGbpn

dJwiwlwyp th funphpnpuynp $hghjuwljub tplnyp £, nph wnwpluwjyuywl pipninuip pwwnm juplnp E §2qphn
$bhahjuul ntunipyniG yuoenmgtint hwiwnp: bpwwbu, dwdwlwlh hwujwgnnnipjuwl twuhl pdwunwuhpwywi L
YtGuwpwlwlwl snintgmdGtpp htiGg 20-pn nuph uyqphG hnfuwphGytghG wytih pun dwdwGwyh pGnyph hghyuywb L
pwlwywlwl htnnwgnuniwdp, nph ninpnujh wpynilGpp hwinhuvwgwl dwiwlwjwnwpwontpjuwl hwwnnily
hwpwptpuyuwlnpjuwl L pphwlnip hwpwpbpwlwinipjwl mbunipniGGiph untinonuin:

Uyu pwd@nud dkbp Yuwhdwbblp L YpGGunytlp dhqhywih hwdwp pww Yuplnp' pawgupdwl dudwbuih
hwulwgnnnipjnilp: Ujlnthtinl oquugnpotiing pwgwpdwly dwiwlwlyh qunuthwpp, dynwe bhghuwlwl dtonpniGGtph
hwdwp Lu dtGp YuwhiwGhlp hpklGg hwiwpdtp pugupdwy dtonipjnGGtpp:

UwhdwGmd 1-4 - Lwdbh np, hwdwduwyG (1.9— 40)-h, Gphm wunnwhwpGbph dhele bnwo dhowlwph punwiniupg,

ponp hlbpghwy hwdwlpupgbpnid (nighn pk hwlpughp) hwomunnm G deompyni( |, hlmbwpwp wyn uomnp dbq hnpnd Foop
Ulilp Jwpnn G0p wwhdwlly pugupdwly dwdwbulh hwalpugnnnipyniGp, npp GniGbGw Gnpl dbompiniln popnp hlGbpghuy
hwdwlwpgbpmd (mghny pk hwlughp), L wyl SeGp [arwGulblip t-ny: UQpughuny pugupdwl dwdwlulp L ip
nhpplpblighuyn dblp JuuhdwGalp hinljuy Gapg.

1
T= ¢l
dr = Lda

Oquiytiny (1.9-40)-ny L (1.9- 41)-nd wmpywd pwlwdlbtphg L (1.10- 1)-ny mpdwod vwhdiwlniihg, pugupdwl
dudwlwlyh punwyniunt L hp nhpdtiptbGghwh hwdwp dhlp Junwluwlp htnlyw wpmwhwjnmpyniGGupn.

!
e K 1 K nighn hlbpghwy hwdwlwpgbpnf
2 2
72 = C—lzbz T s%_t’,?' + gi?'z =T+ sl_t’?+ gi?z >0

drzzc—lzdbzzd_t’ +s—dtd7‘+gldY’27dt +S& dtd?+gld7’

!
* R b R hwlwnhn hGepghwy hwdwlwnpgbpnyd
72 = C—12b2 . s%‘t_,?’ + giYQ . si‘t_Y + gin >0
dr? = C—lzdbz —dt” +s1dtax Xra Lax”? = dt’+sl dtdY+g 1 g%?
bul thnpdGwluwl dwulhyh hwipGpug Jud judwjulwl wpugnipyudp pwpddwl nhwplph hwdwp oqunytyny
hwiwywwnwuppwlwpwnp (1.9-42)-ny L (1.9- 43)-ny mpjwd pwGwdlbphg, dhlp pwgupdwly dwiwlwyh L hp

nhddtuptiighwh hwdwp yunwGwlp Gl htnlyw] wpmwhwjmnipniGatpp.

¢  Onpdlwlhwl dwulbhlih hwdplpug pwupddwl nhuypnid

1. ¢ T,,0 _7 d,,0 _% W, W
r—fb—t‘/1+s—+g——t 1+ST+g?—t l+sT+g? 1+s—+g—>0

& Onpdlwlwl dwulhlh judujwiwl jupddwl ghupnid

2 2
dr :%d /1+s—+g— dt) /1+s—+g— dt = /1+s%+g%(d‘t_>= /1+s%+g%(d_t’>
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CGnqomid 1-26 - Lwih np dblp uwhifwbbghlp pugupdwl dwiwlwl hwulwgngnpnilp, npp nilh Gniyl wpdbpp
popnp hlGEpghwy hwdwlpwpgbpnid (nighy pl hwilwnghp), wwyw wibpwdipnm Fop dplslh widd dap oquuugnpowo t' Lt
Judwlwlyn umuppbpblp Gnp Gipdnioywo pugqupdwl dwdwGulhg L gpuw hudwp, wjunithml, SGGp wyl JulyuGGip
whnwlwl dwdwbwl: G hGswbu wpnbl J6lp gmnklp, mbnuwlwl dudwbulp vuuppbp b oy dhagG ppup Gguamdundp
hwpuwpbpuwlul pupddwl dhe quulyng hlGbpghwy huwdwlupgbpnid, wyy wyl mwppbp b Gul mwpuonippul hwpbjaghi
whnmunuipdywo hGhpghuy hwdwlpupgbpnid, hlsp dblp dwlGmudwul pwmunply Gap (1. 8) pudnid:

UjGnthtnl oqumuqgnpdtiny (1.9- 30)-ny npnpywo {wjjuywb 7e qnpowlhgGtph pwGwdéltpp U L W (ninhn L
hwlwnhp) wpwgnipymGGtph hwdwn b mbnunptnyg guuGp (1. 10- 5)-h dbe, dklp Junwlwlp pugupdwy L mbinulwb
dwiwlwyh nhddtintilghwGtiph dhol inwd htimbywy wnbGynmpmniGatpp.

!
dr = —L _df - —1 - 1 _dt-
r(T) 7(T) 7.(W)
(1.10- 6)-ny mpywo hwyjwuwpniihg dklp Jupnn tlp vnwlwy Gl himlyw] wnlsnipymGGtpp.

_y

dt

l 47 1.10-6
7<<W>

G =7 (W) G =r(®)
, 1.10-7

d dt v
d_Er = ?’<<ﬁ> dar 7’<<W>
Liwlwwbu (1.10- 6)-hg Yud (1.10- 7)-hg dtlip Jupnn tlp vnwbw Gulk htnljw wnGympjnGGtpp.
df _ 72 ) _r.(W)
7<<W> 7’4@)
at 7@ _ (W)
dt  7.(W) AEAC)

S~

=
%T\ |%T

1.10-8

&

~L

Gpynt mbuwyh dwdwluybbph qnynipjwl thwumhg htimbnd £ np whwnp b gnympynil mGhGub Gub Gpynt mbuwyh
wnpwqmpnilibp, wpuqugnuiGhp b pnhwipuwybu whwp £ gnynipynil niGhGuwb tpynt mbuwyh dwdwlwyhg juuguwoe
Phqhyulyub dhonmpiniGGtp’ mbnuyub L pugupdwly: <bnlwpwp Lwjjuyul hwpwpbpuwlnipjuwl hwnny ntumpjuwl
dt9 pwwm Juplnp £ mwppbpulb) b hunmwly vwhiw (b mbnuub L pugupdwly bhghuub dhonipniGGtpp: Ujn
(yuwwnuyny guGiugwo pugupdwl phghjuljub dhonipjwl hwiwnp dklp foqumuagnpotilp «p» unnphG gnighs, npuytiugh
nuwppbipwlblp pugwpdwl hghjuub dtonpymGatpp hwiwywnmwuuwl ntnuyul Phghjuub stonipjniGGtphg:

Uwhiwlnmy 1-5 - @npdGuwlwl dwulhlh wlguo dwlwuwphh sugp pun dhwynp mbqulwld dudwlwlh JeGp
GquljuwGEGp mbnuwlwl wmwqgnipyniG, huly thnpd Gwilwl dwulhih wlguwo dwlwupuwphh swihp pom dhadnp pugupdwl
Jwdwlwlh J6lp JulGjulhlp pugupdwl wmuqmpymG: Ldwlwwbu 6lp uwpng Glp vwhdw Gl Gul mbnulpol L
puwgupdwl wmuqugmdlhpp.: <Gmlwpwn, hnpd Gulpul dwelGhih npuluwbu hpauphg uwppbp wju Bpln

wnugmipniGaEpp L wpuwqugnidGeppn K L K nugpn b hwlwnpp pGepghuy hudwlwpgbpm dkGp Jupng bip uwhiw ey L
Wwlwlly hbmlywy Ghpy.

!
* R) L R) nighn hGbpghuwy hwdwlupgbpmy
~

cl
=

Stnwlhwld uwd Gynunnlul wpmuqnipini G =

I
=
=
I

ol
1]
2=
c
[o1A
1]
g 218 28

L

Stnwlwl jwd Gynunnljul wpwquignild =

AL
=)

1.10-9

=)

LPuwgupdwl] wmugnipini = ﬁp

=
sl

28
28
=

LPuwgupdwl] wpuquignid =

ol
-1
o
B
)
=
o
B
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!
& K 1 K hwlwnpp hlpgiuwy huswupgbpnus
_

=3

ot o
I

&
=

af

.—rT\

Stnwlwl jwd Gynunnlpul wmuwgnipjnt =

[
=
=
[

o1 22 2%

T

Stpwlpul wd Uynnnnlul wmuqugnid =

A
o

1.10-10

=3

LPuwgupdwl] wmuqumipini = 1, =

Q-|
9

2
B

LPuwgupdwl] wmuquignid = B = L ‘ap =

r
-
o
B
o
B

UjGnthtnb pwgupdwy duiwlGuyh dr nhpdptptlGghwih wpmwhwjymnpynilp (1.10- 6)-hg mbnunptiny (1.10-9)-h L
(1.10- 10)-h k9, hlswhu Gwl oquytiny mtnuywl wpwguipjniGGtph (1.8- 3)-ny L (1.8- 4)-ny mpjwo vwhiwlmiGtphg,
dhilp YunwGwlp pugupdwl wpwgnipjub b mknuljuwl wpugnipju shol tnuwd yuwp K' b K mnhn L hwljunhp
hGtpghw hwdwywpgbtipnid.

K 1 K pibpghwy hwswywpgbpnd = U, = 7, (DT u T, = 7 (DT 1011
R L R hGtpghw] hwiwlwpgbipnid = Wp =7, (W)W L Wp =7 (W)W
Uwhiwlny 1-6 - (1.10- 9)-ny/, (1.10- 10)-ny vwhdwlijuo L (1. 10— 11)-nyf inpijund pugquupdwly wpwqnipymGGkpp

ppwlhwlnd hwlphuwGnod 6 pugupdwly wmugnipyuwG unumuowlwl puquinphsGep bplswih dwdwGwluuwmuonpjul
dko: <twmluupwp, (1.10- 11)-p40 hwdwldwd, d6Gp Qupng BGp nwhdwlly Gul hnpd Gwlpwl dwulGhyh pugupdwl
wmqmipyuwl puyhli punugppsGepp K L K mghyg L hwlpoghp plGpghuy hudwlpupgbpnns by hpy.

/ / dY, d?,
K U K pGbpghw) hwiwlwpgbpnid - Ug = dro =7, (U)c L Ug = d_ro =7, (U)C 110412

R L R hGtpghw hwdwlwpgbtipnid - Wg = ddYTO =7 (W)C L v_’\llE_J = % =7, (W)C
Ldwl dLmf dklp lupnn bip wwhiwbly Gwl K L K ngpn pGepghuy hudwilpupgbph ol pugupduly
hwpuwpbpuwlpul wmugmpni GGGph pywhl L mwpwowlul punqugphsGhpp hbnlyuy §hpy.

Minhn pwguwpdwl hwpwpbpwlwl wpwgnipniG Jwuwnhp pwgwpdwly hwpwpbpuwl wpugnipniG

Ve =y, (e Ve =7.(¥)c 1.10-13
Vi = 7:(MV V= 7(MV

Oquytiny (1.9- 31)-ny L (1.9- 32)-ny wmpywd Juiwjwywb ninpn L hwjwnhp mtnuywl wpugmpyniGGtph dthol
qnynipjnil nlGbgnn wnGynipyniGGtphg, hGyytu Gl oquytiiny Jwpdynn thnpdGulwb dwubGhyh jud hwpwpbpuub
wpdiwi (1.10-11)-ny, (1.10- 12)-ny L (1.10- 13)-ny mpywd pwgupdwly wpwgnipjntGGtph pwjhl L mwpuwowlwb
pwnunnpsGtph vwhdwlniihg, dklp funwlwlp hwjwnhp pugupdwl wpwgqnipyniGitph pywjhl L mwpuwowyw i
pwnunnpsGtph juwp hwiwywnwufuwb ninhn pwgupdwl wpugnipyniGGtph pyuwjhl b mwpwowwb pwununphsGiph htwun:

¢ Pwgupdwl hupwpbpulwl wpuqmppul (mfny L hwlwghp) pagungphsGiph diol

VO =V, + sV, s V= V) + sV,

1.10-14
T, = -V, Ve =-V,

! !
&  Uwulhyh pugupdwl wpuqmpjul punungphsGhph Guwn R b R hlbbpghwy hwdwlwnpgliph digl

6 = w0+ st - 10— 00+ 51,

1.10-15
1, - -1, 1, - -4,
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®  Uulhip pugupdul wpwgmpyul punuphstph jugp K & R pébpghuy hudwlupelph dpsl

0 0
. = W, + sW,

P
p = —Wp

) = We -+ o
P P P llulli

sl =

W, = W,

CGnqomd 1-27 - SwiwduyG (1.2— 1)-p, (1.3— 11)-4, (1.8-8)-h, (1.9- 33)4 L (plngonif 1-12)-h, hlswbu Gul
hwidwduyl (1.10- 9)-pg dplsl (1. 10— 16)-p vwhdwbyjwo L vunwgyuwo ponp puGudlbph, d6lp wmulg plphwlpmpjul nbd
Ubnulskym [upng Glp pGpniGhy, np uwdwjwlwl mbpulpo wpuqmpyul L judwjwlul pugupdwly wmugnipjul pyuhl
L nmwpuwowlwl puqugphsGeph hwdwnp mbngh nGG66 hlinljwy wwpdwGGapn.

= v W

W=w>0 W=-—"— <0
1+s%

—)O_ 0 L (—0_ 0

W, =wp >0 W, = W +sw, >0

= &

Wp =W, >0 W, =-w, <0

Ujdd pugupdul wpugnipjul pyuwjhl b mwpwowul pununphsGtph hwdwp wpmwotlp npny htimwppphp
pwlwdlbp: Fpw hwdwp oquytiny (1.8- 24)-ny mipJwd pwlwdlhg L (1.10- 11)-nd mpywd pugupdwl wpwgnipjub
nwpwdwyuwl pununphsh vwhdiwlnidhg, juiwjuuwli W wntnuijul wpugnipjul hwdiwp dlp funmwlulp htmbyw
pwlwadlp.

Wy W) =—2L _ —1-¢g% -0
74( )7/4( ) 1- i gcz

bul (1.10- 18)-hg htimlnd E, np pugupdwl wpwgnipjul mwpwowyul pununnhsGtpp whwnmp b puduwpuptl

htimlyw; WwjdwGha.

2
\%
—E 1
CZ

UjGnithtiml oquugnpotny (1.9- 27)-ny L (1.9- 29)-ny mpJwo {wjjuyuwb s qnpowlygh pwnwyniunt pwlwdalbtipp

Jquiwjwiuwl W ntnuiwl wpugnipyul hwdwp, (1.10- 11)-ny L (1.10- 12)-ny mpqwo pugupdwl wpugnipjub
nwpwowlywb b pwjhl pwnunphyGbph vwhdwGnuiGhpp, hGyuytu Gub (1.10- 19)-ny mpywd wihwjwuwpnipjnilp, dkip
Jwjjuwywb y 2 qnpowyhglGtph hwiwnp Yunmwlwlp htnlyw] pwGwdlbpp.

0 w2 W W,
v (W) = T = [1- @ 55)F -~ §57¢- = AW) — 3s°¢- > 0
0 W, W,
yo(W) = W) = [1-(g- 181 —F + Ls7k = AW,) + 252 > 0

(1.10- 20)-h vt dhlp pwnwlniuh wpdwwp GQuluwytghGp A (udipnu) wweny L npp, hwdwdw;)a (1.10- 19)-h,
pwywpuwpnd £ htnlyw) wihwjwuwpmpjubp.
2
Awp) = [1-(@- 1) T8 > 1|s% |
Oquutyny (1.10- 20)-hg dblp Ywnpnn Gip npnpty pugwpédwl wpwgnipjwl ninhn b hwwghp pdwjhl punqunphsGepp
wpunwhwjnyuwo pugupdwl wpugnipjul nwpwowlwl pwnunphsGtpny htnbgwy Yhpy.
=

Wy = [A(Wp - %s%}c >0

—

‘v_vg = |:A(Wp) + %s%}c >0

‘LnyyGwbu oquuytny (1.10- 11)-hg L (1.10- 20)-hg, Wtlp Juiwjujwl minuyul wpwgnipjul hwdwp b pugupdwl
wpwgnipjul mwpwdwyul pununphsh hwdiwp Junwbwlp htnbywp hnfuwnupé weGsnipyniGGhpp.
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_
= (- —E g ;
W, W W=y T =
l+sE+90s 7. (W) A(wp)—%s%
< L < 1.10-23
=
AN | —— o T _ Wy
1+ Sﬂ + gW_ ‘}Q(W) A(W )+ is&
C c2 L e 2°°C

CGnqomd 1-28 - (1.10-21)-ny inpyfwo A gnpowlgh ke vblp sklp oquuuqnpoty Jhlnnpwlwl Grwqpnipind,

npmifhlml wyl mun pugupdwly wpugmipjuw( unumuowlwl pununphish qnyyq pniGhghw b L hinlaupuwp, hwdwdwyi
(1.10- 16)-p, ulimdf k Gneylip:

61 yippwwtiv, judwjwywl v, U L W mbnuijwl wpwgnipniGGtph hwiwp oquytyny (1.9- 27)-nyg L (1.9- 29)-nY
upjuo Lwjjuywd Y qnpowygh pwnwyniunt pwlwdlbtphg, hGsybtu Gul oquytiny (1.10- 11)-ny, (1.10- 12)-nd L
(1.10- 13)-ny mpywd pwgwpdwl wpwgnipyniGatph pyuyhl L mwpwowlwl pununphyltph vwhdwlnuihg, dtlp
Juiwjwiwl pugupdwl wpwgnipjul pununphsGiph hwdwp Junwlwlp hbnbyw qbintighYy pwGwdélp.

()" + sttty + 9(@,)” = (W) + s, + g(W,)° = ¢ 1.10-24

bhuy (1.8- 33)-h tti9 Yhpwnkny (1.10- 11)-ny, (1.10- 12)-ng L (1.10- 13)-ny uwhiwGjwd pwgwpdwy
wnpuwqnipyntGatph pyuwyhl L nwpwowlwl pwnunphsGiph wpnwhwjnnpymGitpp, hywbu Gwb Yhpwnting (1.10- 14)-nd L
(1.10- 16)-ny wpywd wnGsnipyniGatpp, dtGp Juunwlwlp pugupdwl wpwgnipyniGaiph mwppbpnipjwG pywjhG L
nwpwdwyuwl pununphsGtph dlwthnfunipjuwl hwjwuwpnuiGhpp.

o) = (VW + gV, ¢ - L (Vo + gv,,)

L 1.10-25
0 0. 0, 0.
ﬁp = % VPWP _vap> UP = % VPWP _vap>

‘Liwlwwtu (1.8- 34)-h ukp Yhpwntiny (1.10- 11)-ny, (1.10- 12)-ny L (1.10- 13)-ny uwhdwlywd pugupdwl
wpwqmpyniGGtph pwyhl L mwpwowywl pununphsGiph wpnwhwjjnnmpyniGGtpp, pGswbu Gub Yhpwnting (1. 10— 14)-ny L
(1.10- 15)-ny wmpywd wnGsnmpyniGatpp, dklp Junwlwlp puguwpdwl wpugnipniGatph gnudwph pyujhG b nwpuwowlwl
pwnunppsGbph dluthnfunipjwl hwjwuwpniiGpp.

1(2) = % (Vgﬁg - gvpﬁp>
P %(vgﬁp + Ugvp)

g = %(Vgﬁg - gvpﬁp>

1.10-26
P % vgﬁp +ﬁgvp>

sl 5
=
s =

UjGnithtnl (1.10- 25)-ny L (1.10- 26)-ny mpdwo ninhn b hwwnhp pugwpdwy wpwgnipyniGGtph mwppbpnipjwt L
gnudwph mwpwowuwl pununphsGtph wpnwhwjmnipyniGGtph vt mtnunpting (1.10- 22)-ny npjwo pugupdwy
wnpwagnipjw@ ninhn L hwwnhp pywjhG pununnppyGtph wpnmwhwjmnipniGGtpp hwiwywunwuppwliwpwp V, U L W
wpuwgnipjniGGph hwdwn, dklp mnhn L hwunhp pugupdwly wpwgnipniGGiph mwpuwowwl pununphsGhph
wnwpptipnipjwl L gnidwph hwdwnp funwGulp Gwl htnbyw) pwGudélbpn.

{ Ty = AWy - AW,)T, . { Ty = AT, — AW,V

1.10-27
Wy = AW U, + AUV, Wy = AU, + AUV,

Liwlwytbu (1.10- 25)-ny L (1.10- 26)-ny mpjwd ninhny b hwwnhp pwgupdwy wpwgnipjntGGiph mwpptpnipjul L
gnudwnp pywyhG pununphsGiph wpmwhwjmnpniGGtph gt mtnunptny (1. 10— 22)-ny wipJwo pwgupdwl wpwgnipjub
ninhn L hwwnhp pyujhl pununphsGtiph wpnwhwjmnipyniGGtpp hwiwywumwuuwlwpwnp Vv, U L W wpugnipjniGGtph
hwuiwn, hGswtu Gul Yhpwebiny (1.10- 27)-n nupdwo hwdwywnwuuwl pugupdwl wpugnipniGGiph mwpuwowywb
pwnunppsGhpp, deGp Jumwlwip A gnpowyhgGhph htwnlyw) dbwhnfunipjul pwGwdlbpp.
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A(Up) = AVp)AW,) + (9 - 557) vg‘:’p
A(Wp) = A(Vp )A(up) — (g _ %Sz) Vi?p

Ujdd npwbtugh {wjjuwlywl hwpwptpuuwlnipjul hwnnty mtunpjwub (1.8- 25)-ny L (1.8- 26)-ny wpywd mnphn L

hwljwnupé duwthnfunipjul hwjwuwpnuiGtpp wpnmwhwjntlp vV, pugwpdwl hwpwpbpulwl wpugnipjuidp, wujw npu

hwiwp wlhpwdtpwm t np dkGp V hwpwpbpujwl wpwgnipjuwl hwdwp oquuytlp (1.9- 31)-ny, (1.10-17)-ng L

(1.10- 20)-ny wmpywd pwlwdlbphg, hGswbu Gul oquytlp (1.10- 13)-ny mpjwd pugupdwl hwpwptpuwl wpugnipjub

pwnunphsGtph vwhdwGnidhg: Uyuyhuny dkGp junwGwlp {wjjulwul hwpwptpwlwlnipjul hwunntly wbunipjwl
dLwthnfunipjul hwjuwuwpnuiGhpp wpnwhwjnywo pugupdwy hwpwptpuwl wpuwgnipjwdp:

!
&  wyhwlwl dhunpnfumpyul hwjuuwpnmdGhpp R L R nipfing plbpghwy hwdwlwnpgliph dhgl

Minhn dluhnjunipyniGitp {whwnuwpd dLwhnfumpniGGtp
?’=|:A(vp)+%s%i|_t)+g% ?:[A(Vp)—%s%}?,—g%?,
X = A 1 Vp T _ 1 vp ! e

= | Awp) - 3s¢ [X -Vt X=|AVp) + 25 [X +V,t

!
&  wyhwlwl dhunpnfumpyul hwjuuwpmdGhpp R L R hwlunghn hlGbpghwy hwdwlwnpgbph diol

Minhn dluhnjunipynGitp {whwnuwpd dhwhnfump)niGGtp
- [A(vp -3 }T - g%‘i - [A(vp) c1se }T’ - g%y’
Y’:[A(v)+is&i|Y+V‘t_ Y:[A(v)—isﬁ}Y’—V‘t—,

B 2 C P P 2 c p

‘Luwb duny dklp Jupnn Glp <ujjuliul hwpwptpuuwlinpjuwl hwnny wtunipjub (1.8- 27)-ny L (1.8- 28)-ny
npjwo dlwthnfumpjwl hwjwuwpnuiGtpp wpmwhwjynty V, pugwpdwl] hwpwptpwijwl wpugnipjudp:

!
&  wyhwlwl dhunpnfumpul hwjuuwpnmdGhpp R L R hbbpghwy hwdwlwnpgbph dhgl

¢ [A(vp)— %S%}_{‘F [sA(vp) +(g- %Sz)%}%y

< = —|:A(vp) - %s% i|?+vp_t’

!
¢  wjhwlhwl dlwhnfunipjul hujuwuwpnidGepnp R L R NGhpghuy hwdwlpwpgbph dhol
v [ae 2% T+ [orm-a- 2% [

% = —[A(vp) v 15T }7’ -v,T
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!
¢  wjhwlwl dlwhnfunipjul hujuwuwpnidlGepn KK NGhpghuy hwdwlwpgbph dhol

T - |:A(vp) + %s% i|T+ |:SA(VP) -(g- %sz)%}%i

1.10-32w
X = —[A(vp) + %s% }Y -V, T
¢  wjhwlhwl dlhwhnfunipjul hujuwawpnidlGepnp R L R, NGhpghuy hwdwlpwpgbph dhol
t T 358 J0 [ @ b8 o
1.10-32p

X = —[A(vp) ~1sVe }Y’ A

CGnqond 1-29 - (1.10-29)-ny & (1.10- 30)-ny wpywo <wylwiwl hwpwpbpuliwlnppul hunnnly mbunipjul
hwlwnuipd dhunpnfumpjul hujuuupmdGhpn J6Gp Juwpng G0p vunuluy nighn éLhunhnfumpjul hwjwuwpnidGephg
hnfubyny Vp puwgunpdwly hwpwpbpuwlwl wpuwqnipjul Guwlnp: Gdwbwwbu (1.10- 31p)-ny L (1. 10— 32p)-ny upyuo
Swylwlpwl hwpuwpbpuljuGnipywl hunnntly mbumpul dLhunhnfumpyul hwjuonwpndGepp d6lp Qupng Blp vuwGuy
hwdwwyuwmnwufuwGupwn (1.10— 31w)-ny L (1. 10— 32w) -ny ipywo dLhunpnfumpyul hwjwuwpmdGbphg GnyGubu ghinfuling
Vp puwgupdwly hwpwpbpuolpu G wmugmpjul Gwlp: Plswhu Gul sdnmuoGuynyg ponp plypbpnid fuwquignp
wnwlgpwpybpp nupd G wifuwg L hwluwnwhp' winug wnwlgpwpybpn nupd Gy fuwquidnp:

Uju pwdGh ytipgmu, npwtiu htmmwppphnp ophGuy, pGGwplytlp R) ninhn hGipghw] hwiwlywnpgnid 3 hwunwwnml
wnbnuiwl wpwqugnid niGtgnn thnpdGulwl dwulGhyh pupddwl hGuwpwynpnipynilp: {wunmwwnnil mbnuywb
wpwqugniiny pwpdiwl nhiypmd, hwiwdw)G (1.8 3)-h, hnpdGuwlywl SwuGhyh ntnuiwl wpwgnipyniGp YihGh.
w=13r 1.10-33

(1.10- 33)-hg htimlnud t, np thnpdGulwl dwuGhyh mtnuliwl wpugqnpyniGp wigtpg dtowlnid £, htmbwpwp,
hwiwdw)G hwonpy pwdGh (1.11- 81)-h, hwuwmwwun @ minuyuwl wpwqugnuing pwupdnd hGwpwynp t tph
dwiwlwjuwmwpwontpjul S b g hwunmwwnnil gnpowhgltipp thwdwdwlwl pwjwpwnti htnbyw] wwjdwGha.

s>0 L g=>0 1.10-34

bul tipti dwdwlwyuwunwpwonipjul Junnigguopp pnipugpnn S b g hwunmwumn G gnpowyhgltinhg nput dkyp (hGh
pugwuwuwl stonpynil, wuyw hwunmwunn i mtnuwiwi wpwqugniuiny pwpdnid hGuwpwynp sk:

Ujdu oquuytyny (1.10-11)-ny L (1.10- 12)-ny uvwhdwljwo pwlwdlbphg b wyGnbn mbtnunpbing mtnuyjwb
wpwagnipjul (1. 10— 33)-ny mpjwo wpmwhwjnnipjnilp, vhp hwumwumn G mnuijwul wpugqugnuiny Jwupdynn
thnpdGwlwl JwuGhyh pwgupdwly wpugnipjub pyujhl b mwpwowlwl pwnunppsGph hwdwp unmwGulp htnmbgyuwy
pwlwdlbpp.
~

0 _ _ 1
W, =y, (W)c= e c
‘/1+ST+QT
< 1.10-35
3—)
W, =y, (W)W = L
3T, 3BT
1+ST+QT

Canqomd 1-30 - Uklp wyjlu shlp gullpuln funpuluy wpuqugnidnyg pupding hnpd Gwlpw GwulGhlh punn wyy
qupdwlwhpuy hunnlnpniGGhph dke, npnyhlinl guulp SGlp [pwpugpblp dbp hwgnpn hnpywonid, npp iphy Gapywo
ipGh wqunn jwd nidughl gupmnd Qubyng dwulhih Hud dwelhyGeph hwdwfudph pwupddwl hbbumugnmdwln (SwylulpulG
hwpwpbpulwGmpyul dbpwlhlw): Uju thnpp ophbwlny dhlp uupqubu gublugulp dhuyl Gb pb hlspwl pGulul
dwlwuunhny vunugulp (1.10- 35)-ny npywo pwbwdlp, npp wpph hwpupbpauolwlnppul mbunipjul puoweppbpnud
«npu F pbpdmdy wawwpuwpmpudp (whlpuppuwhl hwlqunp hGepghwy hwdwlwng b wypl), npmfhbnl s6G Qupnpubngd
mwppbmul by mbnuwilwl L pugupdwly wmugnipyn GGapp.
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1.11 - Quyuyub {Qwpwptpwiwinpjul Lwnny Stunipjub
Unw(dGwhwwnnty Vhwpbpp

Jwjjuywl hwpwpbpuyuwinipjul hwwnnty nbuntpjul hhGq wpwldGwhwnmy nhypbpp wpdt hwlquiwlnptG
pGGuwpyt;: Uhw wyn wnwldGwhwnmly nhiyptpp jujuguwde S L g gqnpowyhgltinh htimbywy wpdbipGtinhg.

1) s=0 N g=0

2) s=0 L g+0

3) s+0 N =

4) s+0 L g:(%s)2

5 s+0 L g=+0, gqt(%s)2

Luwlh np mbnwiw L pugupdwl wpuwgqnipyniGlbph vwhdwlwihG wpdbpGbipp yuuquo GG
dudwlwuwunwpwonipjnilp pGnipugnnn S L g gnpowlhgGhiph wpdtipltphg, wuyw pGwlwb E np dklp Yytpnlpjwy pnnp
hhGq wpwidGwhwwnnly nhyptph hwiwp S L g gnpowyhgGtiph npnpdwl wmhpnypGphG hwiwwywwnwufuwl guihwlwlp

qult] mtnuwiwi L pugupdwl wpwgnipyniGGtph qnynipjwl mhpniypGhpp:

1. Unwohl wnwldGuwhunnml nhupp

s=0
g=0
& Ujyu plyphl hwnmntly wnGsmpiiGGEpn
Uju wnwGdGwhwwnny nhwyph hwiwp, (1.9-30)-h L (1.10- 17)-h b9 mbnunptiny (1.11- 2)-ny mpJwo Sh L g-h
wnd! , wiwjuul W ntnuiuwl wpugqmpjul hodwp junwlu wljw) wwjdw .
ndtiplnp, dhip Judwjwlwh tnulwl wpwgnpjul hwiwn Yy Guw(p htinlyw] wwjdwabtpp
W=w>0
W=-W=-w<0
?’z(V_)V) = 7<<W> =y,w)=1>0

&  wybjuyhl whnnunupdywo dhunpnfunipyul hwjuuwpnidGbpn
(1.8-15)-ny ywd (1.8- 17)-ny mpywd mwpwowul hwjbkjwjhl winpunupdyuwd {ujjuiub dbuwthnunipjul
hwywuwpnudGtph dG9 Yhpwntinyg (1.11- 2)-p L soquugnpotinyg yaiumnpuywa Gpuqpnipynilp, dkGp JunwGuwip.

T -7 -t T=T=t
! ! =
% =X =X X =-X=-x

&  Jwpwpbpuwlwl pupddwl dlunhnfumpyul hujuuwpnidGepp
{wdwdwyl wyu wnwGdGwhwwnmly ntwph, (1.11- 3)-ng L (1.11- 4)-nd wpduwd yuwjdwlibpp yhpwnkinyg (1.8- 25)-ny,
(1.8-26)-ny, (1.8—27)-ny Y (1.8- 28)-ny mipqwo wjjuwl hwpwpbpuwyuinpjul hwnny ntumpjub
dLwthnfumpyul hwjwuwpnudGlph gk, hGyytu Gwl GniyGutiu joqumugnpotinyg yayunpulwb GpuqpnipjniGp, dhlp
JunwGwlp Gwihiijh dluhnfunipjul hwjwuwpniiGhpp.
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Minhn dLwihnfumpniGGhp Jwlwnupé dlwthnfunipyniGGtp
t =t t=t 1.11-5
L
X' =x-vt x=X+wt'

& UpnwgmpmGGbph hwldwl L qnudwpdwd pulGudlbpn

bul (1.8-29)-ny L (1.8- 30)-ny mpywd wpwgnipjmGhtph gnidwpdwl b hwldwl puwGudlbpp YhwdipGyGta Gwihtyh
wpuwqgnipjntGGtph gniiwpdwl b hwliwG puwGwdaltiph htn hGyubu gnyyg £ npgwo unnple.

W=u+V
1.11-6
u=w-v
& Shywhwl wmuqmpimGGhph qnimpjwl wmppnyplGhpn
1.11-7

2. Gplypnpn wnwldGwhunnnty nbupp

{ s=0 1.11-8
g=+0
& Uyu plyphl hwmntly wnGsmpiiGGEpn

Uju wnwGdGwhwwnny nhwyph hwiwp, pwlhnp S= 0, wwuw (1.8) pwdind pyupyud pnnp
wlhwiwswhnpyniGatpp yepwlnd GG: {bmbwpwn pninp hghuywb dtonipyniGGtpp dblp Jupnn tlp qptp wnwlg
Jayumnpuwwl GQugpnipjub: Ujuwhuny (1.10- 17)-h dt9 Yhpwoebkiny (1.11- 8)-p, dhlp judwjwlwl wntnuywd
wpwgnipjntGGtpp, hGyuybu Gwl pugupdwy wpuwgnipyniGGtph pwjhl L mwpwowwl pununnhyGepp upnn GGp
oqunugnndt] wnwlg Yyayumnpulwd Gpugpnipjuip htnlgwy Yhpy.

W=w>0 W=-w<0

0 0

W, =wl>0 L W, =w?>0 1.11-9
W, =w, >0 W, =-w, <0

Uju tpypnpy wewGdGwhwnmy nhyph hwdwp, hwiwdaw)l (1.9- 30)-h, (1.9- 33)-h, (1.10- 19)-h, (1.10-20)-h L
(1.11- 9)-h, dtlp {wjjulwb y< qnpowlgh hwdwp Junwlwblp htnlyw] wpmwhwjmnipyniGGbpn.

WZ
y4<‘v_v>=y<<W)=y4(W)=+2= [1-g~L = AW,) >0 1.11-10
[1+g¥ ¢
C

(1.11- 10)-hg htimlnud £ np mbnwlywl b pugwpdwl wpwgnipniGGtph gnynipjwG mhpnypltpp dtlp Jwpnn GGp npnpby
htnlyw] wlhwjwuwpnipyniGGtiphg.

w? w?
1+g?>0 ?>—1

< = < 1.11-11
1—gc—2p>0 C—2p<1

& wybjuyghl whnnunupdywo dhunpnfunipyul hwjuwuwpnidGbpn
(1.8-15)-ny ywd (1.8- 17)-ny mpywd mwpwowuwl hwjbkjwjhl winpunupdywd dluwthnfunipju {wjjulwb

hwjwuwpnuiGtph dG9 Yhpwnting (1. 11- 8)-ny wpjwd yuwjdwbp L soquugnpotiny yyumnpuwb Gyugpnipjmbp, sklp
JuunwlGwip.
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t =7 =t T=T=t
! ! / =
% =% = —x X =-X=-x

¢  wpwpbpuwlwl pwupddwl <wjwlwl dhunhpnfunipyud hwjuuwpnidGapn
‘Liwlwwbu (1.8- 25)-ny, (1.8-26)-ny, (1.8-27)-ny L (1.8- 28)-ny mpjwo wjjuljwl hwpwptpwlywlimpjwul
hwunty mbunipjuwl dlwthnfunipjwG pninp snpw hwjwuwnpnudGhph dte Yhpwntng (1.11- 8)-nd wipywd wuwydwip L
(inijGutiu soqumuagnpotny yayumnpulwb GQuqpmipynip, dblp Junmwbwlp dhllniyG ninpn b hwjununpd dbwhnfunipjub

hwjwuwpnuiGhpp.
Mnhn dLlwthnfumpyniGGtp {wjununpd dbwthnfunipymGGtp
— Vv — Vv
t = 7<(V)(t + QFX) W t= V<(V)(t' - QFX’)
X =y, (V(x-W) X =7 X +wvt')

buy (1.9-40)-n npJwo vhowlwjph pwnwlyniunt hwdwp dtlp YumwbGwlp htnlyw] wpmwhwjmnipjniGp.

B =ct?+gx?=ct?+gx?> >0

& Shywlwl wpwqmipym GGhph dhol bnwo wnlsmpniGGapp
Lwiwdwyl (1.8-29)-h, (1.8—-30)-h, (1.11-8)-h L (1.11- 9)-h, mbinuiwl wpwgnipjniGGtph gniiwpiwb L hwGdwl
hwdwp dklp Junwlwlp htnljw] pwGwdlbpp.

UpwqnipyniGGtph gnidwpiwG pwlwdalp UpwqnipyniGGtph hwldwl puwGwdlp
u+v w-V
w = L u=
vu VW
S ra roe

bull hwiwdw;G (1.8-32)-h, (1.11-9)-h L (1.11- 10)-h, Lwyhuywd Ve qnpowlhgGtph dlwihnfunipyniGGtph hwdwnp
Ublp Yuunwlwlp htmlyw] pwGwdlbpp.

) = 7y ) (1+ g W)

7o) = 7wy @(1-g%)

€ Pwgupdwly wpwqmpniGGaph dhol bnwod wnlsmpimGGEpn
Jwdwdwjb (1.10-27)-h L (1.11- 9)-h, pwgwpdwl wpwgnipjniGGtph mwpwowwl pununphsGtph hwGiwa L
gqnuiwpdwl hwdwp dhbp Junwlwlp htnbyw) pwGwadlbpp.

{ Up = AV Wy — AW, )V

Wy = A(Vp)Up + A(Up )Vp

buly hwiwdwjG (1.10—28)-h, (1.11-8)-h L (1.11-9)-h, A gnpowlgh dLwihnfunipjuwl hwiwp sEGp Junmwlwip
htnlyw) pwGwdlbtipp.
VpWp
c2
VpUp
c2

AlUp) = AVp)AW,) +9

AWp) = A(Vp)A(Up) —9g

‘Liwlwybu, hwdwdw)G (1.10- 25)-h, (1.10- 26)-h, (1.11- 8)-h L (1.11- 9)-h, uiwjuwl pugupdwl wpwgnipjub
pwnunnpsGtph ninhn L hwwnupé dlwthnfumpniGGtph hwdwp dklp unwlulp hnbyw) hwjwuwpnudGhpp.

Minhn dLlwthnfumpniGGtp Lwlyunupé dbwthnfunipyniGGbp
0 = e + gy . W = £ - gveu)
Up = %(vﬁwp - wivp) W, = %(vgup +Udvp)

Jwiwduwyl (1.10- 24)-h, (1.11-8)-h L (1.11- 9)-h, pwgupdwly wpwgnipjniGGtph pywjhl L mwpuwowyub
puwnunnhsGtipp pwjwpwpnid GG htnbyw dGwynil wnGynipjwln.
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U +g(Un)? = W) +g(w,)* = ¢
buy, hwiwdw;jG (1.10- 23)-h L (1.11- 10)-h, mbnulywl L pugupdwl wpuwqnipjmGGtph (wpuowwi
pwnunphsGtiph) dhole mtinh mGLG htnlyuw wnlympyniGGpn.

/W: W, :
W,
-9
<
Wp:—sz
e

&  Shywlwl L pugupdwly wpuqnipym GGaph gnnipjwl mpipngplbpn
Stnulwi L pugupdwl wpwgnipjniGGtph qnynipjul mhpnyplbppn quGhne hwdwp dklp Jupnn Glap oquaytip
(1.11-9)-hg L (1.11- 11)-hg: Ujuyhuny dtlp wytiwnp b notlp htnbyw) wihwjwuwpnipyniGitph hwdwlwpgp.

w>0 w, >0
L 2
w2 w
> -1 —
QCZ gC2<1

Lwbh np (1.11- 22)-nd mpywd wlhwjuwuwpmpyniGiiph hwdwuwpgp yupuwo t dshwjG g gqnpowlgh npnpiwG
whpniyphg' Gywlhg: <bnlwpwp nmtnuijul L pugupdwy wpwgnipjniGieph gnynipjwl whpnypGpp YhGaG.

w) biph g<o0 wyw O<W<C,—% b O<w, <w

p) bph g>0 wyw O<w< o N O<Wp<c%

3. Gppnpn wnwldGwhunnmly nhupnp

s+ 0
g=0

(1.8) pwdGnid pyupywo pnnp wihwdwswihnpynGatpp L hbmbwpwn Gub pnnp pwGudbbpp yuwhwywynid Ga:

& Uyu plyphl hwmmly welsnpniGGEpn

Utilip wjuntn YGabpjujwugGhlp dhwyl wyl puwGwdalbpp L hwjwuwpndGbpp, npnlp niGbG wyGhwjm mwpptipnipjniGGtnp:

(1.9- 30)-ny npJwo quidw gnpowyhgGtpp, hwdwdw)G (1.3-11)-h, (1.8-9)-h, (1.9-33)-h L (1.11- 24)-h, wju
wnwldGwhwwnmny nhiyph b judwjuul ntnuijul W wpugnipyul hwdwp, YhGka.

~
_ 1
y<<v_’v> = — >0

| W
1+ST

pry
7<<W> = % :11+S% >0
1/1+s%

(1.11- 25)-ny mpywd quidw gnpowhgGpp pwjwpwpnid GG htnlyw) wnGsnipjuln.

7<<W>7<<W> =1>0
Qwiwdwyl (1.2—1)-h, (1.8-8)-h L (1.9- 33)-h, mtinuiwl wpwgnipjniGGtph hwdwp dhlp Yunwlwlp htnbywy
wlihwjwuwnpnipniGGupn.

N
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W=w>0
1+s%¥ >0
| 1.11-27
W= w__ _ W __ <0
1+s@ l+s¢

Ltwmbwpuwp (1.11- 25)-ny mpJuo quidw gnpowhgltipp wpmwhwjmywo ninhn wpwgnipjudp L wnwlg
Jtyunnpuyub GQugpmipjudp, hwiwdw)G (1.11- 27)-h, YhGhG.

7<<W> - =1_

Jitst 1.11-28
7<<(W> = ’1+ST

Liwlwytu (1.10- 21)-nd wmpyud juwdnu gnpowlgh wpnwhwjmnmpynilp, hwiwdw)G (1. 11— 24)-h, YihGh.

2
AW,) = /1+%32% > 1|9 | 1.11-29

&  Jwpnuwpbpulwd pupdiwl <wjhwlwl dhwhnfunipyjul hujuuwpmdGhpn
(1.8-15)-ny L (1.8- 17)-ny wipywd hwjybjuwyhl winpunupdquwo duwhnunipjul {wjjuywl hwjwuwpmdbbpp dGnud
GG GnyyGp, huy (1.8- 25)-nd mpywd {wjjulywl hwpwptpwluwlnpjul hwnnty mbunipjul ninhn L hwjwnwupd
dLwthnfunmpjwG hwjwuwpnudGtpp, hwdwdwjG (1.9- 31)-h, YplnniGhG htnlyw) wmbupp.

Mnhn dLlwthnfumpyniGGtp {wjunupd dbwthnfunipymGGtp
T -y (V)T . Ty (T 1.11-30
X =y (M(R-7T) X =7 (DX -v7)

Liwlwwbu (1.8- 26)-ny mpjwo {wjjuyul hwpwpbpwwlnipjuwl hwunnty mbunipjuwl ninhn L hwwnwunpé
dLwthnfunipjwG hwjwuwpnudGtpp, hwdwdw)G (1.9- 31)-h L (1.9- 32)-h, YplnniGLG htnlyw) wmbkupnp.

Mnhn dLuwthnfumpyniGGtp {wjununpd dbwthnfunipymGGtp
T =y, (DT . =7 (MNT 1.11-31
% =y (9)(%- V1) %= 7. (V(X -97)

buy (1.8-27)-ny npJwo {wjjuyub hwpwpbpwwlnipjul hwwnnty mtunipjul dbwthnfunipjul hwjwuwpmdGhpp
YnlnniGEG htimbywy mbtupn.

T = (V)(T 1) T=r(W)(T +s4%) .
L , A1-
Y’ _ _‘}/4<v>(?_V?> Y _ _'}/<<V>(?/—V?)
Liwlwybu (1.8- 28)-ny mpjwd {wjjulyub hwpwptpwwlnipjuwl hwnnty mbunipjul dluthnfunipjwuG
hwjwuwpnuiGtpp, hwiwdw)G (1.9- 31)-h L (1.9- 32)-h, YplnniGLG htnlyw) wmbkupp.
> — 1 ?_ v ! lY,
t =y, (V) (tT+stX t=y.( )(t +5%
, ) °(_> u o 1.11-33
R = =y (V) (%-¥%) X = . (M(K-97)
<tpw t mbtiuGh np, (1.11- 30)-ny, (1.11- 31)-ny, (1.11- 32)-ny L (1.11- 33)-ny wmpywd pnnp Lwjjuyub
dLwthnfunipjuwl hwjwuwpnuiGhpp, hwdwdéw)G (1.9- 40)-h, pujwpuwpmd 6 showlwjph htimlyw) wnlsnipjubp.
B2 =ct 1ot R = 2t + X = 2T 4 TK = 2T+ 5TX > 0 1.11-34
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& Shywlwl wpwqmipym GGhph dhol bnwo wnlsmpniGGapp
Stnuywl wpwgqmpyniGGph (1.8-29)-ny L (1.8- 30)-ny npdwo gniiwpiwl L hwldwl puwGwdlbpp YhGaa.

Minpn wpwgmpyniGitph hwiwp Lwlwnhp wpwgnipyniGaph hwiwnp
v_’v=ﬁ+7+s@:ﬁ;g W:ﬁ+v+3@: ﬁ—g
1+ ST 1+ ST
L
ﬁzv_’v+V+s@:Lg ﬁ:WJerrS@: ‘W—g
l+s¢& 1+s

C C

(1.11- 35)-ny mpywd mbnuyul wpuwqmpyniGGtph gniiwpdwl b hwGdwl puwGwdlbtpp thw)l ninhn wpwgqmpnGGtph

hwiwn wnwlg yayumnpuwd Gpugpnipjub, hwiwdw)l (1.11- 27)-h, YhGLG.

w=u+v+sy

S Wov = 1+s¥ = 1+s)a+sd)
1+sg

bulj hwiwdw)G (1.8-32)-h L (1.11- 24)-h, Qwjjulwl 7e qnpowyhgGtph dLwthnfunipyniGGtph hwdwn dbip
JuunwGuwlp htnlyw] pwlGwdlbpp yaunpulwb GQugpnipjudp.

?’<<ﬁ> = 7<<V>7<<V_)V> L 7<<ﬁ> = 7<<v>7<<w>
V<<W> = 7<<v>7<<ﬁ> 7<<W> = '}Q(V)'}Q(ﬁ)

€ Pwgupdwly wpwqmpniGGaph dhol bnuwod wnlsmpimGGEpn

(1.10- 27)-ny wmpywd pugupdwl wpwgnipyniGaiph mwpwowywl pununppsGph hwGdw6 L gnuiwpdwl pwGuwdltpp

Gnud GG GnuyGp, pwyg (1.10- 28)-ny wipdwd b wju wnwGdGwhwmmly nhwph hwiwp (1.11- 29)-ny npnpywd A
gnpodwyhgGtiph dbwthnfunipjul pwGwdlbtpp, hwiwdwyG (1.11- 24)-h, Y hGEG.

A(Up) = A(Vp)AW,) — L2 V(p:\é"vp

v, u

AWp) = A(Vp)A(Up) + %32%

bhuy (1.10- 25)-ny npJwo pwgupdwy wpwgnipymGGatph mwpptpnpywl pyuwyhl L nwpuwowwl pununppsGiph
dLwthnfumpywl hwjuwuwpnudGhpp Y1hGaG.

0 0,0 0 0¢-0
np = %VPWP . ﬁp = %VPWP
0. 0. 0. 0.
ﬁp = %(vpv_)vp _vap> ﬁp = %(VEWP _vap>

‘Liwlwytu (1.10- 26)-ny wmpywd pugupdwl wpwgnipyniGGtph gnudwph pyuwjhl b mwpuwowwl pununphsGepp
dLwthnfunipyul hwjuwuwpnudGhpp Y1hGaG.

—0 _ 1 500 «0
Wy, = Tvpﬁp W

) AN
W, = (900, + TY,) W, - (V)0 +0,9,)

Pwgupdwl wpwgnpniGatph pyuwyhl L mwpwowwl pununphsGtpp, hwdwdw)G (1. 10— 24)-h, pwjwpwpnd GG
htnlyw) dGwyniG wnGynipyjuln.

50\2 50— «0\2 ¢ O 0\ 2 0 0\ 2 0 >
(Wp> + SR, W, = (Wp> + W, W, = (ﬁp> +sU,U, = (ﬁp> +sU,U, =c¢

hGswytiu Gubl, hwiwdw)G (1.10- 23)-h L (1.11- 28)-h, mbinuiwl L pwguwpdwl wpwgnpniGibph (uwpuowywl
pwnuwnnpsGtinh) dhol mtinh niGG htnlyw) wnbsnipmGGatpp.

57 - 86

1.11-35

1.11-36

1.11-37

1.11-38

1.11-39

1.11-40

1.11-41



© - Juwjjuwlul dwpwpbpwiwlnipjul Lwwnnty Stunipjnl - ©

Wp | A— >0
’ 1+ ST
w 1.11-42
_ p
W= 1o 0
A(w,) — 5S¢
&  Shywlwl L pugupdwly wpwqnipym GGaph gnnipjwl mpipngplbpn
Stnuiwi L pugupdwl wpwgnipyniGhtph qnjnipjul mhpnyplbpp npntnt hwdwp dtlp wytwnp £ oqunytlip
(1.11-27)-hg L (1.11- 42)-ny mpjwd puguwpdwl wpwgnipjul pwGwdthg: Ujuyhuny dklp wtwp b niobtlp htunlywy
wlihwjwuwnpnpjniGGiph hwdwwpgn.
w>0
1+s%W >0
1.11-43
w W 1 S
w,=—>% = j1+s¥ -~ 1250
! /1+s—ucU ¢ ll+s—%U ¢
Qujuqwo S gnpowlgh npnpdwl wmhpnyphg' Gpwlhg, mbnuiwi L pugupdwly wpuqmpjnGatpp (wpuowlwb
pwnunphsGtipp) mGsG gnympjuwl htnbyuw mhpmypGhpp.
tipti s<0 0<w<-Lc L 0O<w,
w) bp < wujw <W< -5 < W, < 111.44
p) tph s>0 wyw O<w< o L O<w, <o
4. Onppnpn winwldGwhunnml nhupp
s+0
1.2 1.11-45
g=(39)
& Ujyu plyphl hwmntly wnGsmpiniGGEpn
(1.8) pwdGny pyunpywo pnnp wihwdiwswihnipymGatpp L htnbwpwn Gub ponp pwGudlbpp wyu wnwGdGuhwnny
ntiyph hwdwp Gnyluybu ywhywlynd GG: Pwgh wyn, wju wpwGdGwhwnny nhypny, npny pwlwdlbp g = (%S)2
wndtiph nhypnd wjjwubpynd b6 L hbmblwpwp dhlp wyuntn YGapjujugltbp dthw)l wyl pwGwalbpp b hwjwuwpmdibbpn,
npnlp mGhG wlGhwym mwppbpmpyniGGbp:
Uju wnw(dGwhwwnniy nhiwyph hwdwp, hwiwéw)G (1.10- 21)-h, A qnpowyhgp YniGhGu htinlyw) wpdtpp.
Aw,) =1 htnluwpwp %|S%| <1 1.11-46
buy (1.9- 30)-n npJwo {wjjuywb Vs qnpowlhgGtipp, hwdwdawjG (1.9- 34)-h, (1.10- 20)-h L (1.11- 46)-h,
Jquiwjwlwl minuywl W wpwagnipjul hwdwp yniGEGwG hbwnlyw) wmtupp.
—
ye@)=—21 _— -1-1s% 50
1+ isW
2°C
R 1.11-47
ye(W)y = —21 — = l+%s% >0
1+ %s%
(1.11- 47)-ny mpywd {wjjulyub Vs qnpowlhgGtph wpnwhwjnnipymGGtpp, hwiwdw)G (1.10- 18)-h L
(1.11- 45)-h pwwpwpnid GG Gwl htwmbyw] wnGynipjuGp.
2 W2
r(W)r. (W) - N1 Y o 1G9 1.11-48
l—(%s) ? (l+ %ST)(].‘F %ST>
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(1.11- 48)-hg utlp YumwlGwlp htnlywy GniyGnipyniGp.

(1+—sﬂ>(1+ s—>71 ( s) 2 l_(%W>O 1.11-49

¢  wpwpbpuwlwl pwupddwl <wjhwlwl dhunhpnfunipyud hwjuuwpndGhpn
(1.8-15)-ny L (1.8-17)-ny mpjwo hwjtipuyhl whnpunupdguo dluthnfumpyul {wjjulyul hwjwuwpndbipp d6nud
GG GnyyGp, huy (1.8- 25)-nd wmpdwd {wjjulywl hwpwpbpwlwlimpjuwl hwnnly mtunipjul ninhn L hwjwnwupd
dluwthnfunipjuG hwjwuwpnudGtipp, hwdwdw)G (1.11-45)-h L (1.11- 47)-h, YplngniGEG htnlyw) mbupp.

Minhn dLwhnfumpniGGhp Jwjuwnund dlwhnfumpyniGGtp
?/ = %[(1+s¥)?+(%s}2%?] T = ﬁ[(h—sE)t +( s)
1+1s¥T 1+ 3s¢ 1.11-50
L
¥ —L (-t x-—1 _(3-v¢
1+ S— ( ) 1+ %s% ( )

‘Luwb duny YgpytG Gul (1.8-26)-ny, (1.8-27)-ny L (1.8- 28)-ny npJwd {wjjuwwl hwpwpbpuwwlnipjul hwwmniy
wtunipjwl Wynw ptip dlwthnfumpjwl hwywuwpnuiGhpp:

UjGnihtnl, hwdwdwyG (1.9- 34)-h L (1.11- 45)-h, dtlp (1.9-40)-ny L (1.9- 41)-ny mpJwo showlwjph L hp
nhpdtiptiGghwih hwdiwn, wju wnwldGwhwunny ghypnd, Junwlwlp htnbjw] pwGuwdlbpn.

L= c_t’,+%s?/ =Ct+ isx = c‘t_,+%si/ =Ct+ 1k >0
1.11-51
! !
dé = cdt + 2sdX’ = cdt + 1sdX = odt + Lsd% = cdt + 2sdX > 0

buly (1.9-42)-ny L (1.9- 43)-ny mpywo dhowlwyph b hp nhpptintighwh hwdwp, GniyGubv hwiwdw)l (1.9-34)-h L
(1.11- 45)-h, dtlp Yunwlwlp htmljw] pwGwdlbpp.

L= (1+ %s%)(c_t’,) = (1+ %s%)(c?) = (1+—s—> ct , = (1+—s—><ct >0 1o
di = (1+ %s%)(cd_t)/) = (1+ %s@)(cd?) = (1+ %s%)(cd‘t_j = (1+ %s@)(cd‘f) >0

Oquiytiny (1.11- 52)-hg, vkGp (1.10- 1)-nd vwhiwljwo puguwpdwl dudwiwyh b hp nhpdtintiGghwh hwdwp
JuunwGwlp htnlyw) pwlwalbipp.

= —
T= %b = (1+ %s%)?, = (1+ %s%)? = (1+ %s%)‘t_, = (1+ %s%)‘t_ >0

1.11-53
_l4s- d\g7' - W\ g7 = i} W\ gt
dr = Tdb = (l+ %ST)dt = (l+ %ST)dt = (1+ %ST> (1+ ;ST>dt >0
& Shywlwl wpmwqmipym GGhph dhol bnwo wnlsmpniGGapp
Oquutiyny (11— 21p)-ny L (21 -21q)-n huad (1 -23p)-ny b (X1 - 23q)-ny wpgwd wnlsnipjnilhtiphg, hGsubu Gul
(1.9- 34)-hg, wju wnwldGwhwwniy niyph hwdwp dEGp Junmwlwlp htnlyw] wnGsnpniGatpn.
-
(1+ —si>(1+ s"é’)
1+ is% = > 1
2 1-41 szm 2
4> "2
< 1.11-54
o (1+ %s%>(1+ %s%)
1+4isW - >4
2>e 1@V 2
B
N
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€ LPuwguwnpdwl wpwgmpnGGEph L mbnuwlwl wpwgnipiniGGaph dhol bnwo wnlsmpniGGhpn

(1.10-11)-ny L (1.10- 12)-ny uwhiwljwo pwgwpdwly wpwqmpjniGltph pywjhl b mwpuwowub punungphsGtpp,

hwdwdw)G (1.11- 47)-h, Y1hGhG.

Oquiytiny (1.11- 46)-hg, dtlp (1.10- 22)-ny wmpjwd puwguwpdwl wpwgnipyuwl pyuwyhl pununphsGph hwdwp

JuunwGwp.

bhuy oquuytiny (1.10- 23)-hg L (1.11- 46)-hg, dtlp Jupnn Llp Juiwjwywl ninhn L hwyunhp mtnujwi

W, = y.(W)c= c
p =7 (W) 1+%s@
, =y (W= —V
1+ 1s¥

wnpwqnpniln wpnwhwjnb pugupdwly wpugnipjul nmuwpwowul pununphyny himbgwy Yhpy.

(1.10- 27)-ny wmpywd puwgupdwl wpwgnipniGaiph mwpwowywl pununppsGiph hwGdw6 L gnuiwupdwl pwGwdltpp,

U, =W, -V,
W - U+ 7,

bulj oquuytiiny (1.10- 24)-hg Yuu (1.11- 56)-hg, vtlp Juiwjulwl pugupdwly wpwgnipjul pununphyGph hwdwp

hwdwéw)G (1. 11- 46)-h, hGhG.

Juunwlwlp htinbywy WGwynil wnGsympnilp.

UjGmhbtnl oquaytiny (1.11- 51)-ny mpywo showlwjph pwlwdlhg, (1.11- 53)-nY mpjwo pwgupdwl dudwlulyh

W= —
—
1_i3&
2 C
<
—
S
—
1+ is&
g 2 C

o

=0 1w _ &0 16
Wy + 5 SW, = W, + 5 SW, = C

Up :Wp_vp
W, =0, +V,

pwlwdlhg b (1.11- 55)-hg, dtlp wju wnwldGwhwwumniy ntiyph hwdwp, (1.11- 50)-ng npdwo {wjjuyub

hwpwptpuyuwlmpjwl hwnnty mbunipjub ninhn L hwuwnwpéd dluhnfunipjwl hwjwuwpnuiGtipp Yupnn tlp qpty Gub

htinlyw Yupy.

Minhn dLbwthnfunipynGGlp

Canqomd 1-31 - U wnwldGwhunnnl pbyph hwdwp mbpulul L pugupdwl wpwenipniGGEph gninipjwl
whpnyplapp (ppy hwdplynd BG widkGuplnhwinip nbuyph (hhlqbpnpyg wirwldGwhunnnly nbuyph) wpwqmpiniGGEph

qnmipjwl wmppnyplbph htu L hbnbwpwn dblp wil wjunbn sG0p pGGunphh:
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5. <plqbpnpn wnmuldGwhunnnly juwd wdbGwplnhwlnn nhuypnp

s+0

g+0

Wipnng vtip hnnpjwon Gyhpywo E htiGg wju witkGuwplnhwlnp niwyph htmwgnuniwbp: UjGwybku np wjuntn dkGp
hhdGulwlnd YpGGupytlp dhw)l mnuiwi L pugupdwl wpuwqnipyniGGtph qnynipjwl mhpnyypltph hwpgnp:

& Shywlwl wpmuwqmipym GGhph gninipjwl wnppnyplhpn

Uhwswth mwpwonipjul dhe mtnujuG wpuwqnipyniGlbph qnynipjuwl wmhpnyplbpp npntnt hwdwp, wpugnipjub ninhn

Jud hwlunhp (hGhp Juplnp sk L hbmblwpwp wyu witGwplnhwnip nhwyph hwdwp dklp Jupnn Gap npnptp mbtnwlwG
wpwqmpnilGph gnympjul wmhpnypGhipp, juugwo dudwlwjunwpuwonipjul Junmgguopn pnipugpnn S b g
qnpowlyhgGtiph npnpdwG mhpnypltphg: Ujuyhuny dkGp whwmp b imotlp (1.9- 33)-nd wupdwd wihwjwuwnpnipniGGhph
hwdwuwngp yuiwjuwuwb gpuijul W ntnuyul wpugnipjul hwdwn, hGyubu gnyg £ updwo unnple.

w>0

1+s¥% >0

2
1+s%+g% >0

(1.11- 62)-ny wmpywd wihwjuwuwnpnipjniGGtiph hwdwwnpgp dtGp Jupnn Glp gpt Gub himlyw nkupny.

w>0
sW>-1
2 1q\2
W, S g—(;s)
g(C+Zg> +—g >0

(1.11- 63)-h dhwyl wnwohl L tpypnpn wihwjwuwpnipniGatphg plunid GG ntnuwl wpugnipyniGGtph htnbguy
qnjnipjwl mhpmypGhnp, juiugwd dwiwGujunwpuonpnilpn pGmpwugpnn S gnpowygh npnpdwl whpnyphg' Gpwlhg.

1
1) tphk s<0 wyw O<w<-gc

2) tph s>0 wuw O<w< o

Ujdu htmmwgnuatiGp (1.11- 63)-ny wpywd tppnpn wihwyjwuwpnipyniGp, npp g qnpowygh npnpdwl whpnyphg
Juugwo, dtlp Jupnn tlp mpnht) wy6 tptp GGpwnbwyptinh hmlywy Yhpy.
2
w)  g=(39)
2
p) 0<g<($9)
Q) g<0

dhpmotlp (1.11- 65)-nd npdwo tlpwntwptphg mipuwpwbsynipp (1. 11— 64)-h htinn hwiwwntin:

w) Gpp g Z(%S)2 www (1.11- 63)-h tippnpn wihwjwuwpnipjul dwhu Ynnip hujuwybu dhpwm YihGh
nnuwliul dhonpynilG L hbmblwpwup W mbnuiwl wpugnipyniGp Jupnn £ nilbGuw guGuguo gpuljub wpdtp:
UjGnithtnl hwiwwnmbtintinyg wjn qnjnipjuwl whpnypp (1. 11- 64)-nd nipdud gnynipjwl mhpniyph htn, dtGp wju
tpwntiyph hwiwnp Junwlwlp minwijwl wpugmpjuwl htnlyw gnympjwl whpnypbtpn:

1) tph g= (%S)2 L s<0 wuw O<w< —%c

2) tph gz(%s)2 L s>0 wuyw 0O<w< o
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1.11-61

1.11-62

1.11-63
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p) Gop O<g <(%S)2 wuww g gnpowlhgn gpuywl seonipynil £ L htmbwpwp (1.11- 63)-h tppnpn
wlihwywuwnpnipynilp dtlp Yupnn Gap qpbp hbnlyw) Yhpy.

2 (39°-9
W, s 223 79
(C+29) > e >0

(1.11- 67)-ny wmpywd wihwjuwuwpmpjul wpdwwbbpp YihG.a.
wy = —%(%s+ /(%3)2 -9 )c
Wz = —%(%s— /(%s)2 -9 )c

Lwlh np wju tGpwnbyph hwdwp g > 0, htwmlwpwp Wi L Wo wpdwwnmbbph shol dhpwn wbtnh niGh htnbgug
wnlynipjnilp.

W1 < Wo

Ltunlwpwn, hwdwdw)G (1.11- 69)-h, wju tapwntyph hwdwp (1.11- 67)-ng mpJwd wlihwjuwuwpnipjul dty W
wbtnuyuwl wpwgnipjwul tpynt gnjnipjul whpnypltpn YhGkG.

W < Wy L W > Wo

(1.11- 70)-ny mpywo wlhwjwuwpnipyniGipp hwdwntn notnyg (1. 11- 64)-ny mpywo wihwjwuwpmpyniGatph
htin, dtlp YtpoGwywlwwbu, wju tipuntwyph hwiwp, junwlwlp ntnuiwi wpugnipjwl htnbyw) gnynipju i
whpnipGhpp.

1) tph 0<g< (%s)2 L s<0 wwyu 0< —%C < Wi < W htnluwpwp 0O<wc< —%c
2) tph 0<g< (%S)2 L s>0 wuyw Wi < Wp < —%C <0 htnlwpwp 0<w< o

q) Gpp g < 0 wyuw (1.11- 63)-h tppnpn wlhwjwuwpmpjniGp dkGp Yupnn GGp qpby htinlgwy Yhpy.
2 is 2 —

o<(w, s .G -9

C Zg g2

<{tpw k huingyby, np wju GGpunbuph hwdwp, wiwp S qnpowlgh Gpwbhg, (1.11- 68)-ny mpjwd Wi wpdwunp

dhym npuuG k huy W2 wpiwwnp dhywm puguuwljud.

wy = _—19](%s+ \/(%3)72—900 >0
Wy = _—19(%5— /(%s)z—g>c <0

UyuhGpG, hwdwdw)G (1.11-73)-h, w1 L Wz wpdwwmlhph dhol thpm mbinh niGh htnlyw) welsnipyniln.
Wo < 0< W1
Ltnlwpuwp, hwdwédw)l (1.11-62)-h L (1. 11— 74)-h, wju kGpwnbtiyph hwiwp (1. 11- 72)-ny mpgud
wlhwjwuwpnipjul hwdwp W puiui) mbnujul wpugnipjwl gnynipjuwG wmhpnypp YihGh.

W, < 0<w<w;

(1.11- 75)-ny wmpywo wlhwjwuwpnipynilp hwdwntn mobtny (1. 11- 64)-ny mpjwo wihwjuwuwpmpyniGGtph htn,
utilip ytipeGuwywlwytiu, wju tipuntyph hwiwp, junwlwlp ntnuiwl wpwgnipjuwl htnlyw) qnynipjuwl mhpnyypltpp.

1) tphk g<0 L s<0 wuyw W2<O<W1<_isc htmbwpwp 0 < w < Wy

2) tphk g<0 L s>0 wyw wy < 0 <wy httnmbwpwp 0 < W < Wy
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€ Pwgupdwly wpwqmipmiGGaph qnymipjul mppnplbpn
Oquytiny (1.10- 19)-ny wmpjwd wnlsmpjniGhg, hGswtiu Gub (pGnqomy 1-27)-hg, dhGp JunwGwlp htnljuwy
wlhwywuwpnipjniGGiph hwdwlwpgp, npp b whwp t nioklp.
w, >0
wi
0 <1
Qwiwdwyl (1.11-77)-h, Qwjjuyuwl hwpwpbpuywlnipjul hwnniy mtumpjul vt pugupdwly wpuwgqnipjwl
qnynipjwl wmhpnypp jufugwo £ dhwjl dwiwiwjunwpuwonpjul junmgywopn pinpwgpnn g gnpowlgh Gpwlhg.

1) tph g<o0 wuw O<w, <o
2) tph  g>0  wuw 0<wp<c%

Uju pwdlnud pGGupydwo hhlq wnwGdbGwhwwnniy nhwptiph hwiwp mnuliwl wpugnipyniGGbph pninp hGwpwynp
gnynipjwl mhpniyypltipp mpywo GG unnpl.

g\s | s<0 | s=0 | s>0
g<o0 | O<w<w | O<W<C,—% | O<w<w
g=0 [ 0<W<—%C [ O<w< o | O<w<ow
0<g<(%s)2 [ 0<W<—%C [ O<w< o | O<w<ow
g>(%s)2 [ 0<W<—%C [ O<w< o | O<w<ow

Nputn Wi L W2 wpuwqmpymGGtpp wmpgwo G6 (1.11- 68)-ny.

buly GniyGuytiu wju pwdind pGaGuwpyyuo hhlq wnwldGwhwwnmnty nhyptph hwdwp pwgupdwl wpugmpyniGGhph pninp

hGwpwynp gnynipjul wmhpnyypGtpp mpjwo GG unnpl.

g\s | s<0 [ s=0 | s>0

g<o0 |  O<w, <o | O<w, <o | O<wp, <o
g=0 | O<w, <o | qnmpymuGsmGh | O<w, <o
g>0 | O<Wp<c\/% [ 0<wp<c\/% | O<Wp<c\/%

Canqomd 1-32 - Apwppmpul | wpdwlh wylG gromnp np, hwdwdwG (1. 11— 79)-ny ipgwé mbiqulwl
wmugnipiniGGbph qnympjul mppnypliph, uyl qupbih F padwGly Gpin ihdGulul dwoh hlnlguy Gapg.

1) tpp s>0 'S g=>0 wwyw O<w<w
2) tpp s<0 Juu g<o0 wwyw O<w<w,

fmnby W, vwhibwlwihl wpwqnip/nilp plnpnilnif Ewa, —%C Lc —% wndbplbphg nplk UG

Undb wnmuld Gwhunnmy Gk Guil, np wpwqmipjul dbompul dwuhl wpnh phqhluwnid mppng pwnup (Gwulhin
[njufig wmug qupng pwpdjly pb ng) wmugwgly b dpugl n dhugl wyG qundwnny, op sh wupquoqulynid pb oy
wpwgmpjul dwuhl F funupp' mbpulwl wmuqmpul pb pugupdwly wmuqnipjul:
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1.12 - dJuwdwlwjuwunwpwowjhl uuhnfumpniGGtph Lhpjuwjugnidp
Unjnuuwujhl {wjwuwpnidGtph Stupny

UtiGp upnn GGp dhwywih Gnjtiph hwdwp wpnmwoquwo <wjjuluwl hwpwpbpuwinipjul hwnny ntumpjwl
dLwthnfunipjul hwjuwuwpnuiGhpp Gepujwglby Gubk wnnuuwlwihG hwywuwpnuiGiph mbupny: Hpw hwdwp dklp wyhnp
t oquytlp (1.8-15)-ny L (1.8- 17)-ny wmpywd hwybjuwyhl winpunupdyud <wjjuiul dbwhnfunipjub
hwjwuwpnuiGlphg, hGyybtu Gl hpwp Guundwdp hwpwpbpuuw6 Jupddwl dke qubynn tpynt mwpptip hGepghw
hwiwlywnpqgtiph (1.8- 25)-ny, (1.8-26)-ny, (1.8-27)-ny L (1.8- 28)-ny mpjwo <wjjujwl dluwthnfumpjwub
hwjwuwpnuilbphg, npubg vt ywhwywlbting swthnnuywinipynilp b dwdwlwly - mwpwonipynil htppwlywlnipynilp: Uyn
Gupunwlh hwdwp Gwhu gpeGp K W K mnhn W hwljunhp bpynt hGipghw; hwdwljupgtph shel <wjywlw6
dLwthnfumpjul hwywuwpnuiGipp Wywhwloywo Jupgny:

&  wyhwlwl dhunpnfumpjul hujuuwpnmdGhpp R L R vhuy G mighn plbpghwy hwdwlwnpgbph dhol

Minhn dLwhnfumpniGGhp Jwlwnupé duwthnfunipyniGGtp
@) @) D E T r @14 )(1) ror(DEX | 1421
= (DE(R) + 7. (DX R =7 (DE(T) 7 (DX

&  Jwyhwlwl dhunpnfumpjul hwjuuwpmdGhpp R L R vhuwy G hwlpunhn hGpghuy hudwiiwpgbnh dholk

Minhn dLwhnfumpniGGhp Jwlwnupé dLwthnfunipyniGGtp
- r D) D T L [E ) e
% =7 (D)L (cT) +7.(?) (1+ s%)y K =7 (D) E(cT ) +7.() (1 i s%)y’

!
&  wyhwlwl dhunpnfumpyul hwjuuwpnmdGhpp R hwlhwnhn L R nipfing plbpghwy hwdwlwnpgliph dhol

ct = 7.(V) (c_t’,) +7.(V) (s+ g%)?/

ct = y<(V)(c_t’> +y<(V)(s+ g%)?

L 1.12-3
8 = 7. (N L(T) - 7. (V)3 K= 7. (V)E(ct) -7 (DY
¢  wjhwlwl dlhwhnfunpjul huguwuwpnidlGepnp R/ nmhny L R hwlpunhn plbpghwy hwdwlpupgbph dhol
ct = r.(¥) (1 + S%)C‘t_‘l’ '}/4<v>|:s(1+ s%) - g% ]Y
1.12-4u
X = (D (D) -r(@)(1+5E)x
ct =y (V) 1+ ¢t 4y OVIE 1+ —gE <
) e E) ¥

R = (D E(T) -r.(M)(2+sF )%

Utilip dwdwlwjuunwpwonipjul dudwluyh b mupwompjul wnwlgpuwpybpn jupnn blp Ghplujuglty vkl
ujniGwlwlh wnynuowlGbph ntupny htnlywy GQugpnipjudp.
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!
e K 1 K nighny hGbpghuwy hwdwlwpgbpnf

-/ _t’, - _t’
G u F=| ¢
X X

!
L 2 R L R hwlpunhp hlbpghwy hwdwlpupgbpnnf

! ‘t_, «— T
F=] u F=| ¢
< X

Jwiwduwyl (1.12- 1)-ny L (1.12- 2)-ny mpqwo {wjjulwl ninhn b hwjuwnupé duuwthnfunipjuG hwjwuwpnidGhph,
hGswtiu Gul (1.9-31)-ny L (1.9- 32)-ny mipJwo pwlwdlbtph, ninhn L hwjwnupd dhwhnfunipjuwl punwyniuph
wnyniuwlGhpp dklp Yupnn tlp gptip hbmlgwy GQugpnipjudp.

- — - — -

v ¥ i

> 1+sYL g¥ 1 Y

A I A T
| T 1 i . < l+s¢ i

<

i v .9 | i v o

< 1+s% g 1 —qgXx

NG| IR e o

X Y o14sY

L L _ L _
buy, hwiwdwjG (1.8- 15)-ny L (1.8- 17)-ny nipJwod hwytjwjhG winpunupdgwo {wjjuyuwl dlwhnfunipjwub
hwjwuwpnuiGlph, dbwhnfunipjul pwnwlniuh wnnuwlyp dklp Junpnn blp qptp htimbyw) GQugpnipjudp.

-~ 1 s
h =

Oquiytiny (1.8-9)-ny L (1.8- 24)-ny mpjwd pwGwdltiphg, hGswtu Gl (1.9-27)-ny L (1.9- 29)-ny nipdwd ninhn L
hwlwnhp hwpwptpwlywl wpuqmpiniGatph hwdwp {wgjulyub y 2 qnpowlhgGtph punwlyniun pwGwdlbphg, htipnm &

hwinqyt np (1.12- 7)-ny mipJuo {wjuwlul mnhn L hwunupd dlwnfunmpyniGGiph punwyniuh wnynuuwyGhpp
pwyjuwpupnd b6 htnlyw wnGsnipymGGaphG.

gf=2 U gl =8|=1

‘Liwlwwbu htipwm £ huningyty Gwl np (1.12- 8)-ny wipgwd hwybjwyhG winpunupdiwl Lwjjuywl dlwhnfunipjwb
pwnwlniuph wnnuwlp nbGh htnlyw) hwnynipymGGatpp.

~\ -1 ~ ~N 2 ~
(h) -h Yuwd np GoyG & (h) S L ‘h‘:—l

Oquiytiny (1.12- 7)-ny npdwo hwpwpbpuyub pwpddw {wjjuluwl wnnuuwylbphg L (1.12- 8)-ny mpjuo
hwjtjuwyhG dlwthnfunipjul <wjuywl wnynmuwyhg, dkGp Jupnn Gip Juqit] htwnlyw) wgnuwluwihG wponwnpyuyGhpnp,
npnlp GnijGuybtu hwlnhuwlnd GG pwnwyniuh wnyniuwyGbp.

- — -

- 1 s+g% 1+s¥ s(l+s%)—g% -
hé = ?’<<v> v = ?’<<v> v < =&h
L < -1 i -< —(1+ST)
<
~ 1 s+g% 1+S% s(l+s%)—g% 2~
hg = }/4(V> < = 7<<v> v v =&Eh
L < -1 i - —(l+ST)
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~ 2 9
(1.12-11)-nd mpywo h, & L & Jwyjwlywl wnniuwyltph fuwep wpnwngpywGiph npnghsGhpp Y1hGkG.

hel=[ne|=-1 1.12-12

~ 2 <
hGsutu Gwb h, § L & <wjjuwlwl wnymuwlyGtph shol qnynipymG mGLG htnlyw) welsnipyniGabpn.
P
=hé&h
5 5 1.12-13

~ET
o~

% _nen

Ujdu oquuytiny (1.12—-5)-ny L (1.12- 6)-ny nipywd dwdwlwy-nwpwonipjnil wnwlgpwpytnh wnjniuwyGtphg,
hGywtiu Gul (1.12- 8)-ny wmpywd hwjtjwihG winpunupddwl {wjjuyul wnjniuwlhg, dtlp Yupnn tap (1.8- 15)-ny
upjwo hwybjuwghl winpunupdquwo <wyjuul dbwthnfunipjul hwjwuwpmdGipp gptp wnyniuwyuwihG hwjwuwpndGeph
wmtiupny htmlyw Ytpy.

P NN — A~

K' pGtpghw; hwiwjupgmi = 7 =hf K hGtpghwy hwiwupgmd = 7 = hf

¢t | | 1s ct . ct | | 1 s ct 1.12-14
Y/ - 0 -1 Y/ Y B 0 -1 ?

Liwlwybu (1.8- 17)-nd mpjwd hwjtijwihG wlnpunupdjwd {wjjuyub duwhnfumpjwl hwjwuwnpnidGtpp dtlp
Juwnnn GGp gpb] wnnuuwlwihG hwjwuwpmuibGbph mbupny htimbywy Yupy.

—/ ~! - ~—

K' pGtpghw) hwiwyupgmi = 7 =hf K hGtpghwy hwiwupgmd = 7 = hf

ct | | 1s ¢t . ct | | 1s ct 1.12-15
2 | | o-1 < X | | 0-1 <

buly wjdd GnyyGuytiu oquytiny (1.12—-5)-ny L (1.12- 6)-n] mpjwo dudwlul-nwpwonipjnti wnwlgpwpytnh
wnyniuwlGtphg, hGsybtu Gub (1.12- 7)-ng mpjuo {wjuul wnnuwyGiphg, dtGp Jupnn Gap (1.12- 1)-ny wipqwo ninhn
L hwyunupd dwjjuul dhwthnfunipjul hwjwuwpnuiGhpp gpbp wnyniuwwjhG hwjwuwpndGtph wkupny htnmlywy Yhpy.

P RS
Nuhn dbwthnfunipyniGtp = 7 = &7 Jwlwnwnpd dbwhnfumpyniGtp = 7 = &7
ot —7.(V) 1+3% 9% ct ct (D) 1+s% g% et 1.12-16
X 4 -3 1 X X ) A X

Liwlwwbu (1.12- 2)-nd mpdwod ninhn b hwunupd {wjjuiut dbwhnfunipjul hwjwuwnpndGhpp delp Jupnn GGp
qnb wynuuwywjhl hwjwuwpnuiGiph mbupny htimbywy Yhpw.

— T — 2!
NMinhn dbunpnfunipymGGep = 7 = EF Juwunupd dlwhnjumpiGiin = 7 = &7
C‘t_/ =y <v> 1 _g% C‘t_ L C‘t_ =y <v> 1 _g% C‘t_, 1.12-17
/ AN AN '
X % 1+ S% % X % 1+ s% X

(1.12-16)-nJ L (1.12- 17)-ny mpjwo ninhn b hwjuwnupd {wjjuyub duwhnfumpiniGitnh wnnuuwyujhG

hwywuwpnuiGhph Gpyne Ynnubpp puqiuyunybting dwpuhg ﬁ wnyniuwlny L hpptinyg Gwb (1.12- 14)-ny L (1.12- 15)-ny
nnjwo hwybjuyhG winpunupdywo dbwthnfunipjul wnyniuwujhG hwjwuwpndGbpp, dklp JunwGwbp (1.12- 3)-nyd L
(1.12- 4)-ny npJwo dbwthnfunipyniGGtph wnynuwwyhG hwjwuwpndGhpn.
! ~\ <
()

«! A2\ >
T = (hg)f
= ~\ o - A2\ !
T = (h&)f T = (h&)f

-]

1.12-18
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1.13 - dbpowpwl jud Udthnthnud

Utilp wywgnigtghlp, np «dwjjuul {wpwpbpuuinpjul {wwnniy Stumpjnii»-p hwpniuwn b Gnpp L nddun
pupGhih, pwn nhiyptpnid wenopjw YhGuwihnpdhG fuhum hwwunn wluywubtih qunuthwpltpny: Utp wju hnpJwop dhwjG
sh pinhwGpwglnmy dhGsh wydd tnuwd ntuwlwl wpynlpltpp, w)p wnwlg npll vwhiwlwthwydwl, Jwpnip
dwptitwnhuwlwl tnntgiwb thongny, thnpdmd £ dh Gnp ghnwlywl hinuypontd wwywhnynn pwpdnipjmb gl
hwpwptpwlwlnpjwl hwwnnty mbunipjwl qunuthwpltph uwpwliiwl L dEYGwpwidwl hwpgbpnd, hGywybu Gul

nintlynid £ Swlwwwph shwgjw) nupumph mbunpjul junnigiwl hwiwn:

CGaptipgnnp Junpnn £ Guwwnmty, np dbp hnguond, dhwswth hghulyul mwpwonipjub dky, dwdwlwyp L
wnwpwonipjnilp, pugupdwl wpwgqnipjul pununphsGtpp b pGnhwlpuwtu pnnp pugwpdwy phghuuwb dtonipniGatph
pYwjhl L mwpwowlwl pununphsGtpp hwlnhuwind &6 tGpyywt pytip, hul tonwswith hghuljul nwpwonipjud vke
ytipnGpjwy dhompyniGGtph pyuwyhG b nwpuwowwl pununphsahpp ghwinhuwlwl punwswih pytip (quaternions):

Qujjuul dwpwpbpuwinipjul {unny Stunipjnilp dwptdwnhynpb6 wylpwl Ynn £ L juunwpjwy, np wyG sh
Jupnn (hGh] ufuwy: <{Gnlwpwp dtp Ynndhg vnwggud <wjjuyuwl dlwthnfunipjuG hwjwuwpnidGbpp ny ShwyG wbwp k
thnfuwphGtG LoptiGgh dbwthnfunipjul hwjwuwnpndGephG, w); wdpnne wpnh $hqhywl whtwp t Gnphg qpyh: Opnyghtinb
LoptGgh dLwthnfunipjuG hwjwuwpnidGtpp hwlnhuwGnud G6 dhwy6 <wjuiul hwpwpbpuuwinpjuwl hwnmly nbunipjul

dLwthnfunipjuwl hwywuwnpnuiGhph dh pwn SwulGwynp nbwpp, tpp S=0 L g=-1:

Uju pwdind withnth Jwpunptilp dvtp unwgwo Juplnp wpnynilGpGhpp:

1. <wyhwhwl hwpwpbpulwGnipyul hunnntl mbunipjul dhwhnfunipywl hujuwuwpnidGepp:

& wybjuyghl whnnunupdywo <uylwlwl dLhunhnfunipyul hwjwuawpndGhpn

! !
K U K hibtpghw hwiwywngtph thel K u K pGtpghwy hwiwywpgtph shol
¢t =t +sx - ct =ct +s%
% =X % =-x

!
¢  wjhwlwl dlhwhnfunipjul hujuwuwpnidlGepnp R L R niphn plbpghwy hwdwlwpgliph dhol

Mnhn dLlwthnfumpyniGGtp {Lwlyunupé dbwthnfunipyniGGtp
T =y M| (21 t 1? =y, (V)| (1+s¢ )T +gl?'
=7 (1+5L )T+ a7 ] . -r[( ) ]
X =y (D(R-7T) X - yi(V)(?/—V_t’)

!
¢  wjhwlwl dlwhnfunipjul hujuwuwpnidlGepn R L R hwlughp hlGbpghuwy hwdwlupqbph dhol

Minhn dLwthnfunipyniGGlp {wjununpd dbwthnfunipymGGtp
T =y (D(T-93%) -7 (M)(T -0 %¥)
b
8 =7 (D[ (1+sF)x+77] K =7 (D[ (145 )% +97 ]
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& [ighn L hwlwghp hwmupbpuolpu wmuqmpim GGEph juyp L quiditw gnpowhglbph

wpuwhwunnpn GGhEpn
( v
o vv r (V) = vl N = AV;) - s >0
l+s¢ l+s&+ g?
L < 1.13-4
v
Vo Vv r (V) = 1 > = A(Vp) + 35— >0
l+s¢ 1+ s% + g%
N
Qujjuwlywl hwpwpbpwlwlnmpjuwl hwnmly mtunpjul dlwhnfumpjwl hwjwuwpndGbpp, hwdwdw)G (1.10- 29)-h L
(1.10- 30)-p, vtiip wpmwhwjntighGp Gwl V, pwgwpdwl hwpwpbpulwl wpugnipjudp:
!
&  wyhwlwl dhunpnfumpyul hwjuuwpmdGhpp R L R nipfing plbpghwy hwdwlwnpgliph dhol
Minhn dLwhnfumpniGGhp Juwjuwnund dluwhnfumpyniGGtp
-2/ Vo |~ v - v, |- Vo o/
t =[A(vp)+%sTp}t+gC—§ t :[A(vp)—%sT‘“}t +gc—§? 1135
3 - |:A(Vp) - %s%}y_vp? % - |:A(vp)+ 1% }?’ 2,7
!
&  wyhwlwl dhunpnfumpyul hwjuuwpnmdGhpp R L R hwlunghn hlGbpghwy hwdwlwnpgbph diol
Minhn dLwihnfumpniGGhp Juwuwnund dlwhnfumpyniGGtp
«! v «— v «— V ! v /
t =[A(vp —%sTp}t—gC—gi t :[A(vp)Jr%sT‘“}t +gC—§Y 1136
5 = |:A(Vp) + %s%}mvp? 5 - |:A(vp)— 1% }y’ v,f
& Lwidnw gnpowfhgn, hwdwdwyl (1.10— 21)-h, nibh htnljwy wpdbpnp
v2 Y
AWy) = J1-(9- 555 > %‘sc—‘; 1.13-7
¢  wjhwhwl hwpwpbpulwinippul humml mbunpjul dhunhnfunipyul huduownpnidGeph
wnwligpwpybnn pujupupmd GG (1.9 - 40)-ny wmpywo dhowluph hlnlyuwy dGuwn G wmamwhwpmmpjuln
2 2
K = (c_t’,) + s(c_t’,)?’ +gxX” = (c_t’)z + s(c?)? +gx° = (c‘t_,) + s(c‘t_,)Y’ +g%X° = (cT)z + s(cT)Y +g%° >0 1.13-8

2. dJwdwlwlhh, Gphupmppul L qulqyuoh thnhnfunpniGGhpn

LnptGgh hwpwpbpwlwnipjul mbunipyniGhg pfunid £ np upnn &6 mbnh niGbGuw) dhwjl Qupdynn dnnh jupdwgniy,
wpdynn dwdwgniyjgh dwdwlwyh nuinunmd L updynn dwpiGh quiqyuoh dhowgnd: Pwyg {wjulwb
hwpwptpuwlmpjwl hwnnty mbunipjniGhg htmbnd £, np juhujuwo dwdwlwunwpwontpyjub junnigquopp
pnmpwgpnn S L g qnpowyhgltiph dkonipynilGhg, pwpdynn dnnp Jupnn £ L jupdwlwy L Gpupt: buy pupdynn
duwdwgniygh minuwiwl dwiwGwyn GnyGwbu Jupnn b b nuinuntp L wpuquw: G ippwwbu, wpdynn dwpdiGh
ququop Jupnn b L wakp L GJuqgb;: puw hwdwn delp tphupnipjul «qupdwlwp, dudwliwlh «pubnuntp fud
quiquoh «wdtp wpnwhwjmmpniGGtiph hnfuwpbl oguugnpontid tlip «thnthnfunipjniG» wpmwhwjnnipjnilp:
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¢ W wpuwgumpjulp pupding dwdwgnygnp, npp hwiqunh yhdwlimy guubgnid F to wmbnuwlwl dwdwbuih
wlngmipym b, nghn L hwlwnghp hGhpghuwy hwdwluwpgbpmy, hwdwdwyG (1.3-15)-p, (1.3-19)-4, (1.9- 31)-h
L (1.10- 20)-p, mGhGw dwdwbuih mbngmppul hlinlywy imhnfunipiniGGapp

g

T =p(W)to

re(@)to = ——— -

|
|
>
=
=z
N
|
N[
[72]
oz
| E—
—
S

1.13-9
T = B(@)to = o (W)to = —10— —

2
1+s%+g%

& [ighy L hwlwghp hGEpghwy hwdwlwpgbph inkuwGlynGhg, dhllngl pwupdyng dwdwgnijgh dwdwbulh
wmlnnmpjul hohl wybigniih <uyhwlul pubwdlp

=
1 P W
Atfj(t—t>7<%sTp>to 1.13-10

& W wpwagmpjudp pwpdyng b hwlquinh Jhowlhmid o bplhwpnipm G mlGlgng dngp, mnhn L hwlughnp
hlbpghwy hwdwlwpgbpnd, hwdwdwyG (1.3-4)-p, (1.3-8)-A, (1.9-30)-4 L (1.10- 20)-A, fmbbGw
bphwpmpjul hbnlguwy himanfunipinGGGpp

~
— | = 22
| = 0 =g 1+Sﬂ+gw_ JES— )
— C 2 =
7 W) ¢

1.13-11

v,
C

A(W,) + £s
.

& iphn L hwlpughp pGEpghuwy hudwlpupgbph nbuwGlmGhg, dplingG o GphwpnipiniG niGhgnn yupding
dngh bphuwpmipjwld dhohl wylygmyh <wjwlwl pubwdln

ey 1
al=3(T-T) = == 1.13-12
1_9&

® W wpwqmppudp pupdiyng L My hwlquup qulqyuo mbGhgny hnpd Gwlwl dwulGhln, mphn L hwlwghp

NGhpghuy huwdwlwpgbpnid, hwdwduyG dbp hwonpn hngywich, niGElGw qubqyuwoh hfinljuy
yhmhnfunipiniGGLEpp

r

= m(®) = 7. (@)ms

m W,
o] _ _ 41 P
—2 Ilo|:A(Wp 23 T i|

= m(W) =y, (F)mo = ——Mo

W,
= mo[A(Wp) + s

]

& [ighy L hwlwghp hGEpghwy hwdwlwpgbph inbuwGlymGhg, dhllngl pwpdyng hnpd Gulpul dwelhyh

quiliqyuioh shopl wyljgmbh <wyluwlpul puluwdlbp

Am = %(‘n‘w—ﬁﬁ) = (%s%

Jmo
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3. Stpwlhwl L pugupdwl] wpwqmipimGGhph qgnidwpdwl L hwldwl pubwdlbpn

& Shywlwl wpwqmipym GGhph guidwpdwl L hwGdwl pubudlbpn

~
o ﬁ+V+s@
W =
1—gﬂ2
c
<
- w-Vv
1+s¥+g%
N

¢ LPwgunpdwly wpmwgmpniGGkph nwpuwowlpwl pununphsGhph gnidwph L viuppbpmpyud puGudlbpn

W, = A(V)Up + A(up)V
Uy = AWVp)Wy = A(Wp)Vy

¢  Pwgupdwly wpugmpniGGeph pyughl L mwpuwowlw G punqunphisGeph dhol gnynipyniG niGhgnn dlGuwni G
wnlsnipniln

(@) + s, + g(W,)° = (W9)° + 0w, + g(W,)° = (U9)" + sty + 9(T)” = (7)) + sy, + 9(10,)° = ¢

& Shpwlhwd L pugupdwl wpuwqmpmGGhph dhol bnwo wnlsnipniGGapn
-

= o\ o W - N\ ¢
Wp:y<<W>W:¢ Wp:y<<W>W:¢
W, g W, o
1+ST+Q? 1+ST+Q?
< b <
W= WI—' = WP W= WI—' = WP
— = — =
w W w W
7D - 4% 7D )+ 3%
N N

Gphti dtilip fjunpnipjuwdp Ytpinotbp Gphhp dninpuyh yuwwmdnipynilp b dwpnynipjwl yunmdnipynilp, hwnjuwtu
UpnpnhGtph ginh yuwwinipyniGp, wuyyw hwingytlp np wyl wikGp hGy dtGp tpput unynpby G6p - dhwyb dbo fhnopp E:
Pnnp wuwninpjub L wiqud ghnnipjwl qpppn qpuo 6 wyGuytiu, nputiugh ngpubp ownwjtl Gplyhp dnnpulyh
«huyhsGiph» opwqptphG: Ytnohpl nt umwnp mwpwowo bl wiklmptp b wjdd b mwpwoynid GG: Cwwn-)wwm dwpnhly nhn

wwwpwuw shG pAyniGhnt wju dQdwpumnipjnilp: Pwjg dwpnynipjnilp, dwdwlwy wn dwdwluy, UpnpphGtph glinp
wnwlnpympjuldp wuwwnnmd E dwpnpnipjul dtnwonnnipjwl ypu npjud quuyuwwhyn b pdpnfulnd k apdwpunipjul
nyup: Gy nu hhiGuwyuwlnud juwnwpynud £ mpudwpwluwluwb ghnmpyniGlGaph thongny: Uhw wynuyhuh Guuwwy niGh wju
hnnyuwon L hwnjuytiu «wjuyul Stunipjnil» hhiGwpwnp wpfuwwmnipynilp, npp Joqlh dwpnynipjuln ytpgGuwliwutiu
wquuuqgpytnt Ynohph dhpwGbtphg L wyugnighnt «punpdjwGtphG», np dwpnynipjnilp UnnpnhGtiph ginh
wnwlnpnmpjudp hpwynilp nilh gnjuumbbint L yuwwmpwuwn E dunbbin mhtqtpuul qupqugdwl hwonpny thnuyn:

Utilp Yny tilp winud {wy $hghynullpnhl, dwptdwwmhlynulbph L pnhwlpwwbu pnnp {wy wqqujhl
dnwynpuwlnipjubp shwlwy ghnnipjul ke dtp ujuwo {wjjulub {tnuihnfunipjulp L Gnphg Yipwgnpt) nng

dwpnynipjul dwquiwl L qupqugiwl yuuinipynilp: Uklp Gnphg wtwp E Upwptlp UpwpswpniGyp:
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Luwytpywo 1 - Lpwgnighy Uwpbdwnhyjuiuwi fwlGwdlbp

(1.6-11)-hg, (1.6—13)-hg L (1.6— 15)-hg, juiwywywb V, U L W ninhn L hwuwnhp hwpwpbpuywi
wpwqmpnilGph hwdwp dblp Junwlwlp htnlywy weGynipniGatpp Yayunnpuyuwb GQugpnipjudp.

D 7 (W)(1+5%) =y (@r @[ (1+5%) (1% ) -0 |
2) 7’4(3)(14—3%) = 7<(V)y<(v_’v)[(l+s%)<1+s%> _g%]
9 7@ (1+5%) = r (D (@[ (1+5%)(1+5L) -0 L ]

‘Liwlwwtu (1.6- 7)-hg, (1.6—9)-hg L (1.6— 17)-hg, GniyGuytiv juiwjwywG vV, U L W ninpn L hwywnhp
hwpwptpuywl wpwgmpyniGGaph hwdwn dtlp yunwlwlp htnlyw wnlGympniGGtpp yEhumnpuu Gyugpnipjudp.

8 7 (D) (1+5%) = r.@r @[ (1458 )(1+5%) - o U2 ]
5 7.(T) <1+ s%) = 7<(V)y<(W)[(1 + s%)(1+ s%) _ gC_V‘\éT/]
6) 7.(W)(1+5%) =y (D (D[ (1+5%) (1Y) - oL ]
<<l - l) -hl (41 - 2) -h hwjwuwpmdGbpp pwdwlbny (1.8- 32)-ny mpdwd hwiwwwmwuuwl hwjwuwpmiGbph

Ynuw, dtlp Junwlwlp htnlyw wnGsnipjniGGtpp.
-

N 1+3%= (1+S%>(l+f)_g% 4 \ l+s&: (1+S—> U%)_g%
1_90_\9/ 1- g?

J 2 1+3%= (1+S%>(l+f)_g% W {5 1+3E= (1+s—> v%) g%
- C_\é\/ 1- g?

3) l+s—= (1+S—> %)—g% 6 l+SE: (1+s ) %)—g%
~ 1= g% 1- g%

Stinh niGtG Gl htnlyw) wnGympniGGapp.
-

_
W, oUW
1+sc +4 o2

v
) l+sg=—Fmg—"
1+s%+g%

—
W, o IW
1+ST+9?

a
< 2 l+sg =
1+s%+g—ac‘£"

N 1+s%+g%

3) 1+s% =
1+s%+g%
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Oquuytiny (1.8- 29)-ny, (1.8-30)-ny L (1.8- 31)-ny mpywo wpwgnipjntGGtiph thol inwo wnGympjnGGtphg, dhlp

Juunwlwlp htnnbywy wnlynipjniGGtpp.
-

N

3) 1+sW +g— =

Erof)(o¥ o)
l+s=+0—= 1+s—+g—
1 1+31+9V_2= ( c ¢?

(1+s% +g%)2

2 148l gl (1+S%+gz_j>(l+s_+g_z>
+ST+g—2_
C

(1+s% +g%)2

2 2
_)2 (1+s%+g%>(l+s%+g%>

‘Liwlwwbu dhbp Yunwlwlp Gul htnlyw) wnGsnipyniGGtpn.

-

N

r

(R1-5)-ny, (X1-6)-ny L (X1-7)-n wpywd hujwuwpnudGtphg dhlp YunwGwip htunljuwy wolsnpynGp.

2
-0 )
l+sl+QV_2
1+Si+g_aw = #
¢ c? vd
S

VAP,
l+s& +9-5
1+s%+g£‘é":(l+sﬁ>—c c
c

T 0
1+sd 4 gl
ysl gt - — 7¢I
C c2 vd
1-0e
_ 14—s%+gﬁ—2
l+3%+g% = (1+S%>—WC2
1-0e

2
(1+s%+g%>(l+s%+g%) = 1+sﬂ+gl

‘Lliwlwybu <<l - 5) -ny, (41 - 6) -ny L (41 - 7) -n wmpywd hwyjwuwpndGbphg® Yunmwlwlp htnbyuw) welsnipynilp.
52
(1+s% +g%>(l+s% +g%) = (1+s%)<1+s— +g—>

Guuwlwlp Gl htmlyw) wnGsympnilp.

(1+s%+g%>(l+s%+g@) = (1+s%)<1+s—+g—2)

blyytu Gl junwlwlp htnlyw wnGsnipjniGp.

(1+s—+g£>(1+s@+g%) = (1+s%)(1+s%>(1+s—+g—2>

Puqiwyuwunltny hpwp htinn (41 - 5) -h pninp Gptip hwjwuwnpnuiGhpp, delp Junmwbwlp htnlyw) wolymnipyniGp.
V)’ AN v\ _ R If 2
(1+3T+g?) 1+ST+9? l—g— = 1+S—+g— 1+ST+9?

c2
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bpwp htin puqiuwyuwnytiny (1. 8- 32)-ny mpgwo pnnp Ytg wnlsmpymGGtpp b oqunytiny Gl (1. 8- 24)-ny mpjuo

wnlympjniGhg, juiwjuywb Vv, U L W ninhn L hwiwnhp hwpwpbpuywl wpwgnipyniGGtph hwdwp dtip funwGwlp
htimlyw) wnGympniGp.

(-o)o- o) 15 2) (10038 )o-0%) - (o) (-0 (o) v

bGyytu Gul Junwlwlp httmbyw) pip wnGsnipyntGGhpp.
-

(o-o) o) - L2 0
Ve
L (om)ootm) - Lr v
Ve
1—gﬂ 1—gm
\ (1-5%0)(1-572) - | : )g(m )

‘Llwlwybu junwlwlp htnlywy tpbp wnlynipyniGGLpp.

(-0%)(1-o%F) - (-0 ) (10T - 1-5F

c c?
(o) (1o - (o)1) - 1-oF

(-28) 1-o%2) - (- 2) 10 - 1-o82

(1.8-15)-ny npJwo hwytijuyhG winpunupddwl {wjjuuwl dluthnfunipjul hwjwuwpnidGhpp dkGp Yunpnn GGp qpbg
Gl yuiwjwyuli ¥(e,A) ninhn L hwwnhp $hghyuywb dEonipjul hwiwnp htnbyw) Yhpy.

! !
K 1 K phGtpghwy hwiwlwpgtnh shel K u K pGtpghwy hwiwywpgtph shol
5 -9 +R F-7+R 2116
&7 “ a- R

(1.8-25)-ny ipJwo <wjyuyub dLuthnfunipjwl hwjwuwpnidGbpp dkGp Yupnn GGp gpby Gl judwjuwuwi ¥(e,A)
bShahyuyub dkonipjul hwdwp, wpmwhwjnjwd mbnuijul hwpuwptpuwl wpwgnipjudp.

Minhn dLlwthnfumpyniGGtp Lwlyunupé dbwthnfunipyniGGtp
! - i —/
[ :74(77)[(“5%)5%%”\] ?D’Zh(v)[(“s%)@’ +9%A} 21417
-/ — - —/ !
A =r.(M(R-13) R-r (DR -47)
bul (1.10-29)-ny mpywd {wyjulub dLuwthnfunipjuwl hwjwuwpniGhpp dbGp Jupnn Glp GnyylGybu gpb) judwyjuyul
¥(p,A) Shghjulyub dtonipjul hwdwp, wpnwhwjnywd pugupdwl hwpwpbpujwl wpwgnipjwdp.
Minhn dLbwthnfunipynGGhp {wjununpd dbwthnfunipymGGtp
/ v, v, > v / v, >
¢ = |:A(Vp) + 5S¢ }E’ +g9¢A ¢ = |:A(Vp) -3S¢ }E’ -g—¢A 21-18
=
! !
R = [A(Vp) - %S% }K - %E’ A= [A(vp) + %s% }K + %a/
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«Qujuiul Lwpwpbpuwulnpjul UtpwGhjw»y-nid juplnp nipuyunwpnipyntG niGEG hbnbgwy Gpyn
wpunwhwjnnipniGGtpp, npnGp judwyjuywl VvV, U L W wpwgmpniGGiph hwdwp mpduo GG unnple.

] 1oV ] 1cU ] 1 W
v 1 L 1 L w 1 <1-19
g« +=S g_u+_s g+~ + =S

<<1 - 19) -ny mpywo tiptip qnijq wpmwhwjjnnipyniGGiph hwdwp dhlp Yupnn tp qptip yuplnp wnGynipjmGGtp, npnGp
utilip YyGtpywywgltilp unnplk wpwlg wwwgnigdwl L Yqptlp npulg vh dwup wnwlg Yytywmnph Gpwbh:

Guwiwjwwl ninpn L hwwnhp W mtnuiwl wpwgnipjuwl hwiwp wntnh niGe6 htnbyw wnGynpmniGGtpp.

r

—
1W
1+EST

=
w
1+ST

< <{1-20
W

1gW
1+ 4sW _ 1tss¢
2°C W
1+ST

alst

1
1+33

Liwbuwuyhu, K L K' hikpghw) hwdwlwpgbpmd judwjwlwl wpwenipjundp pwpdyny thnpdGulwb dwuGhyp
wlGpuppwyhl ninhn L hwwnhp wpugnipyniGGtph hwdwp mbinh nGk6 htnlyw weGsnipyntGGhpp.

-

- (1+ %s%)(1+ %s@) -(g- %sz)%
1+ 3s¢ = o
-0
< {1-21w
poaey L (r3st)(etsl) G4
+ —ST =
2 1_9@
L c
( v W W
paep . (r3sE)(1gsE) G4
+ EST =
< {1-21p
«
o (1 asE)(1r3s8) @4
1+ EST = 1 m
g 2
N
-
o (1+ %s%)(l+ %s%) (9 isz)vy
1+4s¥ -
1—gﬂ2
c
< <1-21q
W (1+ %s%)(1+ %s%)—(g—%sz)%
1+ EST = 1 E
g 2
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Quwytpwo 2 - GuGdwuwp Gunuthwpwuny Shghynubtiph Lwdwnp

Utip hwonnn «<Swylwlwl <wpwpbpuwlwlmpulG UlipwGhiw - Uhwswigh Cupdnidy hnnjuwonid dkGp unwgtl) Gip
pwqnud Gnp qupiwlwhpw) pwGwaélbp, npnlp Gepuwjwuglnid Gip wju hwybwontd wnwlg wpnwdiwb: UhwjG
hhptgltlp vtp pGptipgnnGtphG, np Giplujwgynn pwGwaltiph Loptlgjuwl hwpwpbpuwlwinpyuwl mbunipjub
hwiwpdtpltpp (bpt wyn hwiwpdbtplGtpp phwpyt gnynipyniG niGGG) nmp Jupnn tp vnwGwy dbp pwlwdlbiphg, npudg gty S
L g qnpowlhgltiph hwiwp pnmGtiny htnbywy wpdtpGhpp.
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¢ Ppwp Ghunndwdp hwmupbpaulpud pupddwl 0y qubyng Gplm unuppbn hGkpghwy hwdwlwpgbpnnd
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<

2. RPwguwpdwl wpuquignif

Yuidwjwljwl Jwpdynn thnpdGuliul dwuGhyh pugupdwly wpuqugniiGipn K L K’ mnpn U hwywnhp hGipghwg
hwdwluwpgbpny, hwiwdw)G (1.10- 9)-h L (1. 10— 10)-h, dtbp uwhdwby thGp htinlywy Yhpwy.

K nminhn L hwwnhp hGipghw hwiwlwpgbpnud K' ninhn L hwwnhp hGipghw) hwdwlwpgqbpnid
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¢  LPwgwpdwl wpwqugdwl punqunpfsGepp nighn hGepghwy hwdwlwpgbpmy (wnwehl puGudl)
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R ninhn hGpghw; hwdwljwpgnid

ES .
(@) --3
y<(w)(g W s) <
g, - p@)a-3,

7 @)(1+4s%)

!
R ninhn hGpghw; hwdwljupgnid

- 0
by 3(tb
= —y<<ﬁ)b =-7
7 (@)(o% +4s)
9 -
by —.3(\b =
=y (ﬁ)b = 34
r@(risd)

N

¢  Lwgwpdwl wpwqugdwl pununpfisGepp hwlpughp hGepghwy hwdwlwpgbpmy (wirnwehl puGuwdl)

K hwywnhp hitpghw] hwiwyuwngnud
52 :‘?’<C"T’>(gc +3 )
= p 7y<<w)(1+% ﬂ)

=4

!

K hwlunhp hGpghwy hwdwlwpgnid
0 d‘ﬁ
Bp: 7—y<(ﬁ)(gc + SB

b, = dﬁ"‘ 7y<(ﬁ)(1+—sﬂ>b

P

¢  LPwgwpdwl wpwqugdwl pungunpfisGepp hwlpughp hGepghwy hwdwlwpgbpmd (Bphpnpn puGudl)

K hwlwnhp hGtpghwy hwdiwywpgnid

<0
ap 3 <
& 7L <W> =T 54
7. (@)(o% + 4s)
2 ri(W)a -a,

!
K hwlwnhp hGbpghw) hwiwlwpgnu

- BE e 5
7<(U>(g%+%s> - 7<<ﬁ)5_
<
5
7<<ﬁ>(1+ %S%> *7<<ﬁ>b 752

&  wlhwnhp L mghny pugupdwl wmuqugdwl pYughl L mwpuowlwl pununphsGeph <wjpwlwl

wnlsnipniln
K hGtpghw hwdwlwpgnid

50 -2+ 3,
5, = R,

&  hunwppphp <wjqwiliwl pubGudl

K ninhn L hwjwnhp hGipghw hwiwwpgbpnid

K’ htpghw hwiwwpgniud
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b, =-b,

K’ minhn L hwywnhp hGkpghw; hwdwljupgbpntd

&, = AW, )34
‘51_. = A(W, )54

79 - 86

By = A(Uy)3,

—

bp = AUy )54

{2-12

{2-13

{2-14

{2-15

{2-16

22-17



© - Juwjjuwlul dwpwpbpwiwlnipjul Lwwnnty Stunipjnl - ©

¢ Pwgupdwl wpuwquigdwl pyuyhl pununphsGhph L mupuowlwd punungphsGaph <wylwlwl Jugp

K ninhn L hwwnhp hGipghw hwdwwpgbpnid K’ mnphn L hwywnhp hGpghw; hwdwljwpgtpntd
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«Quwjuyub» b Gonud unnphG «&» gnighyny, npwbugh dtp mwpptpuyblp npulip wjwlnuijuwl hwdwywnwuuwb
dtonipjmGGtphg:

—

!
® K i R mnhn hlGEpghwy hwdwlwpgbpmd <wylwlwl gnpongmipjuwl hlinbepuyn L Luwgmubdhwin

!

R ninhn hGipghw) hwiwlwnpgnid R nihn hGipghw; hwiwlwnpgnid
2 T ol o gt - L
b<=—moczj l+ST+g?dt bgf—moczj 1+ST+g?dt

T <~ T/l

N — =2 ! 2
- 2/ W oW 3 2} d d
ig_ MoC l+SC+gC2 £<=—m00 l+ST+g?

80 - 86

{2-18

{2-19

{2-20

L2-21

12-22



© - Uhwswth 9njtph {wpwpbpuyul Cwpddwl Stumpjnii - ©

!
e Ku Kk hwlwghp hGbpghuwy hwdwlwpgbpmd <wjhwlwl gnpongnipjwl hGmbopuyn L LwgnubGdhubn

K hwywnhp hGtpghw] hwiwyuwngnud

!
K hwyunhp hGpghwy hwiwlwpgnud

T,

E :—moczj 1+s—+g— dt

T =5

«— . 2
- z/ W W
L, =-meC 1+ST+9?

T,
<! } ] T° 5
& = —mpc? J' 1+ST+g?dt
.
< 2 T, 0
L; =-moC 1+ST+9?
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&  wyhwlwl mdh mwpuwowlwl pununphsGhph vwhidwlnidp mghn L hwluwnghp hGhpghwy hwdwlpupgbpmd

! !
K U K ninhn hGtpghwy hwiwlwpghpnud K U K hwyunhp htpghwy hwiwlwpqbpnud
7. 9 7o
LT T o7 < Iy
dat’ dt’ $2-35
p=—4
7 _ 9B ¢ _ g
*odt *dt

&  wjlwlwl mdh pyuyhl punugpisGeph vwhdwlndp nighy L hwlwnhn hpGepgwy hwdwlwpgbpnnd

_K), L R ninhn hGtpghw hwiwwpgbipnid ‘IZ, L R hwlwnhp hGpghw] hwiwywpgbpnid
0 E 0 E
?4 = %(g%) ‘f_a = %(g%)
dt dt {2-36
=
—0 E <0 E
7 A( _<> 0 _ i(g_<>
TN Todt\©

&  Jwyhwlwl mdh mwpuwowlwl punqunphsGhph pubGudlbpn mohy L hwlpunin pGepghwy hwdwlupgbpnnd

R’ 1 K minpn hGtpghw| hwiwlupgbpnud &' 1 K hwywnhp hbpghwy hwudwywpgtpnud
-/ — ! —
T =0~ +)moy3(T)b fo=-@-3Hmor¢(T)b <237
=
_f: = —(g- +s9)moy3 (W)@ ‘f_z = —(g- +sH)moyi(W)a

&  wjlwlpuld mdh pyughl punugpfsGeph pubudbbpn nighn L hwlwghp hGepghwy hwdwlwpgbpnd

! !
R L R nihn hGtpghw; hwiwwpgbpnid R L R hwlwnhp hGtpghw; hwdwwpqbtipnid
—/0 — -/ /0 — <!
fo - 0@~ +9med (1B - oL 7. fo=-o@-4omgr(Mb-o¥T, 2238
=
—0 v T 0 « —
fe=-0@-4Hmogri(W)d = g¢ f, fo=-0@-4Hmgri(W)a=-ggf,

¢  Swyhwhwl hupwpbpulwlmppul hunnml mbumpywl b wwhwywlymd b UynunnGh JhpwGhlugh
bphnpnpn oplilipp, bpl Uklp Uynunnbh nuuwlwl nidh hnfuwpbl oquuugnpoblp <wjhwlwl nidp, puuwlul
quiliqyuioh thnfuwunbl oqunugnnoblp <wyhwlwl qubqyuon L Jhpowwbu mbnulwl jwd Uynunnljuwl
wpwquglwl thnfuwpbl oquuugnpoblp <wylhwlwl wmuqugnidn.

—! -

!
K L K ninhn hGtpghw hwiwwpgbpnid R L R hwljwnhp hGipghw] hwiwwpgbpnid
7 1 2ymed 3 <’ 12\ g o
fo=-(@- 5s)mod, = myd, f,=-(@-5s)moa, = mya, <2-39
=
- «—
f,=—(g- 1)mod, = myd, f,=—(g- 1)moa, = mya,
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¢  wjhwhwl hwpwpbpulwlnippul humml mbunippuld dhe wwhwywlymd 66 Guil Uynunnbh dbpwGhlugh
wnwohl L Eppnpn oplilipGhpp.: <wylwlwl nidh dEompniln popnp mghy hGhpghwy hwdwlwpgbpnd ud
pomnp hwlpunhp pGepghuy hwdwlpupgbpnd wuwhwwlynof F, ol mghn L hwlughp hGEpghuy hudwlupgbph
dhol: SuylwljulG mdp hnfumd F dpuylG Grwlp:

‘UynunnGh dtpwGhywjh wnweohl optilipp ‘UynunnGh dtpwGhYwjh Gppnpn optiGpn
- -/ - -
fo=1, fo=-f, 22-40
— </ = ! -/
f ¢ = f 2 fg =—f Py
6. Pwgwpdwl nid
€ LPwgwnpdwl mdh vwmuowlpul pununphsGhph vwhdwlnidp nighy L hwlughp hGhpghuy
hwdwlwnpgbpnuf
! !
Kt K ninhn htpghw) hwiwlupgtpned K u K hwyunhp ptpghw) hwiwlupgtpnd
7l T P
P odr Podr $2-41
=
7, - P T, -
Podr Podr
€ LPwgwnpdwl mdh pywghl punungphsGaph vwhdwlnin
<0 / E
f, = f =9 = ( E)
L2-42
«0 —0
— _fo_d (9
fo=f,=f-3 2E)
& Unplbnyl hGEpghuwy hwdwlwpgbpnd wgnny L hwlwqnnn pugupdwl nidbph pyughl L mwpuowlw G
punugnphsGaph dhole mbgh mGEG hlwnlyuwy <wjwlwl welsnipniGGEpnp
K hGtpghw) hwdwlwpgnid K' htpghw] hwiwjwpgnud
«0 0 <0 S50
- - — — fo
p_fp_fg fp _fp =f {2-43
— - —0 < <! —!
- _ S = + 37
- (f+gf> F- (f $ )
& Lwgqupdwl mdh pyuyhl pugunpfisGeph <ujlpulw putGwdltpp K L K mgpg L hwlpughp pGepghuy
hwdwlwpgbpnd U junyp <wylwlwl nidh htn
K nminhn L hwwnhp hGipghw hwiwlwpgbpnud K' ninhn L hwwnhp hGipghw) hwdwlupgqbipnid
_,0 w -0 u U, 72
=-g(9- +5°)Mo—¢~ v, d =g T, fo =90~ $9mo—-8, = g, 22-44
=
(—0 W, < <0 u U, <
= —g(g - +s*)mo— Woa, - g f, =-0(g- +sH)mo—£a, = g,
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& Lwgupdwl mdh mupwowlwl pununpfsGeph <uglwlpud puGwdbepp K L K mghyg b hwlwnpp
Jbbpghwy hwdwlwpgbpnid L junyp <wylwlwl nidh hbn

K ninhn L hwwnhp hGipghw hwdwwpgbpnud K' mnhn L hwlunhp hGepghw) hwiwwpgbpnud
- -, SIRNE-S -/ -
f,=—-(g- 1ymey, (W)d, = y. (W) T, f,=-- 1ymey (W)d, = y. (W) T, 22-45
=
— «— ! —
fo=-@- 7)Moy, <W>§< =7 CV_\’) fe f,=-(0- +5)Moy (’U)5< =7 <U> f.

®  LPwgwnpdwl nidh pywghl pununphsGapp wpowhwpogwo pugupdwly nidh mwpuowluli

punuinpfisipny
K ninhn L hwlwnhp hGipghw; hwdwjwpgbipnid K’ mnhn W hwjwnhp hGipghw hwiwwpgbipnud
—0 T —0 a !
fo=0¢f, fo=ocf, $2-46
=
«0 W — 0 ﬁ )
f,=9¢f, f,=09¢f,

& [ phy pugupdwl nidh <wylwlwl puGudlp K mghny L hwlunhp pGbpghuy hwdwlunpgbpnid

-0\ 2 -0 — \ 2 — —2 5\ 2
(7) +stoToral,) - o1+ B o % )(7,)' - ot

) {2-47
«0 0 — \ 2 W &2 — \ 2
(fp> +S pprrg(fp) =g(l+sT+g%>(fp) = gf?
& [ppyf pugupdwl mdh <ughwlul puGwdbp K mgpy L hwlpugip pGepghuy hudwlpupgbpnns
S0\ 2 0/ 1\ 2 T ﬁz 5\ 2
(fp> +sfpfp+g<fp> :g<1+sT+g?>(fP> = gf?
, , {2-48
0 0l !\ 2 U ﬁz !
(fp> +sF, (T, ) - g(1+sT +g?><fp> ~ g2
& Ugnng puwgwpdwly mdh pyjughl L vupuwowlwl punugphsGhph nighn L hwlwnqunpd <wjulwl
dlunpnfumpul hujuuupnidGapn
Minhn dLwithnfumpniG {wjununpd dLwthnfunipyn G
—0 v, =0 v, -/ -0 V. =0 V. >
fp:[A(VP)*'%STP}fp"'ngfp fp :[A(VP)_%STP}fp_ngfp
<{2-49
=
! o ! 0
?p - |:A(VI-‘ - %S% i|_f’p - %?p ?p - |:A(VP) + %S% i|_f’p + %_f’p
&  wlhwgnny puwgunpdwl nidh pyughl L mwpuowlwlG punqugpfisGeph nighn L hwlwqupd <wjwlwlG
dlunpnfumpul hujuuupnidGapn
Minhn dLwithnfunpniG {wjunupd dbwthnfunipyn G
<0 v. <o V., <! <0 V. |0 V. <
fp:|:A(VP)+%STPi|fp+ngfp fp :[A(VP)_%STP}fp_ngfp
<2-50
=
! o ! 0
fp - |:A(VI-‘) - %S% i|?p - %?p ‘f_p = |:A(VP) + %S% i|‘f_p + %‘f_p
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Armenian Theory of Special Relativity

Robert Nazaryani+, Haik Nazaryanz

lyerevan State University, 1 Alek Manukyan Street, Yerevan 0025, Armenia
2California State University Northridge, 18111 Nordhoff Street, Northridge, CA 91330-8295

By using the principle of relativity (first postulate), together with new defined nature of the universal speed (our second postulate) and
homogeneity of time-space (our third postulate), we derive the most general transformation equations of relativity in one dimensional
space. According to our new second postulate, the universal (not limited) speed C in Armenian Theory of Special Relativity is not the
actual speed of light but it is the speed of time which is the same in all inertial systems. Our third postulate: the homogeneity of time-space
is necessary to furnish linear transformation equations. We also state that there is no need to postulate the isotropy of time-space. Our
article is the accumulation of all efforts from physicists to fix the Lorentz transformation equations and build correct and more general
transformation equations of relativity which obey the rules of logic and fundamental group laws without internal philosophical and physical
inconsistencies.

PACS: 03.30.+p, 04.20.Fy

On the basis of the previous works of different authors, 23451 a sense of hope was developed that it is possible to build
a general theory of Special Relativity without using light phenomena and its velocity as an invariant limited speed of nature.
The authors also explore the possibility to discard the postulate of isotropy time-space.4

In the last five decades, physicists gave special attention and made numerous attempts to construct a theory of Special
Relativity from more general considerations, using abstract and pure mathematical approaches rather than relying on so
called experimental facts. 6]

After many years of research we came to the conclusion that previous authors did not get satisfactory solutions and
they failed to build the most general transformation equations of Special Relativity even in one dimensional space, because
they did not properly define the universal invariant velocity and did not fully deploy the properties of anisotropic time-space.

However, it is our pleasure to inform the scientific community that we have succeeded to build a mathematically solid
theory which is an unambiguous generalization of Special Relativity in one dimensional space.

The principle of relativity is the core of the theory relativity and it requires that the inverse time-space transformations
between two inertial systems assume the same functional forms as the original (direct) transformations. The principle of
homogeneity of time-space is also necessary to furnish linear time-space transformations respect to time and space.235

There is also no need to use the principle of isotropy time-space, which is the key to our success.

To build the most general theory of Special Relativity in one physical dimension, we use the following three postulates:

1. All physical laws have the same mathematical functional forms in all inertial systems.
2. There exists a universal, not limited and invariant boundary speed ¢, which is the speed of time. 1)
3. In all inertial systems time and space are homogeneous (Special Relativity).

Besides the postulates (1), for simplicity purposes we also need to use the following initial conditions as well:

When t=t' =t"=.=0 @
Then origins of all inertial systems coincide each other, therefore x, = X5 = X3 =...=0
Because of the first and third postulates (1), time and space transformations between two inertial systems are linear:
Direct transformations Inverse transformations
t' = 1Vt + Ba(V)X and t= BV )t + B2(v)X (3)
X' = y1(V)X+ y2(W)t X = y1(V)X + y2(v)t!

In this letter we only introduce, without proof, our new results such as: Armenian transformation equations, Armenian
gamma functions, Armenian interval, Armenian Lagrangian function, Armenian energy and momentum formulas, Armenian
momentum formula for rest particle, Armenian dark energy formula, Armenian transformation equations for energy and
momentum, Armenian mass, acceleration and force formulas. All new physical quantities has Armenian subscript letter <.

* - To whom correspondence shoud be addressed. Email: robert@armeniantheory.com




Armenian Relativistic Kinematics

Using our postulates (1) with the initial conditions (2) and implementing them into the general form of transformation
equations (3), we finally get the most general transformation equations in one physical dimension, which we call - Armenian
transformation equations. Armenian transformation equations, contrary to the Lorentz transformation equations, has two
new constants (S and @) which characterize anisotropy and homogeneity of time-space. Lorentz transformation equations
and all other formulas can be obtained from the Armenian Theory of Special Relativity by substituting s=0 and g = -1.

Direct transformations Inverse transformations
! !
t = y<(v)[(1+ SEt+ gc—"zx] t= yé(v/)[(h— SVT)t/ + g#x’]
and
X =y, (V)(x-w) x=7,(V)X -Vt
Relations between reciprocal and direct relative velocities are:
V=V
v
1+ SE /
/ = (1+s%)(1+s%):1
V= _V—/
v
1+ ST

Armenian gamma functions for direct and reciprocal relative velocities, with Armenian subscript letter <, are:

7 W) = == >0
145V v2
+ SE + g?
= 7 Wy )= —4— >0
yoW)= —— >0 -9z
v v'2
l+se+ g?
Relations between reciprocal and direct Armenian gamma functions are:
7.(V) = y,((A+s¥) >0
also Y VWV ==y (v

7aW) = 7, 0)(1+s% ) > 0

Armenian invariant interval (we are using Armenian letter t ) has the following expression:
B2 = (ct')? + s(ct')x' + gx'2 = (ct)? + S(Ct)x+ g% > 0

Armenian formulas of time, length and mass changes in K and K' inertial systems are:
r e

t
t=7y.Wto = t'=y,(V)to = 0

to _—
R — > ! 12
/l+s%+g% 1+SVT+9\(I:_2
S QN N PRV and <= g 145 gV
7:(V) c? 7:(V) ¢

Mo

M= (Vo = = 7)o =

~ NS

Transformations formulas for velocities (addition and subtraction) and Armenian gamma functions are.

/ wu' /

u +v+ sV _ _ u-v
u=ue@v=——C u=uov 1rsY+gW
1-gW J c
C an
' N _ 1+sY ﬂ)
72 = 7,y W) (1- 0% 7o) =7y @(1+ s¥ + oY

Mo Mo
2 / 12

1+Sl+ A V Vv
} C gc2 l+s¢ +g—c2

4)

(®)

(6)

()

®)

)

(10)



If we in the K inertial system use the following notations for mirror reflection of time and space coordinates:

{ T - mirror reflection of time t
X

mirror reflection of space x

11)
Then the Armenian relation between reflected (T,X) and normal (t,x) time-space coordinates of the same event are
T =t++sx t= T+isx
¢ and ¢ (12)
X =-X X=-
The ranges of velocity w for the free moving particle, depending on the domains of time-space constants S and g, are:
g\s | s<0 | s=0 | s>0
g<o0 | O<w<w, | O<W<C/—% | O<w<wy (13)
g=>0 [ O<W<—%c [ O<w<omo | O<w<ow
Where w, is the fixed velocity value for g < 0, which equals to:

2
Wy = —%(%S-F [($9) —g)c >0
Table (13) shows that there exists four different and distinguished range of velocities w for free moving particle, which
are produced by different domains of time-space constants S and g as shown in the table below:
g<0, s=0 | g<0, s<0 s>0 | g=>0, s<0O | g=>0 s>0
O<W<C,—% | 0<w<w, | 0<w<—%c | O<w< o
Table (15) shows us that each distinct domains of (S, g) time-space constants corresponds to its own unique range of
velocities, so therefore we can suggest that each one of them represents one of the four fundamental forces of nature with
different flavours (depending on domains of s).
Armenian Relativistic Dynamics
Armenian formulas for acceleration transformations between K’ and K inertial systems are:
a = 1 a
3
yi(v)(1+ SE + g%)
(16)
a=——1 4
vu
Aw(r-o)

Armenian acceleration formula, which is invariant for given movement, we define as:

— 43 — 31\ a/
Armenian relativistic Lagrangian function for free moving particle with velocity w is:

7
2
£, (W) = — moc? /1+s%+g% (18)
Armenian relativistic energy and momentum formulas for free moving particle with velocity w are:
-
1+ LsW
E W) = 7, W)+ Fs¢)moc? = =t moc?
/1 +sg + g?
< (29)
w1 g€ + 38
p;(W) = -y, (W)(Q¢ + 5S)MC = - MmoC
N

2
W g W
1+sC +gc2

(14)

(15)



First approximation of the Armenian relativistic energy and momentum formulas (19) are:
E (W) = moc? — (g~ +8°)(3Mow?) = moc? + 5 m, w2
(20)
P (W) = —5SMoC — (g~ 45)(MoW) = —3SMoC + M, W
Where we denote m,, as the Armenian rest mass, which equals to:
m,=-(g-5)Mo 2 0 (21)

Armenian momentum formula for rest particle (w = 0), which is a very new and bizarre result, is:

From (22) we obtain Armenian dark energy and dark mass formulas, with Armenian subscript letter fu, and they are:

p2
__20 _ 1me2_ 12 _ 1l
E[u_ 2o = §5°MoC? = +5°Eo and m]u—gs Mo (23)

Armenian energy and momentum transformation equations (g # 0) are:

Direct transformations Inverse transformations

E! E B 1+sY¥ E_/< Y
9 7<(V)|:<9T<>_g%p<:| iT h(V)[( +Sc)<g ¢ >+gcp<} (24)
an
/ E E/
P, = y<(V)[(1+S%)p<+%<g%ﬂ ps = u(V)[l@Q—%(Q%)J

From (24) we get the following invariant Armenian relation:

E 2 E E/ 2 E/
() +o(0 Joe o) - (g%> ’ S<g%>p£ +o(p,)" - 9(a- 35 (mo? 9)

Armenian force components in K and K’ inertial systems are (see full article):

o_dr9 _~U o_ d (9 _ U
F<*E(FE<>*QFF< Fo= dt,(CE<)—ch<

and (26)
F:A(p>:ma F.o=9d(p)=m,a
<7 de\Pe 202 <7 de\Pe) T Meoe

From (26) it follows that Armenian force space components are also invariant:
!
F.= Fo=Mma, @7

As you can see (15), we are few steps away to construct a unified field theory, but the final stage of the construction will
come after we finish the Armenian Theory of Special Relativity in three dimensions. You can get our full article (in Armenian
language) via E-mail or from http://ia601609.us.archive.org/28/items/ArmenianTheoryOfSpecialRelativity/ARM_ODM.pdf.
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Subject: Zujwunuitth Zwwnniy Shunwlub Zknwugqnuinnipnibaibph Zhdtwpynipnit (22922)

21 Olunpyuph 2013p., Lnu Ubpkinu, UUL
Zungtih Uygupuytn Ukpub Ohwiywi,

Qnpsh (penipmiup phjunpnud £ hud, np jujbd bp putl) dwdwtwlh dh dwup b ubbnbd QEp npwunpnipiniup
wnwiuditwhwnntl] jupbnpnipinit niikignn hbnbyw hwihqudwputph Jpu:

@nn 2tq hwynh (hith, np wigpuh guph weoweht Yeumy Zuyqkipkpgh unbndws Lywiinwiht Ukpwthlwi
(1925p.) b ‘thpwljh unbndws Zupwpkpuut pJubinuyhtt dkpwthjui (1928p.) hwinhuugwt nkuwfjuu
dhqhuyh yupwuwh pgtpp: Uugl) E unwn 85 nwph b mkuwut $hqhljut wyjbu ny vh niphy nbkunipini sh
Jupnnugt] unbnst): Oquykiny nmbuwju $hqghjuynmd unbnddws wyny kpjupunb nunwplnipniihg

yuwnkhwwywown «phghlnubpp», npnug Swgnidp pwwn wyung k Ukq, (gphtt pugnid Yind ghnnwljut
wnbunipinitbpny, huswytu ophtiwyy. “String Theory”, “K Theory”, “Big Bang Theory” L wijj ...

Uohluwuphnid hits np Uh pub pun Junnig &how sk...

Stuwjutt $hqhjutt wmdpnne Uspuwuphnid b h dwubwynph Zwjwuwnwinid qniuynid E sowwn fjunpp

nvwnguluus Jhdwlnid b bpp Auwhwpp Juljuyh nt vwnnygp wknhg Yownpdyh suwn ndjup £ wuby:
Stuwljutt $hqhjut phwlnjuty E hwjuwnwptinipjut b prwdunph dh tnp pupuopowi:

Zupg E wnwowumd ph hisn™ b bu wyu pnpnpp wund, Jupstu ph ghnntpput htn manqulh uyg sniukgnn
twpuwpupnipjutp, b ny ph «ghiinipjut b nruuwynpnipjuty twpjpwpupnipyup: Munwuwip pun yupg
E, npnyhtinl ghnnipjut twhiwpupp hp jupnnmpnibubpp wbih own gnigunpnid £ «3<9U»-h dpgnudubph
ko pwil ph Zuyuwunwinid ghninipyut qupqugdut wuwwpbgnid:

Gu Likjwnpnuhl] twdwlny nhul) b mwuppbp twhpwpwpnipniabbph, tkpunjw) btwb Ep twwpupnipiut
lunutthti (23 HElnbdpbph 2012p.): Gu LiEnpntught bwdwljubpny nhdl) Bd bwb BEunpnuught
thnutnwipln niukgnn pnjnp 2wy $hghlnuubinht (100-hg wyty): Fuyg, tdniph hwdwp, tpuighg gnuk Uk,
nuwn hnpjwésh pndwinulnipjul, swpdwquipkg: Inubk Uklp swuwg, np Ukp unbindwsé tnp wnkunipjniup
upuw] E jud hhdwpnipnit £ b jud B swuwg dh npbk wjjb put: Pugupdujuytu ny Uh wpdwuquip... Uw
(pnipjudp uywknt wkpuninghw L, npp oguuuugnpsyty k dbp tjundwdp sun Junnig b wydd b
oquuuugnpdynid k: Ukp hnpdwép mywgpdwt hwdwp niqnupljightp il AJP (Armenian Journal of Physics):
Ulght E Epynt wdhu b ny Uh yuwnwupwi: Fugunnipinit L juqunud dhuyt Uthyninph btwjuwpwpnipinip,
npp wpdwquipkg kg, pug sgutljuguy oquk], npnyhtinl nunwynid k «Uppnip Mnnnujui»-h
hhjuwunmpjudp b dktup nupdwp wyn hpuhdwljh puynipjut tnpuwqp:

buyn”1 b bu nhinid Zuywunwih Uyywpugbnhb:

UUL-h wuonyuwinipjut twhiwpupmpjut hnduunt ukppn gnpénid k «FUNNU» gnpswljunipiniup, nph
tyuwwnuli k. «Uyuwhnyt] UUL-h nwquuljut mbkpuhughnwlwb ghipuljuynipiniip b juijuby
nbpthjughnuljub whwluyuwubpp, npntp Jupnn bu Juwuk] UUU-h wqqujhtt widunubgnipiubp:
TUNNU-t hnqubwynpnid £ pninp hinuihnhiwljubt pupdpupdtp hbnwgnunnipinitutpp, npnup jiudpebu
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hbquopouwdp  tnp mbuwljwl quuthwpibph dwpdiugniiny: $hqhljugh vke nu hwinhuwbwn  dbp
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Uohwuphnid b Zwjwuwnwip tinphg nuntwnt £ &pgphwn ghinnipiniuubph qupgqugdwt YEuwnpnt nt Uppuwphp
ghntwlwutbph hwdwp ntjunwntnh:
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wouwwinnipniup wdpnnonipjudp, h thwnu dkp Upnpphutph 8tnh b Upnpphutph Uppuqut Zugptuhp
Zujuwunwith: Zuyng ghinuuwywinipjut 100 wdjulh juywlgnipjudp npu §ihth dkp wdktwwqntghly
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unbndwé «Zuyljuljut Skunipniu»-p b Jbkpe:

Zunpghh Vwhiwquh, «Uhwswth @njtiph Zwpwpbpuljut Cupddwb Skunipinit - Uquwn Cupdnid» hnpdusp
hwiunhuwind £ dbp hhdtwpup «2ugjuljut Skunipinty wpppumnmpjut vhuyb Uk Eipwpwdhup: Uju
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Cunphwynpnud Gup 2kq b pnjnpht Zwyng Uppwniup tnp wnwpht,
Cunphwynpnid kup Qtq b pnjnpht Zuyjujut putwlh juquuynpdwi 21 wdjulh juyulgnipjudp
Cunphwynpnud Gup 2bq b pninphtt Upgwihyjut gnjudwpnh 25 wdjulh juywlgnipjudp:

Ukggt  Upnpphubkph Zugpkihp Zwjuwuwnwip

Mnplpn LVuqupjub
robert@armeniantheory.com

2wyl Luquput
haik@nazaryan.com




|l1hggh' Juyuiwl 9humpjwul t[hpulb(im(iqn|

<ppupdwl G-punnuilGtph <wdwp




|l1hggh' UpnpphGbph {wyptGhp 4u1ju1u1nu1ﬁ|3|

<ppupdwl G-punnuilGtph <wdwp




U

«L2G6GwnuunnipyntGGtphg fjuntuwthtint Yhw)G vty dwlwuywph Ju.
swlby nghGy,
swubip  ngh(sy,
L 1hGtp nghGy:»

Unppumnmnly

Puyg vtilp nibGtgwlp pwjwywl UphnipjniG dswpunwhpwytp Ghnbine «RwpdjuGaph6»
L wwywgnigtynt Gpulg dtp UpnpnhGutinh ginh qipwlwynipynilp:

«Pnnp GpdwpunnipyniGGtph pyniinuip whglnd L hbnlyw) ptip thnytpny:
Unwohl thny® wpdwGwlnd b hunipnhwmp dSwnpwdph,

Gpypnpn thm® hwnhwynid © dnjtqhG pGnnhdmpjwd,
Gppnpy thinyg' wyG plGnmGynud £ npuybu hpGpunhGpyw6 wyGhwjm thwuwm:»

Uppmp Cnwybilihwmbp, Q-bpdwlugh hdwumuubp, 1788-1860

{wipquipdwG plGptingnn, n°p thnymd Gp Qnip wjdd quGynud:

ISBN 978-1-4675-6080-1
Juwjuwiul dbpwolniln {pwwmwpulnipjnil
http://www.armeniantheory.com



Utilip Kwjwwmnmy Glp

Utilip hwywwumm tlp, np wlqud vty hngjwon
Junnn k Juwjoh nbip juunwnt L pngujunt; <wyng ghunipjwl 9whn:
Uju hnnwop L dbip Ynnihg wuwwmpwuumynn dyniuw hnnpuoGtipp
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